F. No. 14-5/2022-IS-5 Government of India Ministry of Education Department of School Education and Literacy

Shastri Bhawan, New Delhi, Dated: - 17th April, 2023

Subject: Samagra Shiksha- Meeting of the Project Approval Board(PAB) held on 24th February, 2023- Circulation of Minutes in respect of State of Karnataka.

The meeting of the PAB of Samagra Shiksha was held under the chairpersonship of Secretary (SE&L) on 24th February, 2023 to consider the Annual work Plan & Budget (AWP&B) 2023-24 in respect of State of Karnataka.

2. A copy of the PAB minutes approving the AWP&B, 2023-24 for State of Karnataka under Samagra Shiksha is enclosed.

(Rajesh Kumar Maurya) Under Secretary to the Govt. of India

To,

- 1. Secretary, Ministry of Women & Child Development
- 2. Secretary, Ministry of Labour & Employment
- 3. Secretary, Ministry of Social Justice & Empowerment
- 4. Secretary, Ministry of Tribal Affairs
- 5. Secretary, Department of Drinking Water & Sanitation, Ministry of Jal Shakti
- 6. Secretary, Ministry of Minority Affairs.
- Secretary, Department of Empowerment of persons with Disabilities, Ministry of Social Justice & Empowerment
- 8. Adviser (Education), Niti Aayog.
- 9. Director, NCERT
- 10. Vice Chancellor, NIEPA.
- 11. The Chairperson, NCTE, Hans Bhawan, Wing II, I Bahadur Shah Zafar Marg, New Delhi 110002.
- 12. Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 13. Member Secretary, NCPCR, 5th floor, Chanderlok Building, Janpath, New Delhi 110001
- 14. PPS to Secretary, Department of School Education & Literacy
- 15. PS to AS(Inst.), Department of School Education & Literacy
- 16. PS to JS (AE & Coord.), Department of School Education & Literacy

17. PS to JS(SS-ll), DoSEL, Department of School Education & Literacy 18. PS to JS & FA DoSEL, Department of School Education & Literacy 19. PS to EA (SE&L), Department of School Education & Literacy 20. PS to JS (EE-1), Department of School Education & Literacy 21. PS to DDG (Statistics), Department of School Education & Literacy 22. Secretary (Education), State of Karnataka. 23. State Project Director, State of Karnataka.

Copy to:

All divisional Heads of SS Bureau I & II and AE & Coord. i.

All Under Secretaries of SS Bureau I & II and AE & Coord ii.

TSG, EdCIL. iii.

NIC- with a request to upload minutes on Portal. iv.

UM

(Rajesh Kumar Maurya) Under Secretary to the Govt. of India



Government of India Ministry of Education Department of School Education and Literacy

SAMAGRA SHIKSHA

(An Integrated Scheme for School Education)

Minutes of the meeting of the Project Approval Board held on 24th February, 2023through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2023-24 of Samagra Shiksha for the State of Karnataka.

S. No.	Content	Page
1	Introduction	Number
1 I		4 4
2	Section I: State specific initiatives, Review of Performance & Issues Initiatives of the State	
3		4-5
3	Review of Commitments and Expected Outcomes & Action Taken during 2022-23	5-10
4	Review of performance during 2022-23	10-11
5	Appraisal issues/ Commitments for 2023-24	11-13
II	Section II: Financial Estimation	13-15
6	Total Estimated Budget (2023-24)	13
7	Actual Releases by GOI during 2023-24	14
8	Spill Over 2022-23	15
9	Costing Sheet 2023-24	15
	Annexure	16-149
Ι	List of Participants	16
II	Spill Over 2022-23	17-23
III	Costing Sheet 2023-24	24-79
IV	Schools approved under ECCE	80-97
A	List of additional schools approved under ECCE	80-83
В	List of schools approved under ECCE	84-97
V	Schools approved under Innovation	98-101
A	List of 54 schools approved for mini science centre under innovation	98-100
В	List of 2 Hub schools approved under innovation	101
VI	List of 97 CWSN Toilets	102-105
VII	List of 3 Elementary Schools approved for Rain Water Harvesting	106
VIII	KGBVs	107-111
A	KGBVs Type-I (Schools approved for incinerators)	107
В	KGBVs Type-III (Schools approved for incinerators)	108
C	KGBVs Type-IV (Schools approved for incinerators)	109-111
IX	List of Schools approved for upgradation for Secondary Schools	112
X	List of Schools approved for upgradation for Higher Secondary	113
	Schools	
XI	Vocational Education: List of schools approved for introduction of	114-119
	Vocational Education at secondary and higher secondary	
XII	List of 125 Schools approved for Incinerator Machines under Special	120-127
VIII	projects for Equity	120 122
XIII	List of 100 Schools for Virtual classrooms under Innovative activities	128-133

INDEX

S. No.	Content	Page Number
XIV	List of school surrender of Infrastructure- Secondary	134-142
XV	List of 106 schools under SRISHTI for ATL Labs	143-148
XVI	Netaji Subhash Chandra Bose AvasiyaVidyalaya	149

The soft copy of the minutes including annexures may be accessed on the MoE website at <u>www.education.gov.in</u>

1. Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2023-24 for SAMAGRA SHIKSHA for the State of Karnataka was held on 24.02.2023 through Video Conference. The list of participants who attended the meeting is at **Annexure-I**

Section: I - State specific initiatives, Review of Performance & Issues

2. Shri Sanjay Kumar Singh, Secretary (SE&L) invited Karnataka to give a presentation on School Education in the State. Shri Ritesh Kumar Singh, Principal Secretary, Department of School Education and Literacy, Karnataka gave a presentation which included the following major points:

2.1 Action taken for tackling the learning loss of children during Covid 19:

- a) KalikaChetarike- A learning Recovery Programme, taken under umbrella program.
- **b) Approach** To address the learning loss, the state has taken the pro-active step of declaring 2022-23 as a learning recovery year and launched the KalikaChetarike Programme. The approach to the learning recovery programme is ensuring learning in the areas of Foundational Literacy and Numeracy, attainment of identified essential grade specific subject-wise learning outcomes and emphasis on the socio-emotional wellbeing of the students. Focus to lighten the content load without compromising on the core learning outcomes through specific learning programs was the key to successful implementation. This spiral approach to learning was ensured through a re-configured syllabus and a structured learning plan.
- c) Implementation- Provision of ample time for the teachers to engage their students in joyful and interesting activities that heralded concept learning by doing and concretized the learning through practice. Grade-wise and subject-wise learning sheets were designed in such a way as to provide flexibility for both practice and assessments. The learning sheets were made interesting and interactive to engage children in active learning. The teachers were trained to provide maximum learning opportunities and learning time to students, to link the LO based activities to textbooks, handle children at different learning levels, teach student groups at the Right Level, effectively use Teacher Handbooks and Student Learning sheets, and conduct assessments.
- d) Impact of the Programme- Training combined with accountability, feedback, and monitoring mechanisms, reinforced implementation and interactive classrooms. Class observations and supervision visits clearly emphasis the fact that children have definitely shown interest to learn with improved learning levels and teachers have realized that activity based learning is surely the best approach to attainment of learning outcomes. This has led to a massive support to activity/play/story/art/toy based pedagogies from teachers and parents.
- e) Cluster sharing meetings- Strategic cluster sharing meetings designed and planned to handhold teachers and ensure immediate clarification of doubts on teaching pedagogies and implementation procedures has been instrumental for the success of the programme. This has helped boost teacher morale and share best practices.

- **2.2 KalikaHabba** Various interventions to strengthen the programme have been initiated to achieve the cognitive goals of the system. KalikaHabba which is planned at the cluster/block/district levels is a learning festival which paved way for students to showcase their learning competencies, exhibit their curricular and co-curricular talents, interact with parents and community to express the learning opportunities they are being provided with in school and orient parents on their role in their child's learning. The students were also able to learn a lot from each other.
- **2.3 Midline assessment of learning program** A midline assessment survey to understand the implementation of 'KalikaChetarike' programme till now and to know the learning of children achieved till October 2022 was conducted on 28th and 29th December 2022. It was conducted in 692 primary schools for about 78,000 children and in 330 high schools for about 50,000 children, a total of about 1.25 lakh children in the State of Karnataka. The assessment was conducted for all the subjects, grade-wise with the support of 3,400 teachers across 34 districts and 204 blocks. The report documents the process and findings of the KalikaChetarike Midline Assessment Survey.

2.4 Vidyapravesh as a multi-level module for classes 1, 2 and 3

The 90 days school readiness module 'VIDYAPRAVESH' has been adapted by the state with daywise timetable for classes 1, 2 and 3 since children of classes 2 and 3 also had no exposure to classroom transactions. Activity prototypes to support multilevel transaction was designed and administered to all the children for 3 months. Teacher Handbooks to guide teachers transact the module and student worksheets to facilitate literacy awareness and pre-number concepts were provided. A robust monitoring and mentoring mechanism was devised for effective implementation of the program. All FLN teachers were trained in a cascading model to transact effectively in classrooms.

3. Review of Commitments and Expected Outcomes & Action Taken during 2022-23

Secretary (SE&L) during the meeting made the observation as under:

- The Secretary (SE&L) appreciated the innovation and other activities undertaken by the State as recommended in NEP e.g. especially Competency based Learning and Assessment, self-assessment of teachers and the plan for skill based education at Secondary/Sr. Secondary levels to reduce drop-out rate.
- He made some observation on low expenditures in ECCE, Annual Grants, community mobilization, civil infrastructure and ICT interventions. He also said that the MMER is the untied fund which is easiest fund to spend but less spending in MMER needs to be checked.
- He also advised the State to collect the data from other departments where the children are taking admission after completing Grade- X, which will improve the GER & NER at higher secondary level.
- The subject PTR is also a matter of concern as this will affect the quality of education at secondary and higher secondary level.

- The students getting admission under 12(1)c is very minimal. The State needs to take up a study where these children are going after completing grade VII. The report may be shared with GoI in next PAB meeting.
- DIKSHA needs to be revisited and the State may provide their feedback to improve the usability of DIKSHA.

Principal Secretary (Education), Karnataka State said that

- The expenditure against the central release is 100%. The State always provides its share on time for Samagra Siksha; therefore the central release needs to be on time to do the 100% expenditure in Samagra Siksha.
- 15,000 teachers will be recruited in current financial year which will improve the subject PTR at Upper Primary and Secondary level.
- He also brought to the notice of the chair that KGBV infrastructure needs to be replaced as many of those are Covid Centers during the pandemic. The bedding and other useable items needs to be replaced to give KGBV more attraction to the children.

Joint Secretary (SE&L) Mr. Vipin Kumar made the observation that

- Last point of expenditure needs to be mapped with PFMS as per the instruction of Finance Ministry.
- Data/Information needs to be collected by the State for calculation of average year of schooling in HDI.

DDG Statistics put his observation that

• The OoSC data needs to be reconciled as the reported figures are not aligned with the educational indicators.

State Project Director, Karnataka said that

• The State is having its own child tracking system (SAT) and the Hon'ble High Court is very vigilant and as per the direction of Hon'ble High Court, the State is submitting report in every three months to the court. Identification and mainstreaming of OoSC is a continuous process in the State.

Director Finance (MoE) stated that

• The State is having huge unspent balance which needs to be reduced to get more money from GoI.

The progress made in implementing the commitments and expected outcomes given by the State in 2022-23 was reviewed and the status in respect of pending items is as under:-

	Subject	Action taken
1.	Pending Works in Non- recurring / Spill Over: The details of pending non-recurring interventions under different components are as detailed in the table below. State was asked to ensure that the in-progress works are completed on priority in the financial year.	Surrender of 140 Secondary Strengthening civil works sanctioned during 2016-17 approved amount of Rs 87.55Crores, during PAB of 2023-24.
2.	High Dropout Rate: Though the dropout rate at the secondary level has improved from 16.8 in 2019-20 to 16.6 in 2020-21, State needs to continue taking adequate measures to reduce the dropout rate and improve the retention rate.	Under the Vidya Vikasa Yojana, the primary school universalization of 6 to 14 years old children who are out of school-children who sell dolls and flowers at traffic signals, abandoned children, street children, orphans etc. with a view to bringing them into the school mainstream for admission to primary 1 st to 8 th standard. Enrolment in school without obtaining any documents (parents, guardians, birth certificate, and other detailed documents) on Aadhaar. And children's learning is emphasized through remedial teaching and supplementary teaching by enrolling them in classes according to their age After enrolling the children in school under VidyaVikasYojana of Compulsory Primary Education, all necessary steps are being taken to bring them into the mainstream by providing them with free text book, uniform, mid-day meal, distribution of shoes and socks and all the privileges provided under the rules under RTE and other incentive schemes. The State is also preparing up gradation. All Deputy Directors (Administration) and Deputy Directors (Development) of the State and Taluk Level Officers and Field Education Officers are directed to ensure full enrolment and continued attendance of students in government, aided and unaided schools to ensure full enrolment and continuation of
3.	Decline in Transition Rate: As per UDISE+, transition from Secondary to Higher Secondary level has declined from 65.7 (Boys) and 74.7 (Girls) in 2019- 20 to 64.9 (Boys) and 72.0 (Girls) in 2020-21. State needs to take steps to improve the transition rate from the elementary to secondary level.	attendance. State has taken steps to improve the transition rate from the elementary to secondary level. The decline transition rate is 98.4
4.	SurplusTeachersatElementary level:There are still9,544SurplusTeachersat	In the current year, the process of proper re-adjustment of additional teachers is underway in accordance with the enrolment of the children in the primary school. There are a

	Subject	Action taken					
	Elementary Level, while the number of single teacher schools has increased at both the primary and upper primary level. The number of schools with adverse PTR is also quite high at 31.7% and 24.2% at the primary and upper primary level. State needs to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.	total of 187817 sanctioned posts in government primary schools and 139386 are working against this, 7730 working teachers considered as excess teachers. The process of Rationalization of the said 7730 teachers against the posts required as per P.T.R is underway. At present there are 141 Single teachers schools. Compared to the previous year, the number is less. The shortfall has been addressed by taking additional readjustment Rationlization measures so that the learning of children in any school is not hampered.					
5.	Subject PTR at Secondary level: There 73.4% secondary schools are having teachers for all core subjects. Subject PTR at the secondary level is 86 for Mathematics, 89 for Science and 88 for Social Studies which is very comfortable PTR, State need to ensure redeploy required number of mathematics, Science and Social Studies teachers in all schools at the secondary level.	 made provision to rationalize teachers every alternative academic year. Teachers Rationalisation and transfer is in the progress as per the transfer Act 2020 and will be completed considering the geographical location and students enrolment 					
6.	Teacher vacancy at Elementary level: There are 23,881 vacant posts of teachers in Govt,	The recruitment process of 15000 primary school teachers is underway in the current year to enable them to teach classes 6-8 against 23881 vacancies. Steps have been taken to					
	Elementary schools, that would need to be filled on priority.	address the shortage of teachers by recruiting guest teachers against the remaining vacancies.					
7.	need to be filled on priority.Implementation of Section 12:State is yet to identify privateschools which have received	address the shortage of teachers by recruiting guest teachers against the remaining vacancies. RTE Schools list of Private unaided schools where school is already under obligation to provide free education to specified number of children under RTR Act 2009 section					
7.	need to be filled on priority. Implementation of Section 12: State is yet to identify private schools which have received land, grant or any other support from Govt, at any point of time. Hence, it is requested to ensure	address the shortage of teachers by recruiting guest teachers against the remaining vacancies.RTE Schools list of Private unaided schools where school is already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2)SIName of the SchoolNoDise Code					
7.	need to be filled on priority. Implementation of Section 12: State is yet to identify private schools which have received land, grant or any other support from Govt, at any point of time.	address the shortage of teachers by recruiting guest teachers against the remaining vacancies.RTE Schools list of Private unaided schools where school is already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2)SIName of the SchoolDise Code					
7.	need to be filled on priority. Implementation of Section 12: State is yet to identify private schools which have received land, grant or any other support from Govt, at any point of time. Hence, it is requested to ensure that such private schools which are under obligation to provide free education to children of Disadvantaged Groups and Weaker Sections are not reimbursed as per proviso to	address the shortage of teachers by recruiting guest teachers against the remaining vacancies.RTE Schools list of Private unaided schools where school is already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2)SIName of the SchoolDise CodeNo1Thomas memorial School, Nelamangala Taluk, Bangaluru					
7.	need to be filled on priority.Implementation of Section 12:State is yet to identify privateschools which have receivedland, grant or any other supportfrom Govt, at any point of time.Hence, it is requested to ensurethat such private schools whichare under obligation to providefree education to children ofDisadvantagedGroupsandWeakerSectionsarenot	address the shortage of teachers by recruiting guest teacher against the remaining vacancies. RTE Schools list of Private unaided schools where school i already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2) SI Name of the School Dise Code 1 Thomas memorial School, Nelamangala Taluk, Bangaluru Rural Dist. 29210120817 2 M. K. AnadAlwar HPS 29220706905 3 Sri 29220803304 VenkateshwaraVidyaniketana HPS Holalumandya North Taluk. 29220803304					
7.	need to be filled on priority.Implementation of Section 12:State is yet to identify privateschools which have receivedland, grant or any other supportfrom Govt, at any point of time.Hence, it is requested to ensurethat such private schools whichare under obligation to providefree education to children ofDisadvantagedGroups andWeakerSections are notreimbursed as per proviso tosection 12(2) of the RTE Act2009.Out of School Children:State has notproposed, thoughidentified, coverage of childrenaffected with seasonal migration.State has not identified Drop outs	address the shortage of teachers by recruiting guest teacher against the remaining vacancies. RTE Schools list of Private unaided schools where school i already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2) SI Name of the School Dise Code 1 Thomas memorial School, Nelamangala Taluk, Bangaluru Rural Dist. 29210120817 2 M. K. AnadAlwar HPS 29220706905 3 Sri 29220803304 VenkateshwaraVidyaniketana HPS Holalumandya North Taluk. MandyaDist 29220803304					
	need to be filled on priority.Implementation of Section 12:State is yet to identify privateschools which have receivedland, grant or any other supportfrom Govt, at any point of time.Hence, it is requested to ensurethat such private schools whichare under obligation to providefree education to children ofDisadvantagedGroupsandWeakerSectionsare notreimbursed as per proviso tosection 12(2) of the RTE Act2009.Out of School Children:Statehas notproposed, thoughidentified, coverage of childrenaffected with seasonal migration.	address the shortage of teachers by recruiting guest teacher against the remaining vacancies. RTE Schools list of Private unaided schools where school is already under obligation to provide free education to specified number of children under RTR Act 2009 section 12(2) SI Name of the School Dise Code 1 Thomas memorial School, Nelamangala Taluk, Bangaluru Rural Dist. 29210120817 2 M. K. AnadAlwar HPS 29220706905 3 Sri 29220803304 VenkateshwaraVidyaniketana HPS Holalumandya North Taluk. MandyaDist 29220803304 As there were no proposal from the districts for 16 to 19 agroup we have not recommended for NIOS / SIOS					

	Subject	Action taken								
	KGBVs, 979 seats under Type I,	and they	1.0.00	Enrol	nt		Enrol	nt		
	20 seats under Type III and 1700	2021-	Kgb	ment			ment			
	seats vacant in functional KGBVs	22	v1	8300	7245	1055	8050	7480	235	
	under Type IV.	2021-	Kgb							
		22	v3	300	280	20	300	277	3	
		2021- 22	Kgb v4	7400	5260	2140	7200	5745	485	
	the state of the s		-						lled durin	
	The second second second second second	Per Prove			Jnder K					
								ies effor	t has bee	
	the second second second second second	-			the depo			ies enor	t has bee.	
	the second second second second second	• 74						vne-1)	residentia	
							enrolm		target o	
				-			emonn	ent	target t	
	and the second	80			69 sch					
					-			cies effor	rt has bee	
					y the de					
		• 27	7 Gir	ls stude	ents are	enroll	ed in th	he KGBV	/ (Type-3	
		res	sidenti	ial scho	ols agai	inst the	total en	nrolmen	t target o	
	Shine was a start of the second start	30	0(92.3	33%) in	5 schoo	ls.				
			>	Out of 2	140 vad	ancies	485have	e been fi	lled durin	
		1.11		2022-23	3 Under	KGBV()	(vpe-4)			
		Fo						t has bee	en taken b	
	Salaria (Section and Section)			rtment.						
	Call 7 of a Strategic state		-			enrolled	in KGB	V (Type	-4) hostel	
	a factor of the back of the back of							00.(79.7		
	and the second second second second second	-						-	or creatin	
				1 - 1 - 1 - C - C - C - C - C - C - C -					for fillin	
	Lunce of the state of the								101 mm	
							-1,3&4			
	and the second s					proposal	for Up	gradati	on for th	
	a fear and a second second second			023-24						
		• Sta	ate iss	ues the	Circula	r Dated	1 11-	05-2022	regardin	
	the second democratic second second	uti	ilizing	the fac	ilities o	f KGBV	schools	ols in the interest o		
		gir	ls who	o are in	need as	per juve	enile Jus	tice Act	2015.	
	the second s									
10.	Inclusive Education :Out of a	• Ap	p bas	ed Surv	ey will l	be cond	ucted to	identify	the neve	
	total number of 1,18,56,736	en	rolled	and dro	pout CV	VSN stu	dents in	the stat	e.	
	students,the number of Children				-				ed to us	
	with disability (CwD) is								IET,NCER	
	98,371i.e., less than 1% Further,	1.			•				g in prope	
	out of a total number of 76,905									
	schools, the total number of						and the second sec	gorize u	nem unde	
	schools with CwD is 33,657 i.e.,				s per RI					
	44% and of these the number of schools with >10 CwD is 907								apped t	
	(1%) while the number of				-				activities.	
	schools wisth<10 CwD is 32,750	• Ba	ised o	n the a	availabil	ity of l	oarrier	free ele	ments lik	
	(43%). State is requested to take	lev	veled	ground,	Ramps	, Railin	gs and	Disable	ed friendl	
	concerted efforts to ensure timely				-		-		facilities i	
	identification for wider coverage								pport from	
	and requisite interventions and								plete th	
	support.	, 00	inci u	eparan	15 15	uiso	until	to con	ipiete di	
		1					1.4			

mar

	Subject	Action taken						
aun - da		 requirements. Needy students will be provided Aids and Appliand through SSK/ under convergence/ support from donor and CSR Ensuring maximum utilization of School readines centres, deserving students will be provided with stipend/ escort allowance/ transport allowance/ reader allowance. 						
11.	Vacancy of Academic positions in	TEIs:						
(i)	Vacancy of academic positions in TEIs: is 25.9% with 556 faculties in position as against a total sanctioned post of 750. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators #2.1.12	Vacancy of academic positions in 30 Functional DIETs 25.970 with 556 faculties in position as against a to sanctioned post off 50. These vacant posts need to be filled on priority as it is also directly impacting PGI indicate 2.1.12						
		No	Sanction ed Posts	Working Strength	Vacant Posts	Percentage of Vacancy		
	a statistic sound for	01	682	547	135	19.79		
(ii)	Vacancy of academic positions in SCERT: is 46.5% with only 24	682 sa	anctioned per posts will b	osts. Percent be filled up du	age of Vaca uring the ne	f is working again incy is 19.79%. T <u>xt transfer season</u> ollowing table, ma		
	faculties in position. These vacant posts need to be filled up on priority as it is also directly	No	Sanction ed Posts	Working Strength	Vacant Posts	Percentag e of Vacancy		
	impacting PGI indicators #2.1.12.	01	27	27	0	0.00		
	n 1215 1973 is cardina tableter instruction			table, 27 aca ts. Percentag		f is working again y is 0.00%.		

4. <u>Review of performance during 2022-23</u>:

State had secured a score of 862 in Performance Grading Index (PGI) and was placed in Grade II. The Domain-wise Gaps in 2020-21 as compared to 2019-20, 2018-19 and 2017-18 are shown below:

Year		Categ	Category 2	Total		
	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2017-18	160	69	100	212	165	706
GAP	20	11	50	18	195	294
2018-19	160	75	81	199	240	755
GAP	20	5	69	31	120	245

Year	Research States	Categ	Category 2	Total		
	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2019-20	160	72	96	206	279	813
GAP	20	8	54	24	81	187
2020-21	160	76	123	211	292	862
GAP	20	4	27	19	68	138

State was requested to examine its score in each domain and take measures to improve its overall PGI score.

- a) Learning Outcomes and Quality (C-1, D-1): State still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): State has shown improvement under this and needs to focus on the Adjusted Net Enrolment Rate (ANER) at Secondary level and take steps for identifying Outof-school-children and their mainstreaming. The pre-primary enrolment which is declined from previous year needs special attention to improve the access outcome.
- c) Infrastructure & Facilities (C-1, D-3): State has shown maximum improvement under this and was encouraged to further take measures to reach the top grade, with specific focus on areas where the performance is low.
- d) Equity Outcomes (C-1, D-4): State has shown substantial improvement under this with increase in the gross enrolment ratio of CwSN and % of entitled CwSN receiving aids and appliances.
- e) Governance Processes (C-2, D-1): State needs to focus on % Upper Primary schools meeting norms of subject-teacher as per RTE, f Govt. Schools at Elementary level Covered Under Twinning/ Partnership and BRC/CRC visit during previous academic year.
- 5. Appraisal issues/ Commitments for 2023-24
- **O** Pending Works in Non-recurring/Spill Over: The year-wise details of pending non-recurring interventions under different components are as detailed in the table below. *State was asked to ensure that the in-progress works are completed on priority in this financial year.*

Status of physical pro	gress of pending	g Civil works (A	s on 14.03.202	3)
Item of Construction	Sanctioned	In-progress	Completed	Not started
Server and the server server and the	Elementary	Level		
Primary School Buildings	3740	0	3738	2
Upper Primary School Buildings	16	0	11	5
Additional Class rooms	57279	0	57244	35
Drinking Water	22861	0	22861	0
Ramp	1608	0	1591	17
Boys Toilet	27520	2880	24640	

11 | Page

Item of Construction	Sanctioned	In-progress	Completed	Not started
Girls Toilet	24818		24818	
Server State State	Secondary	Level		
New School Buildings	429	68	255	106
Science Lab	1602	27	1410	165
Additional Classrooms	3061	36	2739	358
Drinking Water	1061	633	12	416
Art/Craft Room	1727	31	1516	180
Library Room	1671	30	1472	169
Computer Room	655	21	557	77
Boys Toilet	1289	9	770	510
Girls Toilet	1288	5	775	508

O Net Enrolment Ratio (NER): NER has declined at primary, Upper Primary and Secondary level from year 2020-21 to 2021-22. State would need to focus on improving the NER at these levels by bringing back children to the age appropriate classes.

- **O High Dropout Rate:** Though the dropout rate at the secondary level has improved from 16.6 in in 2020-21 to 14.6 in 2021-22. State needs to continue taking adequate measures to reduce the dropout rate and improve the retention rate.
- **O Decline in Transition Rate:** As per UDISE+, transition Secondary to higher secondary transition <60% in 5 districts. State needs to take steps to improve the transition rate from the secondary to Higher Secondary level.
- **O** Surplus Teachers at Elementary level: There are still 6,523 Surplus Teachers at Elementary Level, while the number of single teacher schools has increased at both the primary and upper primary level. The number of schools with adverse PTR is also quite high at 36.4% and 34.4% at the primary and upper primary level. State needs to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.
- **O** Subject PTR at Secondary level: Only 68% secondary schools are having teachers for all core subjects. State need to ensure required number of Mathematics, Science and Social Studies teachers in all schools at the secondary level.
- **O** Teacher vacancy at Elementary level: There are 24765 vacant posts of teachers in Govt. Elementary schools, which is an increase of 13.4% from 2022-23 to 13.71% in 2023-24, which would need to be filled on priority.
- Implementation of Section 12: State is yet to identify private schools which have received land, grant or any other support from Govt. at any point of time. Hence, it is requested to ensure that such private schools which are under obligation to provide free education to children of Disadvantaged Groups and Weaker Sections are not reimbursed as per proviso to Section 12(2) of the RTE Act 2009.

O Out of School Children: State has not proposed, though identified, coverage of children affected with seasonal migration. State has not identified Drop Outs in the age group of 16-19 years.

O Vocational Education:

- (i) State has not implemented VE in 35 schools
- (ii) Non Availability of Tools & Equipment in 150 schools.

O Vacancy of Academic positions in TEIs:

- (i) Vacancy of academic positions in SCERT is 60% with 27 faculties in position as against total recommended posts of 45 as per the scheme. These vacant posts needs to be filled up on priority as it is also directly impacting PGI indicator# 2.1.12
- (ii) Vacancy of academic positions in 30 Functional DIETs is with only 547 faculties in position as against a total recommended strength of 750 (25 Academic posts per DIET). These vacant posts needs to be filled up on priority as it is also directly impacting PGI indicator # 2.1.12

Section: II- Financial Estimation

6. Total Estimated Budget (2023-24)

The estimates for the AWP&B for 2023-24under Elementary, Teacher Education and Secondary are as under:

Head	Spill over	Non- Recurring (Fresh)	Recurring * (Fresh)	Total Fresh (3+4)	(Rs. in lakh) Grand Total (Including Spill-Over) (2+5)	
1		3	4	5	5	
Elementary	24586.14	3928.58	131860.75	135789.33	160375.471	
Secondary	18792.89	4563.92	13290.69	17854.61	36647.5	
Teacher Education	82.778	0	4937.98	4937.98	5020.758	
Total	43461.8	8492.49	150089.42	158581.92	202043.73	

*Includes Programme Management (MMMER)

7. Actual Releases by GOI during 2023-24

Against the above estimates, **Central Government shall provide to the State Government**, **Rs. 92274.51 lakh as its share (Rs. 75969.41 lakh for elementary, Rs. 13759.41 lakh for secondary & senior secondary and Rs. 2545.69 lakh for Teacher Education). The State would contribute Rs. 61516.34 lakh as its State share matching** the above Central share as per the existing fund sharing pattern of Samagra Shiksha. States will also be able to utilise their unspent balances as on 31st March, 2023 for the activities approved in 2023-24 including spill over. Based on the demand of funds projected for 2023-24, the tentative share of recurring and non-recurring grants is given below:

Component	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	67527.02	7574.42	2543.87	77645.31
Non-recurring	8442.39	6184.99	1.82	14629.2
Total	75969.41	13759.41	2545.69	92274.51

The Balance of the outlay (i.e.Rs.43461.81 lakh) approved under Non-recurring components in previous years which is not spent fully, is the outlay saved/spill over for the subsequent year (i.e. 2023-24). Against the above Spill over, the committed liability of Department of SE&L is Rs.18097.34 lakh (Rs.6602.61 lakh for Elementary, Rs.11494.73 lakh for Secondary and Rs. 0.00 lakh under Teacher Education after surrender) keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2023-24. The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2023-24 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and CRCs which forms the portion of Teacher Education activities as well as for Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately

14 | Page

under all components of SamagraShiksha.Fund flow to SCERTs, DIETs etc. will be through State Nodal Account of State Implementing Society only.

9. Spill Over

An outlay of **Rs.43461.81lakh**as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during this year 2023-24. The detail is enclosed at *Annexure II*.

10. <u>Costing Sheet</u>

The consolidated item-wise estimate for 2023-24 is at *Annexure III*. The State must bifurcate the annexed costing sheet among all the Districts according to their proposals/approvals and capture the district wise expenditure against the budget allotted, on the PRABANDH portal on a monthly basis for the real time monitoring of each activity/component approved under Samagra Shiksha. Also, State needs to ensure that timely implementation of the various interventions as per the annual calendar of activities submitted.

The meeting ended with a vote of thanks to the Chair.

LIST OF PARTICIPANTS

- 1. Shri Sanjay Kumar, Secretary (SE&L), MoE
- Shri. Ritesh Kumar Singh, Principal Secretary, Department of School Education, Karnataka
- 3. Ms A. Srija, Economic Advisor (SE&L), MoE
- 4. Shri Vipin Kumar, Joint Secretary (SE&L), MoE
- 5. Shri V. Hedge, DDG(Stats), MoE
- 6. Smt. B B Cauvery, State Project Director, Karnataka
- 7. Shri Vinod KrishanVerma, Director (SE&L), MoE
- 8. Shri Shobhit Gupta, Director (Finance)
- 9. Shri Rajesh Kumar Maurya, Under Secretary, MoE
- 10. Shri.Maruthi M R , Director
- 11. Smt. Sumangala, Director, DSERT
- 12. Shri. Mahesh R K, Chief Accounts Officer
- 13. Shri. Y Shivaramaiah, Joint Director (Programmes)
- 14. Shri. Narayana Gowda, Joint Director (Admin)
- 15. Shri, H C Shivalingaiah, State Project Engineer
- 16. Shri. Ningarajappa, Senior Program Officer (Planning)
- 17. Smt. Manjula R, Senior Program Officer
- 18. Smt. NelleriUmeshwari, Program Officer
- 19. Smt. PrameethaAdoni, Program Officer
- 20. Smt. Sreelatha Kotemut, Program Officer
- 21. Shri. Manjunath, SADPI, DSERT
- 22. Smt. Manjula G S, Junior Program Officer
- 23. Shri. Nagesh H C, Computer Programmer
- 24. Shri Rajiv Mehra, Chief Consultant, MIS
- 25. Smt. Alka Mishra, Chief Consultant, TSG

<u>Annexure-II</u>

SPILL OVER: - KARNATAKA

Financial Year: 2022-23 Month: March

(Rs. In lacs)

		Particular		Approved nulative)	Cummula	tive Progre Inception)			Spill	Over	
			Physical	Financial	Phys	ical	Financial		Physical		Financial
					Complete	In-		In-	Not Started	Total	
Access	& Retentio	on				progress		progress	Starteu		
Openin	ng of New /	Upgraded Schools									
3	Opening	of New / Upgraded Schools - NR (Secondary)									
	3.1	1 Section School (Class IX - X)	0	956.00	0	0	356.29	0	0	0	599.71
	3.2	2 Section School (Class IX - X)	47	14810.50	0	39	2760.12	39	8	47	12050.38
	Total for (Seconda	Opening of New / Upgraded Schools - NR		15766.50			3116.41				12650.09
4	Building Year (Se	for New Schools Already Approved in Previous			•						
	4.1	1 Section School	1	263.15	0	0	0.00	0	1	1	263.15
	4.2	2 Section School	1	2430.35	0	1	315.26	1	0	1	2115.09
		Building for New Schools Already Approved in Year (Secondary)		2693.50			315.26				2378.24
Total f	for Opening	g of New / Upgraded Schools		18460.00			3431.67				15028.33
Netaji	Subhas Cha	andra AvasiyaVidhyalaya									
16		bhash Chandra Bose AvasiyaVidyalaya - NR s Year) (Capacity 100) (Elementary)									
	16.2	TLM and equipment including library books (New)	10	2.00	5	5	2.00	5	0	5	0.00
	16.3	Bedding (New)	500	5.00	500	0	5.00	0	0	0	0.00
		Netaji Subhash Chandra Bose AvasiyaVidyalaya s Year) (Capacity 100) (Elementary)	a - NR	7.00			7.00				0
Total f	f or Netaji S	Subhas Chandra AvasiyaVidhyalaya		7.00			7.00				0
Strengt	thening of I	Existing Schools									

		Particular		Approved nulative)		tive Progre Inception)	ss (Since		Spill	Over			
			Physical	Financial	Phys		Financial		Physical		Financial		
					Complete	In-		In-	Not	Total			
48	Strongth	ening of Existing Schools (up to Highest Class				progress		progress	Started				
48	VIII) - N												
	48.11	Major Repair	68	321.46	0	0	0.00	0	68	68	321.46		
		r Strengthening of Existing Schools (up to	00	321.46	0	0	0.00	0	00	00	321.461		
		Class VIII) - NR		021110			0.00				0211101		
48.1		ation of Basic Infrastructure and Overall									1		
		ess of Govt. Schools (Elementary)(NR)											
	48.10.1	Major Repair	322	4468.25					322 322				
		r Rejuvenation of Basic Infrastructure and		4468.25									
		Cleanliness of Govt. Schools (Elementary)(NR)											
48.2		ation of Basic Infrastructure and Overall											
		ess of Govt. Schools (Secondary)(NR)					1						
	48.20.	Major Repair	15	202.00					15	15	202.00		
		r Rejuvenation of Basic Infrastructure and		202.00							202		
49		Cleanliness of Govt. Schools (Secondary)(NR)											
49	49.2	ening of Existing Schools (IX - X) - NR Computer Room	2	35.20	0	0	0.00	0	2	2	35.20		
	49.2	Boys Toilet	54	191.38	0	0	0.00	0	54	54	191.38		
ł	49.4	Library Room	3	75.60	0	0	0.00	0	3	3	75.60		
		•						-					
	49.5	Lab Equipment (Sci Lab)	0	0.00	0	0	0.00	0	0	0	0.00		
	49.6	Science Lab	3	52.80	0	0	0.00	0	3	3	52.80		
ł	49.7	Art/Craft Room	3	52.80	0	0	0.00	0	3	3	52.80		
	49.8	Toilets for CWSN	103	271.87					103	103	271.87		
	49.9	Drinking Water	2	3.50	0	0	0.00	0	2	2	3.50		
	49.10	Additional Classroom	37	651.20	0	0	0.00	0	37	37	651.20		
	49.12	Girls Toilet	53	183.06	0	0	0.00	0	53	53	183.06		
	49.20	Repairing of Boys Dysfunctional Toilets	0	0.00	0	0	0.00	0	0	0	0.00		
	49.21	Repairing of Girls Dysfunctional Toilets	0	0.00	0	0	0.00	0	0	0	0.00		
	Total for NR	r Strengthening of Existing Schools (IX - X) -		1517.41			0.00				1517.41		
Total f		hening of Existing Schools		6509.12			0.00	00			6509.121		
Total f	or Access	& Retention		24976.12			3438.67				21537.451		

		Particular		Approved nulative)		tive Progre Inception)	ss (Since	Spill Over				
			Physical	Financial	Phys	ical	Financial		Physical		Financial	
					Complete	In- progress		In- progress	Not Started	Total		
Quality	/ Interventic	ons				1 0						
Funds t	for Quality	(LEP, Innovation, Guidance etc)										
71	Innovation	n Projects - (NR) (Elementary)										
	71.12	ICT Facility to BRCs	204	1305.60	0	204	1305.60	204	0	204	0.00	
	71.13	Teacher Resource Package (Primary)	138222	13822.20	0	0	0.00	0	138222	138222	13822.20	
	Total for	Innovation Projects - (NR) (Elementary)		15127.80			1305.60				13822.2	
76		nnovative Activities - (NR) - (State Specific) y & Sr. Secondary)			1				1			
	76.39	Vocational Skill lab	12	120.00	0	12	42.00	12	0	12	78.00	
	Specific)	Project - Innovative Activities - (NR) - (State (Secondary & Sr. Secondary)		120.00			42.00				78	
Total f	or Funds fo	r Quality (LEP, Innovation, Guidance etc)		15247.80			1347.60				13900.2	
ICT an	d Digital In						•					
127	NR	rdware & Software (up to Highest Class VIII) -										
	127.1	Digital Hardware & Software (Type - I) (Elementary)	764	4889.60	0	502	3212.80	502	262	764	1676.80	
	127.2	Smart Classroom (Type - II) (Elementary)	1631	3914.40					1631	1631	3914.40	
	127.3	Digital Hardware	615	3336.40	0	615	3336.40	615	0	615	0.00	
	127.4	Operating System / Softwares	0	0.00	0	0	0.00	0	0	0	0.00	
	127.5	Furniture	0	0.00	0	0	0.00	0	0	0	0.00	
	Total for Class VII	Digital Hardware & Software (up to Highest I) - NR		12140.40			6549.20				5591.2	
129	Digital Ha NR	urdware & Software (upto Highest Class XII) -										
	129.2	Smart Classroom (Type - II) (Secondary & Sr. Secondary)	137	328.80	0	137	328.80	137	0	137	0.00	
	129.3	Digital Hardware	0	30.54	0	0	0.00	0	0	0	30.54	
	Class XII			359.34			328.80				30.54	
Total f	or ICT and	Digital Initiatives		12499.74			6878.00				5621.74	

		Particular		Approved nulative)		tive Progre Inception)			Spill	Over	
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
Early C	Childhood	Care and Education (ECCE)									•
133	Pre- Prin	nary (Non- Recurring)									
	133.4	Support at Pre-Primary Level (New) (NR)	1170	507.30	262	0	144.10	0	908	908	363.20
	Total for	r Pre- Primary (Non- Recurring)		507.30			144.10				363.2
Total f	f or Early C	Childhood Care and Education (ECCE)		507.30			144.10				363.2
		v Interventions		28254.84			8369.70				19885.14
	er Educatio										
	Vork :Stren Ts/DIETs/	ngthening of physical infrastructure in TEI (BITEs)									
139		ament of Special Cells in SCERT - NR									
	139.1	Mathematics	1	10.00	0	0	0.00	0	1	1	10.00
	139.2	Language/English Education	1	10.00	0	0	0.00	0	1	1	10.00
	139.3	Education Technology/Computer	1	10.00	0	0	0.00	0	1	1	10.00
	139.4	Social Studies	1	10.00	0	0	0.00	0	1	1	10.00
	139.5	Science	1	10.00	0	0	0.00	0	1	1	10.00
	Total for	r Establishment of Special Cells in SCERT - NR		50.00			0.00				50
150	Equipme	nt's in Teacher Education Institutions - NR									
	150.2	DIETs	30	150.00	30	0	150.00	0	0	0	0.00
	150.3	SCERT	1	5.00	1	0	5.00	0	0	0	0.00
	Total for - NR	r Equipment's in Teacher Education Institutions		155.00			155.00				0
		Vork :Strengthening of physical infrastructure in ETs/BITEs)		205.00			155.00				50
		port to TEIs									
142	Technolo	ogy Support to TEIs (NR)									
	142.4	Hardware & Software Support	31	190.40	21	0	161.62	0	10	10	28.78
	142.6	Furniture	10	2.00	0	0	0.00	0	10	10	2.00
	142.7	Operating System & Application Software	10	2.00	0	0	0.00	0	10	10	2.00
	Total for	r Technology Support to TEIs (NR)		194.40			161.62				32.778

		Particular		Approved nulative)		tive Progre Inception)	ss (Since		Spill	Over	
			Physical	Financial	Phys		Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
Total f	f or Techno	logy Support to TEIs		194.40			161.62				32.778
Total f	for Teache	r Education		399.40			316.62				82.778
	r & Equity							•			
Kastur	ba Gandhi	BalikaVidyalaya (KGBVs)									
163	KGBV -	Type - I (NR) (New) (Classes VI -VIII)									
	163.9	Replacement of bedding (once in 3 years)	2200	16.50	2200	0	16.50	0	0	0	0.00
	Total for VIII)	r KGBV - Type - I (NR) (New) (Classes VI -		16.50			16.50				0
165	KGBV -	Type - I (NR) (Previous Year) (Classes VI -VIII)			•	•	•				
	165.7	Replacement of bedding (once in 3 years)	7400	59.20	1719	1700	39.37	1700	3981	5681	19.83
		r KGBV - Type - I (NR) (Previous Year) VI -VIII)		59.20			39.37				19.83
171	KGBV -	Type - III (NR) (New) (Classes VI -XII)					•				
	171.4	Furniture/ Equipment (including kitchen)	3	2.00	3	0	2.00	0	0	0	0.00
	171.5	TLM and equipment including library books	3	0.60	3	0	0.60	0	0	0	0.00
	171.6	Bedding	300	2.40	300	0	2.40	0	0	0	0.00
	Total for XII)	r KGBV - Type - III (NR) (New) (Classes VI -		5.00			5.00				0
175	KGBV -	Type - IV (NR) (New) (Classes IX - XII)					•				
	175.1	Construction of Building (New)	3	1317.91	0	0	0.00	0	3	3	1317.91
	Total for XII)	r KGBV - Type - IV (NR) (New) (Classes IX -		1317.91			0.00				1317.91
177		Type - IV (NR) (Previous Year) (Classes IX -XII)		•	•	•	•				
	177.7	Replacement of bedding (once in 3 years)	7300	58.40	3650	0	29.20	0	3650	3650	29.20
		r KGBV - Type - IV (NR) (Previous Year) IX -XII)		58.40			29.20				29.2
Total f		oa Gandhi BalikaVidyalaya (KGBVs)		1457.01			90.07				1366.94
Total f	f or Gender	& Equity		1457.01			90.07				1366.94

		Particular		Approved nulative)		tive Progre Inception)	ss (Since		Spill	Over	Financial
			Physical	Financial	Phys	ical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
Inclusi	ive Education	1									
Provisi	ion for Child	ren with Special Needs (CWSN)									
212		ing Components under Inclusive Education nest Class - XII) (NR)									
	212.1	Equipments for Resource Rooms	74	148.00					74	74	148.00
	Education	Strengthening Components under Inclusive (Upto Highest Class - XII) (NR)		148.00							148
Total f	for Provision	n for Children with Special Needs (CWSN)		148.00							148
Total f	for Inclusive	Education		148.00							148
	onal Educati										
Introdu Second	dary	cational Education at Secondary and higher									
214	Introductio	on of VE in schools - NR									
	214.1	Tools, Equipment & Furniture (New)	125	445.00	0	1	3.50	1	124	125	441.50
	Total for I	Introduction of VE in schools - NR		445.00			3.50				441.5
	for Introduct Secondary	ion of Vocational Education at Secondary and		445.00			3.50				441.5
	for Vocation	al Education		445.00			3.50				441.5
	oring of the S										
Monito	oring Informa	ation System (MIS)									
219.1	VidhyaSan	niksha Kendra (Non-Recurring) (EE/SE/TE)									
	219.10.13	VidyaSamiksha Kendra (Non-Recurring)	1	415.00	0	1	415.00	1	0	1	0.00
	Total for V (EE/SE/TI	vidhyaSamiksha Kendra (Non-Recurring) E)		415.00			415.00				0
Total f		ng Information System (MIS)		415.00			415.00				0
Total f	for Monitoria	ng of the Scheme		415.00			415.00				0
Grand Total				56095.37			12633.56				43461.809
Gener	ated as on N	Aonday, March 13, 2023									

Scheme Name	Budget Approved (Cummulative)	Cummulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Elementary Education	33067.91	8481.77	24586.1410
Secondary Education	22628.06	3835.17	18792.89
Teacher Education	399.40	316.62	82.7780
Total	56095.37	12633.56	43461.809

Major Component	Budget Approved (Cummulative)	Cummulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	24976.12	3438.67	21537.451
Quality Interventions	28254.84	8369.70	19885.14
Teacher Education	399.40	316.62	82.778
Gender & Equity	1457.01	90.07	1366.94
Inclusive Education	148.00		148
Vocational Education	445.00	3.50	441.5
Monitoring of the Scheme	415.00	415.00	0
Total	56095.37	12633.56	43461.8090

<u>Annexure-III</u>

State: KARNATAKA and Year 2023-24

a				~ /		TING SHE					
State Name	:Karnataka a	and Yea Partici		24		Proposal				Final App	Rs. in Lakh proved Outlay
						· I ·····					
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
Access & Retention	Opening of New / Upgrade d Schools	3.0		Opening of New / Upgraded Schools - NR (Secondary)							
			3.0.2	2 Section School (Class IX - X)	25	195.00000	4875	8	183.00000	1464	Recommended 8 Upper Primary schools proposed for upgradation to Secondary Schools as per neighbourhood norms. 17 schools do not fulfil the criteria of neighbourhood norm. Hence, not recommended.
				Total of Opening of Schools - NR (Seco		raded	4875			1464	
		6.0		Opening of New / U (Hr. Secondary)	Jpgraded So	chools - NR					
			6.0. 3	Higher Secondary School - Arts Subject (XI - XII)	8	134.74000	1077.92	6	124.44000	746.64	Recommended 6 schools which are found eligible for upgradation. Rest 2 do not fulfil the criteria of neighbourhood norm as well as the enrolment of feeder school and the expected enrolment is not as per the norms. Hence, not recommended.

COSTING SHEET: KARNATAKA

State Name	:Karnataka a			24				1			Rs. in Lak			
		Partic	ulars			Proposal			Final Approved Outlay					
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks			
				Total of Opening of New / Upgraded Schools - NR (Hr. Secondary)			1077.92			746.64				
		Total School		of New / Upgraded			5952.92			2210.64				
	Netaji Subhas Chandra AvasiyaV	16.0		Netaji Subhash Cha AvasiyaVidyalaya - (Capacity 100) (Ele	NR (Previ	ous Year)								
	idhyalaya		16.0. 1	Furniture / Equipment (including kitchen equipment)	1	2.00000	2	1	2.00000	2	Recommended @ Rs. 200000/hostel for the existing hostel approved in 2020-21 Bangalore South District with 100 capacity intake.			
			16.0. 3	Bedding (New)	100	0.03000	3	100	0.01000	1	Recommended @Rs. 1000/child for 100 children.			
				Total of Netaji Subhash Chandra Bose AvasiyaVidyalaya - NR (Previous Year) (Capacity 100) (Elementary)			5			3				
		17.0		Netaji Subhash Cha AvasiyaVidyal - Re (Capacity 100) (El	curring (Pr	evious Year)								

State Name	:Karnataka and Y		24							Rs. in Lakh		
	Par	rticulars			Proposal		Final Approved Outlay					
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks		
		17.0.1	Food/Lodging per child per month	600	0.24000	144	600	0.21600	129.6	6 residential schools of 100 capacity are currently operational (5 sanctioned in 2010-11) and 01 school sanctioned in the year 2020-21. Recommended @Rs. 1800/- child per month for 600 children.		
		17.0. 2	Stipend per child per month	600	0.01200	7.2	600	0.01200	7.2	Recommended @Rs. 1200/- child for 600 children in the 06 existing residential schools		
		17.0.3	Supplementary TLM, Stationery and other educational material	600	0.02000	12	600	0.02000	12	Recommended @Rs. 2000/- child for 600 children and unit cost as approved in previous years.		
		17.0.4	1 Warden	6	3.60000	21.6	6	3.60000	21.6	Recommended @Rs. 30000/- head in 6 existing residential hostel. One school of 100 capacity sanctioned in the year 2020- 21 was also made operational. Hence, recommended for 06 operational schools with the same unit cost as approved in previous years.		
		17.0. 6	4 - 5 Fulltime teachers as per RTE Norms	24	3.00000	72	24	3.00000	72	Recommended 4 full time teacher @25000/- head for 6 existing schools with the same unit cost as approved in previous years for the existing and operational schools.		
		17.0 .8	3 Part time teachers	18	1.30000	23.4	18	1.30000	23.4	Recommended 3 part time teacher @Rs. 10833/-head each for 6 existing schools with the same unit cost as approved in previous years for existing and operational schools.		

	Par	rticulars			Proposal		Final Approved Outlay					
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks		
		17.0.9	1 Full time Accountant	6	1.80000	10.8	6	1.80000	10.8	Recommended 1 full time accountar @15000/- head for 6 existing schools One school of 100 capacity sanctione last year 2020-21 was now mad operational. Hence, recommended for 0 operational schools with the same un cost as approved in previous years.		
		17.0. 10	2 Support staff - (Accountant/Assist ant, Peon, Chowkidar)	12	1.35600	16.272	12	1.35600	16.272	Recommended @11300/- head for existing schools and with the same un cost as approved in previous years for th existing operational schools.		
		17.0. 11	1 Head Cook	6	1.50000	9	6	1.50000	9	Recommended @12500/- head for existing schools. One school of 10 capacity sanctioned in the year 2020-2 was now made operational. Hence recommended for 06 operational school with the same unit cost as approved i previous years.		
		17.0. 12	2 Assistant Cook	12	1.35600	16.272	12	1.35600	16.272	Recommended @11300/- head for existing schools. One school of 10 capacity sanctioned in the year 2020-2 was now made operational. Henc recommended for 06 operational schoo with the same unit cost as approved previous years.		
		17.0. 13	Specific Skill training	600	0.01700	10.2	600	0.01700	10.2	Recommended @1700/- child for 60 children in the the 06 residential schools.		
		17.0. 14	Electricity / water charges	600	0.06600	39.6	600	0.06600	39.6	Recommended as per enrolment of 600 i the 06 existing residential schools.		
		17.0. 15	Medical care/contingencies	600	0.01700	10.2	600	0.01700	10.2	Recommended as per enrolment of 600 the 06 existing residential schools.		
		17.0. 16	Maintenance	600	0.02200	13.2	600	0.02200	13.2	Recommended as per enrolment of 60 in the 06 existing residential schools.		
		17.0. 17	Miscellaneous	600	0.01700	10.2	600	0.01500	9	Recommended as per enrolment of 600 in the 06 existing residential schools an unit cost as approved in previous years		

State Frank	:Karnataka a	Particu				Proposal				Final Ann	Rs. in Lak Proved Outlay	
		r ai uci	nai s			rioposai		rinai Approved Odday				
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
m			17.0. 22	Physical / Self Defence Training	600	0.00200	1.2	600	0.00200	1.2	Recommended @Rs. 2000/- per child fo 600 children in the 06 existing residentia schools and unit cost as approved in previous years.	
				Total of Netaji Subl AvasiyaVidyal - Re (Capacity 100) (El	curring (Pr ementary)	evious Year)	417.14			401.54		
		Total o	of Netaji Sı	ubhas Chandra Avasi	yaVidhyala	iya	422.14			404.54		
	Strengthe ning of Existing Schools	48.0		Strengthening of Ex Highest Class VIII)		ools (up to						
			48.0. 10	CWSN Toilets (Upto Class VIII)	177	3.55000	628.35	97	3.00000	291	Recommended 97 school for CWSN toil as per UDISE Gap.	
			48.0. 59	Rain Water Harvesting	6	2.50000	15	3	2.00000	6	Recommended 3 schools for Rain Wate Harvesting as per UDISE Gap.	
				Total of Strengthen (up to Highest Class			643.35			297		
		Total o	l of Strengthening of Existing Schools				643.35			297		
	Transpor t &	58.0		Transport / Escort Facility (Elementary)								
	Escort Facilities		58.0.2	Children in remote habitation	20928	0.06000	1255.68	20499	0.06000	1229.94	Proposal of Transportation is recommended for 20499 children studying at elementary level @ Rs. 6000/- per child amounting to Rs. 1229.94 lakh for Children in residing in remote area with the condition that State will notify the are and limits of neighborhood for Transportation Escort and categories it as child entitlement (a per norms) and the Cash transfer will be allowed in the form of DBT to Aadhar linked bank accounts linked to the actual attendance. In addition, remaining 429 children are not found eligible for transportation/escorts facilit as per the distance norms (260) and school category norm (16) and not having the actual enrolment as proposed number of students for the facility (153)	

State Name	:Karnataka a	and Yea	r :2023-20	24							Rs. in Lakh	
		Partic	ulars			Proposal		Final Approved Outlay				
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
				Total of Transport (Elementary)	/ Escort Fa	cility	1255.68			1229.94		
		59.0		Transport / Escort 1	Facility (Se	condary)						
			59.0.1	Transport & Escort Facilty Total of Transport	2601 / Escort Fa	0.06000 cility	156.06 156.06	2557	0.06000	153.42	Recommended only 2557 eligible children studying at secondary level @Rs. 6000 per children amounting Rs. 153.42. Remaining 44 children are not found eligible for transportation/escorts facility as per the distance norms. The recommendation is subject to the issue the notification of transportation facility by the State, in addition, State is also advised to (i) explore the Convergence with state transportation department, and (ii) proper monitoring of the facility to be ensured	
		Total	of Transpo	(Secondary) ort & Escort			1411.74			1383.36		
	Total for A	Facilit	ies									
RTE	Total for A Reimburs	CCESS &	ketention	Reimbursement of	Fee		8430.15			4295.54		
Entitleme nts	ement towards expenditu re incurred	00.0	60.0. 1	Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009	345057	0.05796	19999.9986	345057	0.05796	19999.998 6	Recommended as proposed. Subject to 20 percent of ceiling of the total outlay approved for FY 2023-24.	
	for 25% of			Total of Reimburse	ment of Fe	e	20000			20000		
	Admision under 12 (1)(c) RTE Act			rsement towards expe on under 12 (1)(c) RTI		urred for	20000			20000		

		Partic	ulars		Proposal						Rs. in Lakt Final Approved Outlay		
						of over							
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks		
	Free Textbook	61.0		Free Text Books									
	S		61.0. 1	Text Books (Class I - II)	149068	0.00250	372.667	149068	0.00250	372.67	Recommended as per norms Textbooks for 149068 children of Class I-II @ Rs 250/- per child (as per UDISE+ enrolme in Govt. Aided Schools)		
			61.0. 4	Text Books (Class III - V)	229468	0.00250	573.668	229468	0.00250	573.67	Recommended as per norms Textbooks for 229468 children of Class III-V @ Rs 250/- per child (as per UDISE+ enrolmer in Govt. Aided Schools)		
			61.0. 7	Text Books (Class VI - VIII)	391496	0.00400	1565.984	391496	0.00400	1565.984	Recommended as per norms Textbooks for 391496 children of Class VI-VIII @ Rs. 400/- per child (as per UDISE+ enrolment in Govt. Aided Schools)		
				Total of Free Text	Books		2512.32			2512.32			
		Total	of Free Te	xtbooks			2512.32			2512.32			
	Free Uniforms	62.0		Uniform									
	Uniforms		62.0. 1	All Girls	2042129	0.00300	6126.387	2042129	0.00300	6126.387	Recommended as per norms for providin one set of free uniform @ Rs. 300 per child to 2042129 girls as per UDISE+ enrolment.		
			62.0. 2	ST Boys	226431	0.00300	679.293	226431	0.00300	679.293	Recommended as per norms for providir one set of free uniform @ Rs. 300 per child to 226431 ST Boys as per UDISE+ enrolment.		
			62.0. 3	SC Boys	490015	0.00300	1470.045	490015	0.00300	1470.045	Recommended as per norms for providi- one set of free uniform @ Rs. 300 per child to 490015 SC Boys as per UDISE- enrolment.		

State Name	:Karnataka a			24				1		T! ! !	Rs. in Lakl	
Particulars						Proposal		Final Approved Outlay				
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
			62.0. 4	BPL Boys	508669	0.00300	1526.007	508669	0.00300	1526.007	Recommended as per norms for providing one set of free uniform @ Rs. 300 per child to 508669 BPL Boys as per UDISE+ enrolment.	
				Total of Uniform			9801.73			9801.73		
		Total	of Free Un	iforms			9801.73			9801.73		
	Special Training	63.0		Special Training for Residential (Fresh)		0 n-						
	of Out of School Children		63.0. 1	3 Months (Non- Residential - Fresh)	70	0.02000	1.4	70	0.01500	1.05	Recommended as proposed. Financial recommendation is as per approved norms.	
	(OoSC)		63.0. 2	6 Months (Non- Residential - Fresh)	38	0.03000	1.14	38	0.03000	1.14	Recommended as proposed.	
				Total of Special Tra Residential (Fresh)		oSC - Non-	2.54			2.19		
		64.0		Special Training for (Fresh)	for OoSC - Residential							
			64.0. 2	6 Months (Residential - Fresh)	959	0.10000	95.9	959	0.10000	95.9	Recommended as proposed.	
			64.0. 4	12 Month (Residential - Fresh)	47	0.20000	9.4	47	0.20000	9.4	Recommended as proposed	
				Total of Special Tra Residential (Fresh)		00SC -	105.3			105.3		
		68.0	68.0	Intervention for Migrant Children (Residential)								
			68.0. 2	6 Months (Residential - Migrant)	576	0.10000	57.6	551	0.10000	55.1	State has uploaded detail of 551 migram children on PRABANDH Portal. The same is recommended.	
				Total of Interventio (Residential)	on for Migra	ant Children	57.6			55.1		

State Name	:Karnataka a			24							Rs. in Lak	
		Particu	ulars			Proposal		Final Approved Outlay				
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
			of Special ' Children	Training of Out of (OoSC)			165.44			162.59		
	Support to	70.0		Support to SCPCR								
	SCPCR		70.0. 1	Support to SCPCR (Upto Highest Class VIII)	42593	0.00050	21.295	42593	0.00050	21.2965	Recommended as proposed	
				Total of Support to	SCPCR		21.3			21.3		
		Total	of Support	to SCPCR			21.3			21.3		
	Commun ity Mobilizat	98.0		Community Mobilization (Elementary)								
	ion		98.0.1	Training of SMC/ SDMC	42593	0.01000	425.93	42593	0.01000	425.93	As per Udise+ 2021-22 there are 42850 elementary schools, however State has proposed for 42593 elementary schools so recommended for 42593 elementary schools @1000 per school= Rs. 425.9300/- lakh. In 6398 schools there i no SMC and in 8789 schools no SDP pla as per Udise+ 2021-22, so State is advise to constitute SMC and SDP plan in remaining schools by July,2023.The Sta has to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators. The fund may also be utilize for popularizing the Vidyanjali programme.	

	:Karnataka a	Partic				Proposal		Final Approved Outlay				
Major Compone	Sub Compone			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
nt	nt		98.0.4	Community Mobilization	42593	0.01000	425.93	42593	0.01000	425.93	As per Udise+ 2021-22 there are 42850 elementary schools, however State has proposed for 42593 elementary schools so recommended for 42593 elementary schools @ 1000 per school= Rs. 425.9300/- lakh. The State has to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators. The fund may also be utilized for popularizing the Vidyanjali programme.	
				Total of Communit (Elementary)	y Mobilizat	ion	851.86			851.86		
		99.0		Community Mobili	zation (Seco	ondary)						
			99.0.1	SMDC Training	5307	0.01000	53.07	5307	0.01000	53.07	As per Udise+ 2021-22 there are 63 secondary schools, however State h proposed for 5307 elementary schools, recommended for 5307 elementar schools @ 1000 per school= F 53.07000/- lakh. In schools there is SMC and in 1545 schools no SDP plan 1232 secondary schools as per Udis 2021-22, so State is advised to constitut SMC and SDP plan in remaining school by July,2023. The State has to underta community mobilization activities as p the norms duly having specific plan f getting key performance indicators. T fund may also be utilized for popularizit the Vidyanjali programme.	

State Name	:Karnataka a			24							Rs. in Lakh	
		Partic	ulars			Proposal		Final Approved Outlay				
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
			99.0.4	Community Mobilization	5307	0.01000	53.07	5307	0.01000	53.07	As per Udise+ 2021-22 there are 6327 secondary schools, however State has proposed for 5307 secondary schools, so recommended for 5307 secondary schools @1000 per school= Rs. 53.07000/- lakh. The State has to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators. The fund may also be utilized for popularizing the Vidyanjali programme.	
				Total of Community Mobilization (Secondary)			106.14			106.14		
				nity Mobilization			958			958		
	Total for R	RTE Ent	titlements				33458.78			33455.94		
Quality Interventi ons	Funds for Quality (LEP, Innovatio	72.0		Innovation Projects - (Elementary) (Recurring)								
	n, Guidance etc)		72.0. 2	Holistic Report Card for Students (Elementary)	4031153	0.00005	201.5594	4031153	0.00005	201.55765	Recommended as proposed @ Rs. 5 per student for all students of classes 1 to 8 in Govt. Schools. State has developed the framework for HPC and the same will be implemented in 2023-24. State may ensure the HPC developed for the foundational stage assesses domains listed in the NCF (FS) and it includes components of Self, Peer & Teacher assessment.	
				Total of Innovation (Elementary) (Recu		L	201.56			201.56		

	:Karnataka a	Particu				Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		74.0		Innovation Projects (Secondary & Sr. S		g					
			74.0. 1	Holistic Report Card for Students (Secondary & Sr. Secondary)	675062	0.00005	33.753	675062	0.00005	33.7531	Recommended as proposed @ Rs. 5 p student for all students of classes 9 to 1 in Govt. Schools. State has developed th framework for HPC and the same will b implemented in 2023-24. State ma ensure the HPC also includes componen of Self, Peer & Teacher assessment.
			74.0. 10	Exposure to Vocational Education (Class 6 - 8)	586	0.60000	351.6	296	0.15000	44.4	Recommended for 296 schools with classes 6th to 8th for Visit of upper primary students to nearby industry/unit Interactive sessions/lectures are workshops by local artisans, craftsmen of local skills/local crafts, teacher training.
				Total of Innovation (Secondary & Sr. S		Recurring	385.35			78.15	
		75.0		Project - Innovative (State Specific) (Ele		(NR) -					
			75.0. 39	Tablets for Cluster	4103	0.15000	615.45	4103	0.10000	410.3	Recommended @Rs.10,000 for 410 clusters.
			75.0. 41	Hub Schools for Resource Centre	2	15.50000	31	2	15.50000	31	Recommended as proposed @ Rs. 15.5 lakh per school for strengthening of tw schools as hub schools i.e., KPS Madbo and Karnataka Public Scho (Doddaballapur). Provision will also I available for smart classroom, science la AV & other equipment, computer labs per TALP.
				Total of Project - Ir (NR) - (State Specif			646.45			441.3	

State Name	:Karnataka a			24				1			Rs. in Lakh
		Particu	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		76.0		Project - Innovative (State Specific) (Se Secondary)							
			76.0. 5	Virtual Classroom	1	2375.00000	2375	1	735.00000	735	An amount of Rs.735.00 lakh is recommended for setting up one studio and virtual classrooms in 100 schools in two aspirational districts (Yadagiri and Raichur). This will address the subject teacher shortage and the children in those schools will get opportunity to listen to and interact with the virtual teacher from broadcasting studio.
			76.0.44	Formation of Science / Math Clubs	54	7.00000	378	54	7.00000	378	Recommended as proposed for setting up of 54 Mini Science Centres in districts which are low performing in Science as per the NAS 2021 analysis for set up and operational cost including programme activities. One hub school as the Mini Science Centre will cater to 12 to 15 cluster schools and it will serve as a space for children to perform experiments, learr to make simple models with easily available low-cost materials and participate in team-based projects.
			76.0. 45	Tinkering Lab	106	8.00000	848	106	8.00000	848	Recommended as proposed for setting up 106 Tinkering labs @ Rs. 8 lakh per lal for purchase of Tools and Equipment and setting up of the Lab under Strengthening Rethinking and Innovation in Schools through hands-on Tinkering and Inquiry (SRISHTI).
				Total of Project - In (NR) - (State Specif Secondary)			3601			1961	

-	:Karnataka a	Partic				Proposal				Final App	Rs. in Lak proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79.0		Project Innovation (Elementary)	- (Rec) - (St	tate Specific)					
			79.0. 601	Teaching Learning Center	530	4.00000	2120	530	4.00000	2120	Recommended as proposed to devel 530 Hobli level CRCs as Teachi Learning Centres @ Rs. 4.00 lakh p centre to facilitate continuous professior development of teachers. State has a to of 845 Hoblis and Teaching Learni Centres have been established in 3 Hoblis under the aspirational blocks wi other state fund. This would established as sharing and learni platforms to encourage volunteeris amongst teachers for their professior development and exchange the experiences for betterment of fello teachers. Hoblicenters are mo convenient and accessible as teachers pa through these points to reach the schools.
			79.0. 602	Blended Learning	1800	0.02760	49.68	1800	0.02760	49.68	Recommended as proposed for Blend Learning to leverage teachers for " class" digital learning and empow mothers to enable "at home" learni covering 1800 students in one block Bellary District. The objective is reduci- the digital divide by using technology at shared digital infrastructure. Under th teachers will be trained as facilitato mothers will be trained as facilitato mothers will be empowered by enabli- them in use of digital devices & childr will be assessed digitally to track LO This would also serve as a hybrid mod for government schools with low-co- digital devices

	:Karnataka a	Partic				Proposal				Final App	Rs. in Lakh proved Outlay
						•					•
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			79.0. 603	Hub Schools for Resource Sharing	2	9.50000	19	2	9.50000	19	Recommended as proposed @ Rs. 9. lakh per school for strengthening tw schools as hub schools (KP Madbool&karnataka Public Schoo Doddaballapur) with adequate resource such as well curated libraries, physica education facilities, etc. State ha developed a concept paper on Schoo Complexes as per NEP 2020 and thes hub schools would be a prelude to th School Complex Model
				Total of Project In Specific) (Element		Rec) - (State	2188.68			2188.68	
		83.0		Project Kala Utsav	(Secondary	y)					
			83.0.2	Kala Utsav	1	15.00000	15	1	12.00000	12	Recommended an amount of Rs. 12.0 lakh for organizing kala Utsav at distric state and national level for secondar schools as per norms.
				Total of Project Ka	la Utsav (S	econdary)	15			12	
		93.0		LEP (Class VI - VI	II)						
			93.0.1	Learning Enhancement/Enri chment Programme (Remedial Teaching)	563898	0.00300	1691.694	563898	0.00300	1691.694	Recommended as proposed for 563898 students of classes 6 to 8 @ Rs. 300 per student for learning enhancement programme through a strengthened KalikaChetarike Programme and the academic plan for the year 2023-24 is based on core essential LOs. LEP has been provided for covering 40% of the weak students identified through a state level mid-line assessment in 2022-23.
				Total of LEP (Class	s VI - VIII)		1691.69			1691.69	

State Name	:Karnataka a			24							Rs. in Lakh
		Particu	ılars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		94.0		LEP (Class IX - XII)							
			94.0. 1	Learning Enhancement/Enri chment Programme (Remedial Teaching) Total of LEP	409820	0.00300	1229.46 1229.46	409820	0.00300	1229.46 1229.46	Recommended as proposed for 409820 students of classes 9 to 10 @ Rs. 300 per student for learning enhancement programme through a strengthened KalikaChetarike Programme and the academic plan for the year 2023-24 is based on core essential LOs. LEP has been provided for covering 40% of the weak students identified through a state level mid-line assessment in 2022-23.
				(Class IX - XII) or Quality (LEP,			9959.2			7803.84	
	NIPUN Bharat	86.0	nce etc)	Nipun Bharat Mission (FLN)							
	Mission		86.0.1	Teaching Learning Materials for implementation of Innovative pedagogies	2621254	0.00300	7863.762	2621254	0.00300	7863.762	Recommended as proposed for 2621254 students of grade 1-5 @ Rs. 300 per students for developing play, story, toy, art and sports based teaching learning materials to support specific learning objectives, as set out in lesson plans. These can be worksheets, games, videos, flashcards, puzzles, and more. State will also follow modules in developing TLM and submit report before 31st December 2023.

State Mame	:Karnataka ar			4				1		T: 1 4	Rs. in Lak
		Particul	lars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			86.0. 2	Teacher Resource Material/Activity Handbook	92745	0.00150	139.1175	70745	0.00150	106.1175	Recommended as appraised for 70,745 primary school teachers @ Rs. 150 per teacher for developing Teacher Manual and Activity Handbooks for teachers tha will be aligned with innovative pedagogies to achieve learning outcome and grade level competencies.
			86.0.3	Capacity building of Teachers of Grades I to V (New)	92745	0.02000	1854.9	70745	0.01200	848.94	Recommended as appraised @Rs. 300 pc day for 70745 teachers for 4 days is person training on the sate specifi Module that is Nali-Kali and Bilingua Sections. All Teachers teaching grades 1 5 will be trained on the variety of pedagogies that are important for joyfu learning at FLN level- ar integrated/sport-integrated/toy- based/storytelling/experiential/ICT- integrated/activity-base pedagogies/assessment/ repo cards/child tracking/identifying CWSN.
		-	86.0.4	Independent, periodic and holistic assessment of Students	35	10.00000	350	20	10.00000	200	Recommended @Rs.10 lakh for the stat level assessments that will be conducted in 20 districts of the state and the assessments will be administered by the Karnataka State Quality Assessment and Accreditation Council through the CSA (Census-based State Achieveme Survey). The progress of the child will be recorded after every formative assessme for 4 times a year with an overall details comment specific to each stude progress.
		F		Total of Nipun Bha	rat Mission	(FLN)	10207.78			9018.82	
	-	87.0		Formation of PMU	(Elementar	•v)					

State Maille	:Karnataka	Partici		<i>4</i> 7		Proposal				Final An-	Rs. in Lakh proved Outlay
		Paruc	ulars			Proposal				Finai App	broved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			87.0. 1	State Level	1	10.00000	10	1	10.00000	10	Recommended @Rs.10 lakh for stat level PMU and the recommended amour will be used for strengthening PMU wit including subject such as, IT experts, Dat Analyst, etc.
			87.0 .2	District Level	35	5.00000	175	35	5.00000	175	Recommended @Rs.5 lakh for District level PMUs and the recommended amount will be used for strengthening 3: PMUs at district level with including subject such as, IT experts, Data Analyst Academic expert, Community Outreach worker, Program Management etc. as per the shared details.
				Total of Formation	of PMU (E	lementary)	185			185	
		Total	of NIPUN	Bharat Mission			10392.78			9203.82	
	Assessme nt at	102		Assessment at State	e level (Elen	nentary)					
	National & State level		102.0 .1	Assessment at State level	35	1.00000	35	35	1.00000	35	Recommended as proposed for baseline, mid-line & end-line assessments to be conducted covering students of classes 2 to 9.
				Total of Assessmen (Elementary)	t at State le	vel	35			35	
		103		Assessment at State	e level (Seco	ndary)					
			103.0 .1	Assessment at State Level	1	5.00000	5	1	5.00000	5	Recommended as proposed for baseline, mid-line & end-line assessments to be conducted covering students of classes 2 to 9.
				Total of Assessmen (Secondary)	t at State le	vel	5			5	
		Total State l		ent at National &			40			40	

State Name	:Karnataka a			24				1			Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	Training for In- service	106		In-Service Training (Elementary)							
	Teacher and Head Teachers		106.0. 13	Teachers Class VI to VII(Government Schools)	51781	0.02500	1294.525	47911	0.02500	1197.775	Recommended as appraised 5 days teacher training @ Rs. 500 per person pe per day for 50% of In-service teachers including Head Masters.
				Total of In-Service	Training (H	Elementary)	1294.52			1197.78	
		107		In-Service Training	g(IX - XII)	1					
			107.0. 1	Teachers Class IX to X (Government Schools)	50475	0.02500	1261.875	20263	0.02500	506.575	Recommended as appraised 5 days teacher training @ Rs. 500 per person per per day for 50% of In-service teachers including Principals.
			107.0. 3	Teachers Class IX to X (Government Aided Schools)	23501	0.02500	587.525	11303	0.02500	282.575	Recommended as appraised 5 days teacher training @ Rs. 500 per person per per day for 50% of In-service teachers including Principals.
				Total of In-Service	Training (I	X - XII)	1849.4			789.15	
				for In-service d Teachers			3143.92			1986.92	
	Composit e School	118		Annual Grant (up	to Highest	Class VIII)					
	Grant		118.0. 1	School Grant - (Enrol > 30 and <=100)	15042	0.18750	2820.375	15042	0.18750	2820.375	Recommended as proposed for 13254 schools @ Rs. 18750 per school includin 10% of the amount for Swachhta Programs.

state maine	:Karnataka a	and Yea Partic		2 4		Proposal				Final An-	Rs. in Lakl proved Outlay
		raruc	ulars			Proposal				ғша Ар	broveu Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			118.0.2	School Grant - (Enrol > 100 and <= 250)	8684	0.37500	3256.5	8684	0.37500	3256.5	Recommended as proposed for 8684 schools @ Rs. 37500 per school includin 10% of the amount for Swachhta Programs.
			118.0.3	School Grant - (Enrol > 250 and <= 1000)	3083	0.56250	1734.1875	3083	0.56250	1734.1875	Recommended as proposed for 3083 schools @ Rs. 56250 per school includir 10% of the amount for Swachhta Programs.
			118.0.4	School Grant - (Enrol > 1000)	5	0.75000	3.75	5	0.75000	3.75	Recommended as proposed for 5 school @ Rs. 75000 per school including 10% of the amount for Swachhta Programs.
			118.0.5	School Grant (Enrol >= 1 and <= 30)	15779	0.07500	1183.425	15779	0.07500	1183.425	Recommended as proposed for 15779 schools @ Rs. 7500 per school includin 10% of the amount for Swachhta Programs.
				Total of Annual G Class VIII)	cant (up to	Highest	8998.24			8998.24	
		119		Annual Grant (up	to Highest C	lass X or XII))				
			119.0. 1	School Grant - (Enrol > 30 and <=100)	1132	0.18750	212.25	1132	0.18750	212.25	Recommended as proposed for 113 schools @ Rs. 18750 per school includin 10% of the amount for Swachh Programs.
			119.0.2	School Grant - (Enrol > 100 and <= 250)	2174	0.37500	815.25	2174	0.37500	815.25	Recommended as proposed for 217 schools @ Rs. 37500 per school includir 10% of the amount for Swachh Programs.
			119.0. 3	School Grant - (Enrol > 250 and <= 1000)	1823	0.56250	1025.438	1823	0.56250	1025.4375	Recommended as proposed for 182 schools @ Rs. 56250 per school includin 10% of the amount for Swachh Programs.
			119.0. 4	School Grant - (Enrol > 1000)	119	0.75000	89.25	119	0.75000	89.25	Recommended as proposed for 1 schools @ Rs. 75000 per school includin 10% of the amount for Swachh Programs.

State Name	:Karnataka a			24				T			Rs. in Lakh
		Partic	ulars			Proposal				Final App	oroved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			119.0. 5	School Grant (Enrol >= 1 and <= 30)	59	0.07500	4.425	59	0.07500	4.425	Recommended as proposed for 59 school @ Rs. 7500 per school including 10% o the amount for Swachhta Programs.
				Total of Annual Gr X or XII)	ant (up to H	lighest Class	2146.61			2146.61	
		Total	of Compos	ite School Grant			11144.85			11144.85	
	Library Grants	120		Library Grant (upto Highest Class VIII)							
			120.0 .1	Upper Primary Schools	21892	0.06500	1422.98	21892	0.06500	1422.98	Recommended as proposed for 21892 schools @ Rs. 6500 per school. The funds for library grant should be utilized in accordance with the detailed guidelines issued by MoE dated 03.10.2018 21.07.2020 as amended by letter dated 2B.10.2021
			120.0.2	Primary Schools	20701	0.05000	1035.05	20701	0.05000	1035.05	Recommended as proposed for 2070 schools @ Rs. 5000 per school. The fund for library grant should be utilized i accordance with the detailed guideline issued by MoE dated 03.10.2018 21.07.2020 as amended by letter date 2B.10.2021
				Total of Library G Class VIII)	rant (upto)	Highest	2458.03			2458.03	
		121		Library Grant (upt	to Highest C	lass XII)					
			121.0.1	Secondary Schools (Upto Class X)	3008	0.15000	451.2	3008	0.15000	451.2	Recommended as proposed for 3003 schools @ Rs. 15000 per school. The funds for library grant should be utilized in accordance with the detailed guideline issued by MoE dated 03.10.2018 21.07.2020 as amended by letter dated 2B.10.2021

State Name	:Karnataka a			24				1			Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			121.0. 2	Senior Secondary School (Upto Class XII)	713	0.20000	142.6	713	0.20000	142.6	Recommended as proposed for 713 schools @ Rs. 20000 per school. The funds for library grant should be utilized in accordance with the detailed guidelines issued by MoE dated 03.10.2018 21.07.2020 as amended by letter dated 2B.10.2021
				Total of Library G XII)	rant (upto I	lighest Class	593.8			593.8	
		Total	of Library	Grants			3051.83			3051.83	
	Rastriya Aavishka	124		RashtriyaAavishka (Elementary)	rAbhiyaan						
	rAbhiyan		124.0. 2	Quiz Competition	35	1.00000	35	35	1.00000	35	Recommended as proposed for conducting quiz competitions for upper primary level schools covering all district with a focus on promotion of Science & Maths learning.
			124.0. 4	Science Kit	7228	0.07000	505.96	7228	0.07000	505.96	Recommended for developing Science Kit in 7228 Schools.
			124.0. 6	Maths Kit	3274	0.03000	98.22	3274	0.03000	98.22	Recommended for developing Maths Kit in 3274 Schools to enhance Maths learning skills.
				Total of Rashtriya (Elementary)	avishkarA	bhiyaan	639.18			639.18	
		125		RashtriyaAaviskaa	rAbhiyan (S	Secondary)					
			125.0. 1	Science Exhibition / Book Fair	35	1.00000	35	35	1.00000	35	Recommended as proposed @ Rs. 1.00 lakh per district for conducting science exhibition, book fair, children science fest, etc.

State Name	:Karnataka a			24				1			Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			125.0 .2	Quiz Competition	35	1.00000	35	35	1.00000	35	Recommended as proposed for quiz competitions to help children develop logical thinking, reasoning and problem solving skills, with a focus on Maths and Science, Technology. This would also facilitate in striving to achieve learning levels appropriate to the class of study in Science and Mathematics.
			125.0.7	Tinkering Lab	106	2.00000	212	106	2.00000	212	Recommended as proposed @ Rs. 2 lakt per lab for Strengthening Rethinking and Innovation in Schools through hands-or Tinkering and Inquiry (SRISHTI). This would include exposure for students ir classes 6 to 8 and facilitate in fostering curiosity, & creativity and inculcate skills such as computational thinking, adaptive learning, etc.
				Total of Rashtriya (Secondary)	AaviskaarA	bhiyan	282			282	
		Total	of Rastriya	AavishkarAbhiyan			921.18			921.18	
	Early Childhoo	133		Pre- Primary (Non	- Recurring)					
	d Care and Educatio		133.0. 1	Child Friendly Furniture	300	1.20000	360	262	0.30000	78.60	Recommended for 262 schools @30,000 per school.
	n (ECCE)		133.0. 2	BALA Features	300	0.30000	90	262	0.30000	78.60	Recommended for 262 school @30,000per school.
			133.0. 3	Out Door Play Materials	507	1.00000	507	322	0.40000	128.80	Recommended for 322 schools @40,00 per school
				Total of Pre- Prima	ary (Non- R	ecurring)	957			286.00	
		134		Pre-Primary (Recurring)							

	.ixui nataixa a	nd Year :2023-202 Particulars			Proposal				Final Anr	Rs. in Lakl proved Outlay
		T al ticular s			TToposar				ւ шա տրե	novcu Oullay
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		134.0. 4	TLM for Children	29858	0.00500	149.29	22415	0.00500	112.075	Recommended for 22415 as per UDISE.
		134.0. 9	Support at Pre- Primary Level (New)	507	0.12500	63.375	507	0.12500	63.375	Recommended for support to new pre- primary schools.
		134.0. 16	Support to Pre- Primary (Existing)	583	0.74000	431.42	583	0.65000	378.95	Recommended for supporting existing pre-primary schools.
			Total of Pre-Prima	•	<u>.</u>	644.08			554.4	
			nildhood Care and Ed	lucation (E	CCE)	1601.08			1269.4	
	Academic support	135	Provision for BRCs/URCs							
	through BRC/UR C/CRC	135.0.1	Financial Support for 1 Accountant- cum-support staff	204	2.84000	579.36	204	2.58000	526.32	Recommended financial support for 204 Accountant-cum-support staff (only fille positions) as per the norms.
		135.0. 2	Financial Support for 1 Data Entry Operator in position	204	2.64000	538.56	204	2.40000	489.6	Recommended financial support for 204 Data Entry Operators (only filled positions) as per the norms
		135.0. 3	Financial Support for 1 MIS Coordinator in position	204	3.37000	687.48	204	3.37000	687.48	Recommended financial support for 204 MIS Coordinators (only filled positions as per the norms.
		135.0 .5	Financial Support for 6 Resource Persons at BRC	1222	5.28000	6452.16	1027	4.80000	4929.6	Recommended financial support for 102 Subject specific Resource Persons (only filled positions) as per the norms.
		135.0. 6	Maintenance Grant	204	0.15000	30.6	204	0.10000	20.4	Recommended as appraised Maintenanc Grant for 204 BRCs @ Rs. 10000/- per BRC.
		135.0. 7	TLE/TLM Grant	204	0.08000	16.32	204	0.05000	10.2	Recommended as appraised TLM Gran for 204 BRCs @ Rs. 5000/- per BRC
		135.0.8	Meeting, TA	204	0.35000	71.4	204	0.25000	51	Recommended as appraise Meeting, TA for 204 BRCs @ Rs. 25000/- per BRC.

State Name	:Karnataka a	and Yea	r :2023-202	24							Rs. in Lakh
		Partic	ulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			135.0.9	Contingency Grant	204	0.70000	142.8	204	0.30000	61.2	Recommended as appraised Contingency Grant for 204 BRCs @ Rs.30000/- per BRC.
				Total of Provision f	or BRCs/U	RCs	8518.68			6775.8	
		137		Provisions for CRC	s						
			137.0. 2	Maintenance Grant	4103	0.08000	328.24	4103	0.05000	205.15	Recommended as appraised Maintenance Grant for 4103 BRCs @ Rs. 5000/- per CRC.
			137.0. 3	TLM Grant	4103	0.03000	123.09	4103	0.01000	41.03	Recommended as appraised TLM Grant for 4103 BRCs @ Rs. 1000/- per CRC
			137.0.4	Meeting, TA	4103	0.10000	410.3	4103	0.05000	205.15	Recommended as appraised Meeting, TA Grant for 4103 CRCs @ Rs.5000/- per CRC.
			137.0.5	Contingency Grant	4103	0.25000	1025.75	4103	0.10000	410.3	Recommended as appraised Contingency Grant for 4103 CRCs @ Rs.10000/- per CRC.
			137.0. 6	Financial Support for CRC Coordinator (one)	4103	4.35600	17872.668	4103	3.96000	16247.88	Recommended financial support for 4103 Cluster Resource Persons (only filled positions) as per the norms.
			137.0. 7	Mobility Support for CRC(Strengthenin g of CRC)	4103	0.02500	102.575	4103	0.01000	41.03	Recommended as appraised, mobility support for 4103 CRCs @ Rs 1000 per head, as per the norm
				Total of Provisions	for CRCs		19862.62			17150.54	
		Total	of Academ	ic support through B	RC/URC/C	RC	28381.3			23926.34	
	Total for Q	Quality I	Interventio	ns			68636.15			59348.19	
Sports & Physical						(upto					

State Name	:Karnataka a	and Yea	r :2023-202	24							Rs. in Lakh
		Particu	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
Education	Educatio n		122.0.1	Sports & Physical Education (Secondary)	1500	0.25000	375	1500	0.25000	375	Recommended as proposed for providing sports equipment in 1500 secondary schools @ Rs. 25000 per school. The utilization of the funds for sports & physical education should be in accordance with the detailed guidelines issued by MOE on 24.12.2018
			122.0. 2	Sports & Physical Education (Sr. Secondary)	398	0.25000	99.5	398	0.25000	99.5	Recommended as proposed for providing sports equipment in 398 senior secondary schools @ Rs. 25000 per school. The utilization of the funds for sports & physical education should be in accordance with the detailed guidelines issued by MOE on 24.12.2018
				Total of Sports & F (upto Highest Class		ication	474.5			474.5	
		Total Educa	of Sports & tion	z Physical			474.5			474.5	
	Total for S	ports &	Physical E	Education			474.50			474.50	
Teacher Education	Technolo gy Support	Fotal for Sports & 2Fechnolo143gy143		Technology Support to TEIs (Recurring)							
	to TEIs		143.0. 1	SCERT (Technology Support)	1	2.40000	2.4	1	2.40000	2.4	Recommended as proposed for SCERT @ Rs. 2.40 lakh for recurring support for ICT lab. It was sanctioned under SamagraShiksha and reported functional.
			143.0. 2	DIETs (Technology Support)	20	2.40000	48	20	2.40000	48	Recommended as proposed for 20 DIETs @ Rs. 2.40 lakh per DIETs. All the 20 DIETs have functional ICT labs which were sanctioned under SamagraShiksha.
				Total of Technolog (Recurring)	y Support to	o TEIs	50.4			50.4	
		Total	of Technolo	ogy Support to TEIs			50.4			50.4	

State Name	:Karnataka a	and Yea	r :2023-202	24							Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	Program & Activities	144		Program & Activiti Development of Tea							
	including Faculty Develop ment of		144.0. 1	Program & Activities (DIET)	30	10.00000	300	30	10.00000	300	Recommended @ Rs 10.00 lakh per DIET for 30 DIETs. This fund will also be utilized for development of local specific contents/resources.
	Teacher Educator s		144.0. 2	Specific projects for Research activities (DIET)	30	10.00000	300	30	5.00000	150	Recommended @ Rs. 5.00 lakh per DIET for 30 functional DIETs. This fund will be utilized for conducting specific research activities such as action researches, dipsticks, etc. State is requested to share with MoE the findings of these studies.
			144.0. 3	Program & Activities (SCERT)	1	35.00000	35	1	35.00000	35	Recommended @ Rs 35.00 lakh for SCERT. This fund will also be utilized for development of local specific contents/resources.
			144.0. 4	Specific programme for Research activities (SCERT)	1	10.00000	10	1	5.00000	5	Recommended @ Rs. 5.00 lakh for SCERT. This fund will be utilized for conducting specific research activities such as action researches, dipsticks, etc. State is requested share with MoE the findings of these studies.
				Total of Program & Faculty Developme Educators			645			490	
			of Progran cher Educ	ators	ng Faculty I	Development	645			490	
	Financial Support	147		Financial Support (Academic Posts)	for Salary i	n TEIs					

State Name	:Karnataka a			24							Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	for Teacher Educator s (TEIs)		147.0.1 147.0.5	DIETs	547	6.40000 7.35000	3500.8 632.1	547	6.40000	3500.8	Recommended for post created and fille after 2012. Central support for salary or Teacher Educators restricted to 60% of the total filled up posts and provided fo 547 Academic posts (Principal-26, Vice Principal-16, Sr. Lecturer/HODs-145 an Lecturer-360) in 30 functional DIETs. Note: State has already restricted the proposal to 60% of the total filled up po for salary of Teacher Educators (Academic Posts)in the 30 DIETs. Recommended for post created and fille
						7.55000	0.2.1	12	1.42750	554.70	after 2012. Central support for salary or Teacher Educators restricted to 60% of the total filled up post and provided for 7 Academic posts (17 Readers and 55 Lecturer) in 6 CTEs(Government). Note: State has already restricted the proposal to 60% of the total filled up po for salary of Teacher Educators (Academic Posts)in the 6 CTEs.
				Total of Financial S TEIs (Academic Po		Salary in	4132.9			4035.58	
			of Financia er Educato	l Support for rs (TEIs)			4132.9			4035.58	
	Training	149		Training for Teach	er Educator	rs				l	

state 1 tulle	:Karnataka a	Partic		••		Proposal				Final Ann	Rs. in Lakh proved Outlay
		1 ai uci	ului 5			Toposai				ւ ատ տրի	novcu Oullay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	of Teacher Educator S		149.0 .1	SCERT	500	0.15000	75	500	0.05000	25	Recommended as appraised for capacity building, Training programmes for faculties in DIETs and SCERT for 10 days @ Rs.500 per person per day in blended mode.
				Total of Training fo	or Teacher	Educators	75			25	
		Total	of Training	of Teacher Educator	rs		75			25	
	DIKSHA (National Teacher Portal)	151		DIKSHA (National	Teacher P	ortal)					
	Portal)		151.0.2	Development of Digital Content Total of DIKSHA (1	1 National Te	101.25000	101.25	1	37.00000	37	Recommended. An amount of Rs. 2 Lakh is recommended for th Development of Digital Conten- including localization of DIKSHA virtu- lab e-resources, Development of Vide lessons for PM e-VIDYA, Concept base short video creation, Development available e-resources (Video) in Sig language, Development of Toy base pedagogy videos, and also for an workshops/technical sessions/webinars/orientations/enhancing ICT skills, etc., and uploading of DIKSHA for the wider benefit of a stakeholders concerned.
				Portal)							
		Portal		(National Teacher			101.25			37	
	Annual Grant for	152		Annual Grant for TEIs							

State Name	:Karnataka a	and Yea	r :2023-202	24							Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	TEIs		152.0.2	DIETs Total of Annual	30	10.00000	300	30	10.00000	300 300	Recommended as proposed for 30 functional DIETs. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment, stationary, office expenses, etc.
		Total	of Annual (Grant for TEIs Grant for TEIs			300			300	
	Total for T	eacher	Education				5304.55			4937.98	
Financial Support for Teachers	Financial Support for Teachers (HMs/Te achers)	154		Financial Support for Salary (Elementary)							

	<u>Han nutunu t</u>	Partici	r :2023-202			Proposal				Final A	Rs. in Lak roved Outlay
		Рагис	ulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			154.0. 10	Financial Support for Teacher Salary (Elementary)	21307	2.10000	44744.7	1	29525.5800 0	29525.58	 With reference to the PAB Minutes 2021 22 of Karnataka Rs. 32806.20 lakh was approve at Elementary level. As state is maintaining the same percentage vacancy of teachers at Elementary level as in 2021-22. Therefore after reduction of 10% in the financial year 2023-24 is Rs. 29525.58 lakh is recommended as Financial Support for Teacher Salary at Elementary level
				Total of Financial S (Elementary)	Support for	Salary	44744.7			29525.58	
		Total	of Financia	l Support for Teache	rs (HMs/Te	achers)	44744.7			29525.58	
	Total for F	inancia	l Support f	or Teachers			44744.70			29525.58	
Gender & Equity	Kasturba Gandhi BalikaVi dyalaya	165		KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)							
	(KGBVs)		165.0. 7	Replacement of bedding (once in 3 years)	39	0.80000	31.2	3900	0.00800	31.2	Recommended @Rs.800/- per girl for 3900 girls in 39 KGBVs (100 girls per KGBV) as proposed.
			165.0. 31	Incinerator Machine	66	0.25000	16.5	18	0.20000	3.6	Recommended 18 incinerators machine with the unit cost of @Rs.20000/- per machine for eligible 18 KGBVs as per UDISE+ Data. (01 incinerator machine in each KGBV
	Total of KGBV - Ty Year) (Classes VI -				(Previous	47.7			34.8		

State Mame	:Karnataka a			2 4		D 1		[E:	Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166		KGBV - Type I (Re Year) (Classes VI -		revious					
			166.0. 1	Food/Lodging per child per month	7750	0.20400	1581	7750	0.20400	1581	Recommended @Rs.1700/- per girl per month for proposed 7750 girls in 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater)
			166.0. 2	Stipend per girl per month	7750	0.01200	93	7750	0.01200	93	Recommended @Rs.100/- per girl per month for proposed 7750 girls in 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater)
			166.0. 3	Supplementary TLM, Stationery and other educational material	7750	0.01000	77.5	7750	0.00500	38.75	Recommended @Rs.500/- per girl per annum for proposed 7750 girls in 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater)
			166.0. 4	1 Warden	66	3.24000	213.84	66	3.24000	213.84	Recommended @Rs.27000/- per mont per warden for posted 66 warden/s in 6 KGBVs. (01 warden in each KGBV)
			166.0.5	1 Head Teacher	23	3.24000	74.52	23	3.24000	74.52	Recommended @Rs.27000/- per month per head teacher for proposed 23 head teachers for 23 KGBVs, where targeted capacity 150 girls in each KGBV. (01 head teacher in each KGBV)
			166.0. 6	4 - 5 Full Time Teachers	264	3.00000	792	260	3.00000	780	Recommended @Rs.25000/- per month per teacher for existing posted 260 full time teachers in 66 KGBVs. (as per Prabandh)
			166.0. 7	2 Urdu Teachers	2	2.04000	4.08	2	2.04000	4.08	Recommended @Rs.17000/- per month per teacher for proposed 02 Urdu teache for 01 KGBVs Sindhanur of Raichur District.

	Karnataka and ' Par	rticulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166.0.8	3 Part Time Teachers	198	1.65000	326.7	198	1.65000	326.7	Recommended @Rs.13750/- per month per teacher for existing posted 198 part time teachers in 66 KGBVs. (03 part time teachers in each KGBV)
		166.0 .9	1 Full Time Accountant	66	1.80000	118.8	66	1.80000	118.8	Recommended @Rs.15000/- per month per accountant for proposed 66 accountants in 66 KGBVs. (01 accountant in each KGBV)
		166.0. 10	2 Support Staff (Accountant/ Assistant, Peon, Chowkidar)	132	1.42480	188.0732	132	1.32000	174.24	Recommended @Rs.11000/- per month per staff for proposed 132 support staff for 66 KGBVs. (02 support staff in each KGBV)
		166.0. 11	1 Head Cook	66	1.58600	104.676	66	1.45200	95.832	Recommended @Rs.12100/- per month per head cook for proposed 66 head cool in 66 KGBVs. (01 head cook in each KGBV)
		166.0. 12	2 Assistant Cook	132	1.54141	203.4662	132	1.32000	174.24	Recommended @Rs.11000/- per month per assistant cook for posted 132 assistan cooks in 66 KGBVs. (02 assistant cooks in each KGBV)
		166.0. 13	Specific skill training per girl	7750	0.00500	38.75	7750	0.00500	38.75	Recommended @Rs.500/- per girl per annum for proposed 7750 girls in 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater)
		166.0. 14	Electricity / Water Charges	66	1.30000	85.8	66	1.00000	66	Recommended @Rs.1.00 lakh per KGB per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0. 15	Medical care / Contingencies	7750	0.01250	96.875	7750	0.01250	96.875	Recommended @Rs.1250/- per girl pe annum for proposed 7750 girls in 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater)

	Pa	rticulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166.0. 16	Maintenance	7750	0.01000	77.5	66	0.45500	30.03	Recommended @Rs.45500/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0. 17	Miscellaneous	7750	0.01000	77.5	66	0.45500	30.03	Recommended @Rs.45500/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0. 18	Preparatory Camps	66	0.07000	4.62	66	0.05000	3.3	Recommended @Rs.5000/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0. 19	P.T.A.	7750	0.00200	15.5	66	0.10000	6.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0. 21	Capacity Building	66	0.10000	6.6	66	0.10000	6.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)
		166.0.22	Physical / Self Defence	7750	0.00200	15.5	66	0.10000	6.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 66 KGBVs. (23 KGBVs - 150 seater) (43 KGBVs - 100 seater) (Total capacity - 7750 girls)

State I talle	:Karnataka a	Partic				Proposal				Final App	Rs. in Lak
						-					-
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				Total of KGBV - Ty (Previous Year) (C			4196.3			3959.79	
		171		KGBV - Type - III -XII)	(NR) (New)	(Classes VI					
			171.0. 1	Construction of building (new) / Upgradation	3	830.46000	2491.38	3	775.00000	2325	recommended as per norms
			171.0. 4	Furniture/ Equipment (including kitchen)	114	0.15000	17.1	114	0.06910	7.8774	Recommended @Rs.6910/- per girl for proposed 114 girls in 03 KGBVs.
			171.0. 5	TLM and equipment including library books	3	0.20000	0.6	3	0.20000	0.6	Recommended @Rs.2000/- per KGBV for 03 KGBVs. (Existing 300 girls + Additional 150 girls
			171.0. 6	Bedding	3	0.80000	2.4	150	0.01600	2.4	Recommended @Rs.1600/- per girl for additional 150 girls in 03 KGBVs. (Additional 50 girls in each KGBV)
				Total of KGBV - Ty (Classes VI -XII)	ype - III (N	R) (New)	2511.48			2335.88	
		172		KGBV - Type - III (Classes VI -XII)	(Recurring)) (New)					
			172.0. 2	Food/Lodging per child per month	450	0.20400	91.8	450	0.20400	91.8	Recommended @Rs.1700/- per girl per month for 450 girls (Existing 300 + additional 150 girls) in existing 05 KGBVs (03 KGBVs - 150 seater)
			172.0. 3	Stipend per girl per month	450	0.01200	5.4	450	0.01200	5.4	Recommended @Rs.100/- per girl per month for 450 girls (Existing 300 + additional 150 girls) in existing 05 KGBVs (03 KGBVs - 150 seater)

State Maine	:Karnataka and	ticulars			Proposal				Final Ann	Rs. in Lakl proved Outlay
	1 ai	uculai s			TToposar				тпа др	novcu Outray
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.0.4	Supplementary TLM, Stationery and other educational material	450	0.01000	4.5	450	0.01000	4.5	Recommended @Rs.1000/- per girl per annum for 450 girls (Existing 300 + additional 150 girls) in existing 03 KGBVs (03 KGBVs - 150 seater)
		172.0.5	1 Warden	3	3.24000	9.72	3	3.24000	9.72	Recommended @Rs.27000/- per month per warden for posted 03 warden/s in 03 KGBVs. (01 warden in each KGBV)
		172.0. 7	3 Part time teachers	9	1.65000	14.85	9	1.65000	14.85	Recommended @Rs.13750/- per month per teacher for 09 part time teachers in 0 KGBVs. (03 part time teachers in each KGBV)
		172.0.8	1 Full time Accountant	3	1.80000	5.4	3	1.80000	5.4	Recommended @Rs.15000/- per month per accountant for 03 accountants in 03 KGBVs. (01 accountant in each KGBV)
		172.0.9	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	6	1.42475	8.54852	6	1.32000	7.92	Recommended @Rs.11000/- per month per staff for 06 support staff for 03 KGBVs. (02 support staff in each KGBV)
		172.0. 10	1 Head Cook	3	1.58533	4.756	3	1.45200	4.356	Recommended @Rs.12100/- per month per head cook for 03 head cooks in 03 KGBVs. (01 head cook in each KGBV)
		172.0. 12	4 Full Time Teachers/Lecturer	24	3.00000	72	24	3.00000	72	Recommended @Rs.25000/- per month per teacher for proposed 24 full time teachers in 03 KGBVs. (08 full time teachers in each KGBV)
		172.0. 13	2 Assistant Cook	12	1.54143	18.4972	9	1.32000	11.88	Recommended @Rs.11000/- per month per assistant cook for 09 assistant cooks in 03 KGBVs. (03 assistant cooks in each KGBV) (150 girls in each KGBV)

	:Karnataka and		-		D				T*1 A	Rs. in Lakl
	Pa	rticulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.0. 14	Specific skill training per girl	450	0.00500	2.25	450	0.00500	2.25	Recommended @Rs.500/- per girl per annum for 450 girls (Existing 300 + additional 150 girls) in existing 03 KGBVs (03 KGBVs - 150 seater)
		172.0. 15	Electricity / Water Charges	3	1.30000	3.9	3	1.30000	3.9	Recommended @Rs.1.30 lakh per KGBV per annum for 03 KGBVs. (3 KGBVs - 150 seater)
		172.0. 16	Medical care / Contingencies	450	0.01250	5.625	450	0.01250	5.625	Recommended @Rs.1250/- per girl per annum for 450 girls (Existing 300 + additional 150 girls) in existing 03 KGBVs (03 KGBVs - 150 seater)
		172.0. 17	Maintenance	450	0.01000	4.5	450	0.01000	4.5	Recommended @Rs.1000/- per girl for 450 girls in 036 KGBVs. (3 KGBVs - 150 seater)
		172.0. 18	Miscellaneous	450	0.01000	4.5	450	0.01000	4.5	Recommended @Rs.1000/- per girl for 450 girls in 036 KGBVs. (3 KGBVs - 150 seater)
		172.0. 19	Preparatory Camps	3	0.07000	0.21	3	0.07000	0.21	Recommended @Rs.7000/- per KGBV per annum for 03 KGBVs. (3 KGBVs - 150 seater)
		172.0. 20	P.T.A.	450	0.00200	0.9	3	0.10000	0.3	Recommended @Rs.10000/- per KGBV per annum for 03 KGBVs. (3 KGBVs - 150 seater)
		172.0. 22	Capacity Building	3	0.10000	0.3	3	0.10000	0.3	Recommended @Rs.10000/- per KGBV per annum for 03 KGBVs. (3 KGBVs - 150 seater)
		172.0. 23	Physical / Self Defence	450	0.00200	0.9	3	0.15000	0.45	Recommended @Rs.10000/- per KGBV per annum for 03 KGBVs. (3 KGBVs - 150 seater)
			Total of KGBV - Ty (New) (Classes VI -		ecurring)	258.56			249.86	

State Name	:Karnataka a			24				I			Rs. in Lakl
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		173		KGBV - Type - III (NR) (Previous Year) (Classes VI -XII)							
			173.0. 1	Construction of building (new) / Upgradation	2	557.73000	1115.46	2	264.00000	528	Recommended Rs.528lakh for Construction building(new)/ upgradation of 2 type III KGVBs @Rs.264 lakh unit cost per KGVB.
			173.0. 7	Replacement of bedding (once in 3 years)	2	0.80000	1.6	2	0.80000	1.6	Recommended @Rs.800/- per girl for 20 girls in 2 KGBVs (100 girls per KGBV as proposed.
			173.0. 31	Incinerator Machine	5	0.25000	1.25	5	0.20000	1	Recommended Rs. 1 lakh for Incinerato in 5 Type III KGVBs @Rs.20000 unit cost.
				Total of KGBV - Ty Year) (Classes VI -		R) (Previous	1118.31			530.6	
		174		KGBV - Type III (I Year) (Classes VI -		Previous					
			174.0 .1	Food/Lodging per child per month	850	0.20400	173.4	850	0.20400	173.4	Recommended @Rs.1700/- per girl per month for 850 girls (Existing 700 + additional 150 girls) in existing 05 KGBVs (02 KGBVs - 200 seater) (03 KGBVs - 150 seater)
			174.0.2	Stipend per girl per month	850	0.01200	10.2	850	0.01200	10.2	Recommended @Rs.100/- per girl per month for 850 girls (Existing 700 + additional 150 girls) in existing 05 KGBVs (02 KGBVs - 200 seater) (03 KGBVs - 150 seater)

	Karnataka and Y Rar	rticulars	-		Proposal				Final App	Rs. in Lak
										·
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		174.0.3	Supplementary TLM, Stationery and other educational material	850	0.01000	8.5	850	0.01000	8.5	Recommended @Rs.1000/- per girl per annum for 850 girls (Existing 700 + additional 150 girls) in existing 05 KGBVs (02 KGBVs - 200 seater) (03 KGBVs - 150 seater)
		174.0. 4	1 Warden	5	3.24000	16.2	5	3.24000	16.2	Recommended @Rs.27000/- per month per warden for posted 05 warden/s in 05 KGBVs. (01 warden in each KGBV)
		174.0. 5	2 Urdu Teachers	2	2.04000	4.08	2	2.04000	4.08	Recommended @Rs.17000/- per month per teacher for proposed 02 Urdu teacher for 01 KGBVs Siddapur (UDISE code- 29070213115)of Koppala District.
		174.0. 6	3 Part time teachers	15	1.65000	24.75	15	1.65000	24.75	Recommended @Rs.13750/- per month per teacher for 15 part time teachers in 0 KGBVs. (03 part time teachers in each KGBV)
		174.0. 7	1 Full time Accountant	5	1.80000	9	5	1.80000	9	Recommended @Rs.15000/- per month per accountant for 05 accountants in 05 KGBVs. (01 accountant in each KGBV)
		174.0. 8	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	10	1.42481	14.24808	10	1.32000	13.2	Recommended @Rs.11000/- per month per staff for 10 support staff for 05 KGBVs. (02 support staff in each KGBV)
		174.0. 9	1 Head Cook	5	1.58603	7.93016	5	1.45200	7.26	Recommended @Rs.12100/- per month per head cook for 05 head cooks in 05 KGBVs. (01 head cook in each KGBV)
		174.0. 10	2 Assistant Cook	20	1.54143	30.8286	20	1.32000	26.4	Recommended @Rs.11000/- per month per assistant cook for existing posted 20 assistant cooks in 05 KGBVs. (04 assistant cooks in each KGBV)

	Pa	rticulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt		Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		174.0. 12	4 Full Time Teachers/Lecturer	40	3.00000	120	23	3.00000	69	Recommended @Rs.25000/- per montl per teacher for existing posted 23 full time teachers in 05 KGBVs. (physical status as per Prabandh)
		174.0 .13	Specific skill training per girl	850	0.00500	4.25	850	0.00500	4.25	Recommended @Rs.500/- per girl per annum for 850 girls (Existing 700 + additional 150 girls) in existing 05 KGBVs (02 KGBVs - 200 seater) (03 KGBVs - 150 seater)
		174.0. 14	Electricity / Water Charges	5	1.30000	6.5	5	1.30000	6.5	Recommended @Rs.1.30 lakh per KGB per annum for existing & functional 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
		174.0. 15	Medical care / Contingencies	850	0.01250	10.625	850	0.01250	10.625	Recommended @Rs.1250/- per girl pe annum for 850 girls (Existing 700 + additional 150 girls) in existing 05 KGBVs (02 KGBVs - 200 seater) (03 KGBVs - 150 seater)
		174.0. 16	Maintenance	5	2.00000	10	850	0.01000	8.5	Recommended @Rs.1000/- per girl fo 850 girls in 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
		174.0. 17	Miscellaneous	5	2.00000	10	850	0.01000	8.5	Recommended @Rs.1000/- per girl fo 850 girls in 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
		174.0 .18	Preparatory Camps	5	0.07000	0.35	5	0.07000	0.35	Recommended @Rs.7000/- per KGBV per annum for existing & functional 0. KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)

State Manie	:Karnataka a	Partic				Proposal				Final Anr	Rs. in Lakl proved Outlay
		1 ai uc	ulai S			TToposar				ւ шա տրե	novcu Outray
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			174.0. 19	P.T.A.	850	0.00200	1.7	5	0.10000	0.5	Recommended @Rs.10000/- per KGBV per annum for existing & functional 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
			174.0. 21	Capacity Building	5	0.10000	0.5	5	0.10000	0.5	Recommended @Rs.10000/- per KGBV per annum for existing & functional 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
			174.0. 22	Physical / Self Defence	850	0.00200	1.7	5	0.15000	0.75	Recommended @Rs.5000/- per month p KGBV for 03 months for existing & functional 05 KGBVs. (2 KGBVs - 200 seater) (3 KGBVs - 150 seater)
			174.0. 29	Assistant Warden	5	2.16000	10.8	5	2.16000	10.8	Recommended @Rs.18000/- per month per warden for proposed 05 assistant warden/s in 05 KGBVs. (01 assistant warden in each KGBV)
				Total of KGBV - T (Previous Year) (Cl			475.56			413.26	
		175		KGBV - Type - IV	(NR) (New)	(Classes IX -	XII)				
			175.0.4	Furniture & Equipment (Including Kitchen)	1	0.50000	0.5	1	0.50000	0.5	Recommended Rs. 50000 for Furniture Equipment(including Kitchen) for 1 Typ IV KGVB.
			175.0. 6	Bedding	1	0.80000	0.8	47	0.00800	0.376	Recommended Rs. 37600 for bedding o 47 girls in proposed Type - IV KGVB @Rs.800 per unit cost.
				Total of KGBV - Type - IV (NR) (New) (Classes IX - XII)			1.3			0.88	

	:Karnataka a	Partic				Proposal				Final Apr	Rs. in Lak proved Outlay
						• F ••••				F T	
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		176		KGBV - Type - IV (Recurring) (New) (Classes IX -XII)							
			176.0. 2	Food/Lodging per child per month	100	0.20400	20.4	50	0.20400	10.2	Recommended Rs. 10.20 lakh for Food Lodging for 50 girls @Rs.20400 unit cos
			176.0. 3	Stipend per girl per month	100	0.01200	1.2	50	0.01200	0.6	Recommended Rs. 0.60 lakh for Stipend per girl per month for 50 girls @Rs.120 unit cost.
			176.0. 6	1 Warden	1	2.16000	2.16	1	2.16000	2.16	Recommended as proposed
			176.0. 7	3 Part time teachers	2	1.44000	2.88	2	1.44000	2.88	Recommended as proposed
			176.0. 8	1 Chowkidar	1	1.42500	1.425	1	1.42500	1.425	Recommended as proposed
			176.0 .9	1 Head Cook	1	1.58600	1.586	1	1.58600	1.586	Recommended as proposed
			176.0. 10	2 Assistant Cook	2	1.54150	3.083	1	1.54150	1.5415	Recommended 1 assistant cook instead 2 for KGVB TYPE IV (New).
			176.0. 13	Electricity / Water Charges	1	1.20000	1.2	1	1.20000	1.2	Recommended as proposed
			176.0. 14	Medical care / Contingencies	100	0.01950	1.95	50	0.01950	0.975	Recommended Rs. 0.975 lakh for medic care/ contingencies for 50 girls @Rs.195 unit cost.
			176.0. 15	Maintenance	1	1.00000	1	1	1.00000	1	Recommended as proposed
			176.0. 16	Miscellaneous	1	1.00000	1	1	0.50000	0.5	Recommended Rs. 50000 for Miscellaneous for type IV KGVB.
				Total of KGBV - Ty (New) (Classes IX -		ecurring)	37.88			24.07	
		177		KGBV - Type - IV (Classes IX -XII)							
			177.0. 14	Incinerator Machine	72	0.25000	18	72	0.20000	14.4	Recommended RS.14.40 Lakh for 72 Type IV KGVB @Rs.20000 unit cost incinerator for each KGVB.
				Total of KGBV -			18			14.4	

State Name	:Karnataka a			24							Rs. in La
		Partic	ulars			Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				Type - IV (NR) (Previous Year) (Classes IX -XII)							
		178		KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)							
			178.0. 1	Food/Lodging per child per month	7200	0.20400	1468.8	6537	0.20400	1333.548	Recommended @Rs.1700/- per girl p month for 6537 girls for existing 72 KGBVs. (functional 71 KGBVs + 01 KGBV, to functional in 2023-24)
			178.0. 2	Stipend per girl per month	7200	0.01200	86.4	6537	0.01200	78.444	Recommended @Rs.100/- per girl per month for 6537 girls for existing 72 KGBVs. (functional 71 KGBVs + 01 KGBV, to functional in 2023-24)
			178.0. 5	1 Warden	72	2.16000	155.52	72	2.16000	155.52	Recommended @Rs.18000/- per mon per warden for 72 warden/s for 72 KGBVs. (01 warden in each KGBV)
			178.0. 6	3 Part time teachers	144	1.44000	207.36	10	1.44000	14.4	Recommended @Rs.12000/- per mon per teacher for existing posted 10 par time teachers in 05 functional KGBV (Physical status as per Prabandh)
			178.0. 7	1 Chowkidar	72	1.42500	102.6	72	1.42500	102.6	Recommended @Rs.11875/- per mon per chowkidar for 72 chowkidar/s for KGBVs. (01 chowkidar in each KGBV)
			178.0.8	1 Head Cook	72	1.58600	114.192	72	1.58400	114.048	Recommended @Rs.13200/- per mon per head cook for 72 head cooks for 7 KGBVs. (01 head cook in each KGBV)

State Name	:Karnataka a			24				1		T * 1 A	Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			178.0 .9	2 Assistant Cook	144	1.54141	221.963	140	1.32000	184.8	Recommended @Rs.11000/- per month per assistant cook for 140 assistant cooks for 72 KGBV. (Existing posted 138 assistant cooks in functional 71 KGBVs and 02 assistant cooks for 01 KGBV, to be made functional in 2023-24)
			178.0. 12	Electricity / Water Charges	72	1.20000	86.4	72	1.20000	86.4	Recommended @Rs.1.20 lakh per KGBV per annum for 72 KGBVs. (existing functional 71 KGBVs + 01 KGBV, to be functional in 2023-24)
			178.0. 13	Medical care / Contingencies	7200	0.01950	140.4	6537	0.01500	98.055	Recommended @Rs.1500/- per girl per annum for 6537 girls in 72 KGBVs. (existing functional 71 KGBVs + 01 KGBV, to be functional in 2023-24)
			178.0. 14	Maintenance	72	1.00000	72	72	1.00000	72	Recommended @Rs.1.00 lakh per KGBV per annum for 72 KGBVs. (existing functional 71 KGBVs + 01 KGBV, to be functional in 2023-24)
			178.0. 15	Miscellaneous	72	1.00000	72	72	1.00000	72	Recommended @Rs.1.00 lakh per KGBV per annum for 72 KGBVs. (existing functional 71 KGBVs + 01 KGBV, to be functional in 2023-24)
				Total of KGBV - Ty (Previous Year) (Cl			2727.64			2311.82	
			of Kasturba Vidyalaya				11392.73			9875.35	
	Rani Laxmibai	183		Rani LaxmibaiAtm Class X or XII)	aRakshaPr	ashikshan (up	to Highest				
	AtmaRak shaPrashi kshan		183.0. 1	Rani LaxmibaiAtmaRak shaPrashikshan (Upto Class X or XII)	5307	0.03000	159.21	5307	0.03000	159.21	Recommended Rs. 159.21 lakh for self defense training for girls in 5307 schools @Rs.3000 per school.
				Total of Rani LaxmibaiAtmaRa			159.21			159.21	

	:Karnataka a	Partici		2 7		Proposal				Final Ann	Rs. in Lak roved Outlay
		raruci	nars			Proposal				ғша Арр	roved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				kshaPrashikshan (upto Highest Class X or XII)							
			of Rani	akshaPrashikshan			159.21			159.21	
	Special Projects for	185	DalAthan	Special Projects for Equity - (NR) (Secondary)							
	Equity		185.0. 1	Incinerator Machines (Upto Class XII))	198	0.25000	49.5	125	0.20000	25	Recommended @Rs. 20,000 per schoo for 125 eligible schools. (UDISE 2021 22)
				Total of Special Pro (Secondary)	ojects for E	quity - (NR)	49.5			25	
		190		Project- Girls Emp	owerment	(Secondary)					
			190.0. 1	Adolescent Programme for Girls Students	5307	0.00500	26.535	5307	0.00500	26.535	Recommended Rs. 26.535 lakh for adolescent girls program for 5307 schoo @Rs.500 per school. it is related to awareness generation on health & hygiene, nutrition related issues as well Social issues such as harassment, violer and abuse, life skills and livelihood etc
			190.0. 2	Career Guidance Programme for Girls	5307	0.01000	53.07	5307	0.01000	53.07	Recommended Rs.53.07 lakh for 530 schools @Rs.1000 per school for Care Guidance Program for Girls, as per th proposal A career Guidance cell will b established as per the recommendations the Task Force for Skill development, collaboration with Karnataka Skill Development Corporation.
				Total of Project- Gi (Secondary)	irls Empow	erment	79.6			79.6	
		Total	of Special I	Projects for Equity			129.1			104.6	
	Total for C	Gender &	& Equity				11681.04			10139.16	

		Partic	ulars			Proposal		Final Approved Outlay				
		1 ai tici	ului 5			Toposai				т шаг Арр	loved Outlay	
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
Inclusive Education	Provision for Children with Special	198		Student Oriented Components (Upto Class - VIII) (Distri (Recurring)								
	Needs (CWSN)		198.0. 2	Sports & Exposure Visit	204	0.20000	40.8	35	1.10000	38.5	Recommended for sports activities for CwSN across all districts.	
			198.0. 3	Therapeutic Services	204	1.20000	244.8	35	6.99000	244.65	Recommended for physiotherpay, occupational therapy and speech therapy etc. for all 35 districts.	
			198.0. 4	Orientation of Principals, Educational administrators, parents / guardians etc.	1750	0.00150	2.625	35	0.07500	2.625	Recommended for orientation programs for all districts.	
				Total of Student Or (Upto Highest Class (Recurring)			288.22			285.78		
		199		Student Oriented C Highest Class - VII (Recurring)								
			199.0. 4	Assistive Devices,Equipmen ts and TLM	204	0.20000	40.8	204	0.02000	4.08	Recommended for learning and play materials for BRCs with a unit cost of Rs.2,000/BRC.	
			199.0. 5	Environment Building programme	204	0.10000	20.4	204	0.10000	20.4	Recommended as proposed.	
				Total of Student Or (Upto Highest Class (Recurring)			61.2			24.48		

State Name	:Karnataka a			24				1			Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		200		Student Oriented C VIII) (Student Spec			t Class -				
			200.0.3	Escort Allowance	3886	0.03000	116.58	3745	0.03000	112.35	Recommended for 3745 escorts for children with visual impairment, cerebra palsy & muscular dystrophy as per UDISE+, with a unit cost of Rs.300/month for 10 months.
			200.0.4	Transport Allowance	24288	0.03500	850.08	23935	0.03500	837.725	Recommended for 23935 children with locomotor disabilities, cerebral palsy, intellectual disability, muscular dystroph & multiple disabilities (as per UDISE+) with a unit cost of Rs.350/month for 10 months.
			200.0.7	Providing Aids & Appliances	27835	0.02500	695.875	27835	0.02500	695.875	Recommended as proposed, for 27835 CwSN with a unit cost of Rs 2500/- (ar average unit cost) per CwSN. This activity is to be undertaken after conducting identification & assessment camps. State may seek further support through line Departments/organizations.
			200.0.8	Reader Allowance- For only VI and Low vision	7521	0.02000	150.42	7203	0.02000	144.06	ecommended for 7203 readers for children with visual impairment & low vision only (as per UDISE+).
				Total of Student Or (Upto Highest Class Specific) (Recurrin	s - VIII) (St g)	udent	1812.96			1790.01	
		201		Stipend for Girls (U VIII) (Recurring)		t Class -					

State Name	:Karnataka a			24				1			Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			201.0 .1	Stipend for Girls	28258	0.02000	565.16	27614	0.02000	552.28	Recommended for 27614 girls with special needs as per UDISE+, with a unit cost of Rs. 200/- month for 10 months. The stipend is to be disbursed through DBT.
				Total of Stipend for Class - VIII) (Recu		o Highest	565.16			552.28	
		202		Student Oriented C (District Level) (Re		(Upto Highes	t Class - XII)				
			202.0. 2	Sports & Exposure Visit	204	0.20000	40.8	35	1.10000	38.5	Recommended for sports activities for CwSN across all distircts.
			202.0.4	Orientation of Principals, Educational administrators, parents / guardians etc.	1750	0.00250	4.375	35	0.12500	4.375	Recommended for orientation of district and block and school heads etc. for all districts.
				Total of Student Or (Upto Highest Class (Recurring)			45.18			42.88	
		203		Student Oriented C (Block Level) (Rec		(Upto Highes	t Class - XII)				
			203.0.4	Assistive Devices,Equipmen ts and TLM	204	0.20000	40.8	204	0.02000	4.08	Recommended for learning materials such as learning kits, maps and charts in Braille etc. for BRCs with a unit cost of Rs.2,000/BRC.
			203.0. 5	Environment Building programme	204	0.10000	20.4	204	0.10000	20.4	Recommended as proposed.

state 1 tuffle	:Karnataka a	Partic				Proposal				Final Ann	Rs. in Lakh roved Outlay
		1 ai tic	ului s			Toposai				т ша трр	novcu Oullay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			203.0. 6	Helper/Ayas/Atten dant	204	0.60000	122.4	204	0.60000	122.4	Recommended as proposed for honorarium of child care attendants (in position only) at SRP Centres for CwSN at a unit cost of Rs. 6000/- per month for 10 months.
		204	Total of Student Or (Upto Highest Class (Recurring)	s - XII) (Blo	ck Level)	183.6			146.88		
		204 204.0.3	Student Oriented C Highest Class - XII (Recurring)) (Student S	pecific)						
			204.0. 3	Escort Allowance	1908	0.03000	57.24	1839	0.03000	55.17	Recommended for 1839 escorts for children with visual impairment, muscula dystrophy and cerebral palsy (as per UDISE+) with a unit cost of Rs.300/month for 10 months.
			204.0 .4	Transport Allowance	5705	0.03500	199.675	5492	0.03500	192.22	Recommended for 5492 children with locomotor disabilities, cerebral palsy, musicular dystrophy & multiple disabilities (as per UDISE+), with a unit cost of Rs.350/month for 10 months.
			204.0.7	Providing Aids & Appliances	9818	0.02500	245.45	9818	0.02500	245.45	Recommended as proposed, for 9818 CwSN with a unit cost of Rs 2500/- (an average unit cost) per CwSN. This activity is to be undertaken after conducting identification & assessment camps. State may seek further support through line Departments/organizations.
			204.0. 8	Reader Allowance- For only VI and Low vision	4091	0.02000	81.82	3895	0.02000	77.9	Recommended for 3895 readers for children with visual impairment and low vision only (as per UDISE+).
				Total of Student Or (Upto Highest Class Specific) (Recurrin	s - XII) (Stu		584.18			570.74	

State Name	:Karnataka a			24				1		T • 1 4	Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		205		Stipend for Girls (U	pto Highes	t Class -					
				XII) (Recurring)							
			205.0. 1	Stipend for Girls	8115	0.02000	162.3	7771	0.02000	155.42	Recommended for 7771 girls with special needs as per UDISE+, with a unit cost of Rs. 200/- month for 10 months. The stipend is to be disbursed through DBT.
				Total of Stipend for Class - XII) (Recur		o Highest	162.3			155.42	
		206		Identification & Assessment (up to Highest Class VIII)							
			206.0. 1	Identification and	204	0.10000	20.4	204	0.10000	20.4	Rs. 10,000/- per block may be considere
			200.0.1	Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	204	0.10000	20.4	204	0.10000	20.4	 (as per norms), for annual identification camps for CwSNupto class XII. Camps to be held in convergence with Departments of Health & Social welfare
				Total of Identificati Highest Class VIII)	on & Asses	sment (up to	20.4			20.4	
		207		Identification & As	sessment (U	J pto Highest					
				Class - XII)							
			207.0.1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	204	0.10000	20.4	204	0.10000	20.4	 Rs. 10,000/- per block may be considere (as per norms), for annual identification camps for CwSNupto class XII. Camps to be held in convergence with Departments of Health & Social welfare
				Total of Identificati Highest Class - XII		sment (Upto	20.4			20.4	-
		208		Capacity Building ((up to Highest Class		ducators					

State Maine	:Karnataka a	Partici		24		Duenegal				Einel Ann	Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			208.0.1	In-service Training of Special Educators (Upto Highest Class VIII)	408	0.05000	20.4	408	0.05000	20.4	Recommended as proposed for 10 days capacity building program for 408 speci- educators with a unit cost of Rs.500/day/special educator.
				Total of Capacity B Educators (up to H			20.4			20.4	
		209		Capacity Building of (up to Highest Class		ducators					
			209.0. 1	In-service Training of Special Educators (Upto Highest Class XII)	408	0.05000	20.4	408	0.05000	20.4	Recommended as proposed for 10 days capacity building program, with a unit cost of Rs.500/day/special educator.
				Total of Capacity B Educators (up to H			20.4			20.4	
		210		Resource Support t Highest Class VIII)							
			210.0. 1	Financial Support (Previous Spl. Educators)	408	2.40000	979.2	408	2.40000	979.2	Recommended as proposed for 408 special educators (in-position) at a unit cost of Rs. 25000/-per month for 12 months.
				Total of Resource S (Upto Highest Class			979.2			979.2	
		212		Strengthening Com Inclusive Education XII) (NR)							

State Name	:Karnataka a	nd Yea	r :2023-202	24							Rs. in Lakh
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			212.0.1	Equipments for Resource Rooms	52	2.00000	104	51	2.00000	102	Recommended for 51 (one per block) resource centres, with a unit cost of Rs. 2.0 lakh/BRC for CwSNupto class XII, subject to submission & verification of details by the State. This support is for equipments in resource rooms and is a one time grant (once in 5 years).
				Total of Strengthen Inclusive Education XII) (NR)			104			102	
		213		Resource Support t Highest Class XII)							
			213.0. 1	Financial Support (Previous Spl. Educators)	408	3.00000	1224	408	3.00000	1224	Recommended as proposed for 408 special educators (in-position) at a unit cost of Rs. 25000/-per month for 12 months.
				Total of Resource S (Upto Highest Class			1224			1224	
				n for Children with S	pecial Need	ls (CWSN)	6091.6			5955.26	
Vocational	Total for In Introduct	nclusive	Education	Introduction of VE	in schools	- NR	6091.60			5955.26	
Education	ion of Vocation al Educatio		214.0. 1	Tools, Equipment & Furniture (New)	100	2.50000	250	100	2.50000	250	Recommended for 100 single sector model schools.
	n at Secondar	1 -		Total of Introduction		schools -	250			250	
	y and	215		Recurring Support	VE - New						

State Maine	:Karnataka	Partic				Proposal				Final Ann	Rs. in Lakl roved Outlay
		1 ai tic	ului 5			Toposai				т ша Арр	Torca Gaday
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	higher Secondar y		215.0.1	Financial Support for Vocational Teacher/ Trainer (New)	100	2.00000	200	100	1.20000	120	Recommended notional support for 6 months for 1 trainers per school
			215.0. 2	Financial Support for Resource Persons (New)	100	1.50000	150	100	0.31300	31.3	Recommended as per norms for 100 schools.
			215.0 .3	Raw material Grant for new school per course (New)	100	0.60000	60	100	0.56300	56.3	Recommended as per norms for 100 schools.
			215.0.4	Cost of providing Hands on Skill Training to Students (New)	100	0.60000	60	100	0.30000	30	Recommended as per norms for 100 schools.
			215.0.6	Office Expenses / Contingencies for New School (New)	100	0.50000	50	100	0.25000	25	Recommended as per norms for 100 schools.
			215.0.7	Induction training of Teachers VE - Teachers (10 Days)	100	0.00500	0.5	100	0.00500	0.5	Recommended as per norms for 100 schools.
			215.0.8	Recurring Support to Hub and Spoke Model	140	5.00000	700	9	1.12500	10.125	Considered for 9 Hub schools where students of 9 spoke schools will be provided VE practical training.
			215.0.9	Transportation allowance for Children from Spoke to Hub School	3500	0.03000	105	400	0.03000	12	Recommended for 400 students of 9 spoke schools @ Rs.3000 per student for travelling to Hub school.
				Total of Recurring			1325.5			285.22	
		217		Recurring Support		-					
			217.0. 1	Financial Support for Vocational Teacher/ Trainer (Existing)	465	3.00000	1395	465	3.00000	1395	Recommended as per proposal

	:Karnataka a	Particu				Proposal				Final App	roved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica l	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			217.0. 2	Financial Support for Resource Persons (Existing)	267	0.50000	133.5	267	0.50000	133.5	Recommended as per proposal
			217.0. 3	Raw material grant for new school per course (Existing)	267	0.75000	200.25	267	0.75000	200.25	Recommended as per proposal
			217.0. 4	Cost of providing Hands Training Students (Existing)	267	0.75000	200.25	267	0.75000	200.25	Recommended as per proposal
			217.0.5	Assessment and Certification Cost (Existing)	7998	0.00600	47.988	7998	0.00600	47.988	Recommended as proposed for assessment of students of class 10th an 12th
			217.0. 6	Office Expenses / Contingencies for School (Existing)	267	1.50000	400.5	267	1.50000	400.5	Recommended as per norms
			217.0.7	Induction training of VE - Teachers (10 Days) - (Existing)	47	0.00500	0.235	47	0.00500	0.235	Recommended as per norms
			217.0 .8	In-service Training of VE - Teachers (5 - Days) - (Existing)	419	0.00500	2.095	419	0.00500	2.095	Recommended as per proposal under norms
				Total of Recurring	Support VI	E - Existing	2379.82			2379.82	
		and hi	gher Secon		lucation at S	Secondary	3955.32			2915.04	
	Total for V		al Educatio				3955.32			2915.04	
Monitorin g of the Scheme	Monitori ng Informati	219	219.0. 2	Monitoring of the S Child Tracking System	6543779	0.00002	130.87558	6543779	0.00002	130.87558	Recommended as proposed
	on System (MIS)			Management Information System (Udise +)	6543779	0.00003	196.31337	6543779	0.00003	196.31337	Recommended as proposed
				Total of Monitoring	g of the Sch	eme	327.19			327.19	

State Name	:Karnataka a			24				1			Rs. in Lak
		Partic	ulars			Proposal				Final App	proved Outlay
Major Compone nt	Sub Compone nt			Activity Master	Physica 1	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		219. 20		VidhyaSamiksha k (EE/SE/TE)	Kendra (Rec	urring)					
			219.2. 14	VidyaSamiksha Kendra (Recurring)	1	100.00000	100	1	85.00000	85	Recommended Rs.85.00 lakh recurring cost for VidyaSamiksha Kendra.
				Total of VidhyaSan (Recurring) (EE/S	SE/TE)	dra	100			85	
				ng Information Syst	em (MIS)		427.19			412.19	
	Total for N	Aonitori	ing of the S	cheme			427.19			412.19	
Program Managem	Program Manage	221		Program Managen (MMER - E.E / S.F							
ent	ment		221.0. 1	Program Management (MMMER - E.E / S.E. / T.E.)	1	9749.83000	9749.83	1	7551.5200	7551.52	Recommended @ 5%
				Total of Program M E.E / S.E. / T.E.)	Managemen	t (MMER -	9749.83			7551.52	
		Total	of Program	Management			9749.83			7551.52	
	Total for P						9749.83			7551.52	
Total							192953.82			158581.91	
Innovation Be Recomm (5%):	ended		56 (Rs.in lal	kh)	Recomme Innovatio	ended Under P m	roject	4870.69 (1	Rs.in lakh)	1	Percentage:3.07 %
Generated a	as on Monday	, March	n 13, 2023								
					pproval						
Schem	e Name		NonRecu	rring H	Recurring	Т	otal				
Elementary			3928.5		31860.75		789.32				
Secondary I			4563.9		13290.69		54.61				
Teacher Ed	ucation		0		4937.98	493	37.98				
To	otal		8492.4	19 1	50089.42	158	581.91				

Teacher Education		Proposal			Final Approval	l
Major Components	Non recuring	Recuring	Total	Non recuring	Recuring	Total
BITEs	0.00	0.00	0.00	0	0	0
CTEs		632.10	632.10	0	534.78	534.78
DIETs	0.00	4448.80	4448.80	0	4298.8	4298.8
IASEs		0.00	0.00	0	0	0
SCERT	0.00	223.65	223.65	0	104.4	104.4
Total	0.00	5304.55	5304.55	0	4937.98	4937.98

Annexure IV A

ECCE (60 Additional School list)

District Name	School Management	School Name	School Category	UDISE code	Class start from	class to	Total Anganwadi centre enrolment	Total pre primary Enrolmen t
BELAGAVI	Department of Education	KARNATAKA PUBLIC SCHOOLS KANNADA HIGHER PRIMARY SCHOOL K K KOPP	Upper Primary with grades 1 to 8	29010407201	1	7	0	0
BELAGAVI	Department of Education	KHPS HUNASHIKATTI HUNASIKATTI	Upper Primary with grades 1 to 8	29010204803	1	7	0	0
BELAGAVI CHIKKODI	Department of Education	KARNATAKA PUBLIC SCHOOLS Govt Kannada Higher Primary Girls School RAIBAG	Upper Primary with grades 1 to 8	29301006202	1	7	0	90
BELAGAVI CHIKKODI	Department of Education	KARNATAKA PUBLIC SCHOOLS Govt Kannada Higher Primary School NADI- INGALGAON	Upper Primary with grades 1 to 8	29300106001	1	7	0	59
BELAGAVI CHIKKODI	Department of Education	KARNATAKA PUBLIC SCHOOLS KHPS YARAGATTI	Upper Primary with grades 1 to 8	29300710001	1	7	0	148
BENGALURU U NORTH	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS BAGALUR COLONY	Upper Primary with grades 1 to 8	29280706311	1	7	31	54
BENGALURU U SOUTH	Department of Education	KARNATAKA PUBLIC SCHOOLS KPS NEW VANIVILAS V V PURAM	Upper Primary with grades 1 to 8	29200124203	1	7	0	68
BENGALURU U SOUTH	Department of Education	KARNATAKA PUBLIC SCHOOLS KPS sarakki	Upper Primary with grades 1 to 8	29200141907	1	7	25	177
CHIKKAMANGA LURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GMHPBS N R PURA	Upper Primary with grades 1 to 8	29170350504	1	8	0	91
DAKSHINA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOL GANDHINAGARA -PRIMARY	Upper Primary with grades 1 to 8	29240505502	1	8	45	102
DAKSHINA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOLS KUMBRA - PRIMARY	Upper Primary with grades 1 to 8	29240406701	1	7	22	95
DAKSHINA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOLS MIJAR - PRIMARY	Upper Primary with grades 1 to 8	29240700103	1	7	16	81
DAVANAGERE	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS - DODDABATHI	Upper Primary with grades 1 to 8	29140201501	1	8	0	60
DAVANAGERE	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS - KUKKUWADA	Upper Primary with grades 1 to 8	29140301701	1	7	0	60
DAVANAGERE	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS - SASVEHALLI	Upper Primary with grades 1 to 8	29140505101	1	8	20	71

District Name	School Management	School Name	School Category	UDISE code	Class start from	class to	Total Anganwadi centre enrolment	Total pre primary Enrolmen t
DAVANAGERE	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS BOYS(MODEL)-THYAVANIGE	Upper Primary with grades 1 to 8	29140120701	1	7	0	0
DHARWAD	Department of Education	KARNATAKA PUBLIC SCHOOLS KPS BIDNAL , HUBLI CITY	Upper Primary with grades 1 to 8	29090606604	1	7	0	116
HASSAN	Department of Education	Govt Higher Primary School SOMANAHALLY TGT	Upper Primary with grades 1 to 8	29230711101	1	8	0	0
HASSAN	Department of Education	GOVT KARNATAKA BOYS MIDDLE SCHOOL PETE HOLENARASIPURA	Upper Primary with grades 1 to 8	29230612107	1	7	0	0
MANDYA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS HALAGUR	Upper Primary with grades 1 to 8	29220306001	1	8	10	0
MYSURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS RAVANDURU	Upper Primary with grades 1 to 8	29261016107	1	8	0	122
MYSURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GJC MUGURU	Higher Secondary with grades 1 to 12	29261113607	1	12	0	0
MYSURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVERNMENT HIGHER PRIMARY SCHOOL MANCHE GOWDANA.KOPPALU	Upper Primary with grades 1 to 8	29260805401	1	8	34	60
RAMANAGARA	Department of Education	KARNATAKA PUBLIC SCHOOLS GJC ARALALUSANDRA	Higher Secondary with grades 1 to 12	29320708803	1	12	0	98
RAMANAGARA	Department of Education	KARNATAKA PUBLIC SCHOOLS GMPS THIPPASANDRA	Upper Primary with grades 1 to 8	29320502303	1	7	0	67
SHIVAMOGGA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS GAJANURU	Upper Primary with grades 1 to 8	29150517701	1	8	0	66
SHIVAMOGGA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS K.R PURAM	Upper Primary with grades 1 to 8	29150523279	1	7	0	83
SHIVAMOGGA	Department of Education	KARNATAKA PUBLIC SCHOOLS GMHPS KAMMACHI	Upper Primary with grades 1 to 8	29150215601	1	7	0	66
TUMAKURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GLPS K R GIRLS SCHOOL Ward-16	Upper Primary with grades 1 to 8	29180902517	1	7	0	46
TUMAKURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GMHPS C.S.PURA	Upper Primary with grades 1 to 8	29180213901	1	7	0	59
TUMAKURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT. GHPS MODEL NONAVINAKERE	Upper Primary with grades 1 to 8	29180803401	1	7	15	126
UTTARA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOL BAILUR	Secondary with grades 1 to 10	29100900101	1	10	0	60

District Name	School Management	School Name	School Category	UDISE code	Class start from	class to	Total Anganwadi centre enrolment	Total pre primary Enrolmen t
UTTARA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOLS G M H P S AMADALLI	Upper Primary with grades 1 to 8	29100205201	1	7	60	59
UTTARA KANNADA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS SANTEGULI	Upper Primary with grades 1 to 8	29100509801	1	7	35	31
UTTARA KANNADA SIRSI	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT.GHPS MODEL MALAGI	Upper Primary with grades 1 to 8	29341007301	1	8	0	56
UTTARA KANNADA SIRSI	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT.HIGHER PRIMARY SCHOOL MURKAWAD	Upper Primary with grades 1 to 8	29340416401	1	8	0	57
VIJAYAPURA	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT KGMPS NO 1	Upper Primary with grades 1 to 8	29031400911	1	7	0	0
BENGALURU U SOUTH	Department of Education	KARNATAKA PUBLIC SCHOOLS KPS NEW VANIVILAS V V PURAM	Upper Primary with grades 1 to 8	29200124203	1	7	0	68
CHIKKABALLAP URA	Department of Education	LPS MANDIKAL	Primary only with grades 1 to 5	29290315502	1	5	0	64
CHITRADURGA	Department of Education	GHPS HARIYABBE	Upper Primary with grades 1 to 8	29130306501	1	8	0	0
CHITRADURGA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS MARADIHALLI	Upper Primary with grades 1 to 8	29130300402	1	7	8	112
DAVANAGERE	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS-BANNIKODU	Upper Primary with grades 1 to 8	29140400301	1	8	0	114
DHARWAD	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS NAVANAGAR	Upper Primary with grades 1 to 8	29090210103	1	8	0	61
DHARWAD	Department of Education	KARNATAKA PUBLIC SCHOOLS GMPS GOPANAKOPPA	Upper Primary with grades 1 to 8	29090205908	1	8	0	60
HASSAN	Department of Education	GLPS ARALEPETE	Primary only with grades 1 to 5	29230625402	1	5	0	0
HAVERI	Department of Education	GOVT HIGHER PRIMARY KANNADA GIRLS SCHOOL BYADAGI	Upper Primary with grades 1 to 8	29110110601	1	7	0	0
HAVERI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS KAN SCHOOL NULAGERI	Upper Primary with grades 1 to 8	29110709101	1	7	27	0
KALBURGI	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT MPS MAHATMA BASAVESWAR NAGAR	Upper Primary with grades 1 to 8	29041108720	1	8	0	82
KOLAR	Department of Education	KARNATAKA PUBLIC SCHOOLS GMHPS KYALANUR	Upper Primary with grades 1 to 8	29190720901	1	7	20	76

District Name	School Management	School Name	School Category	UDISE code	Class start from	class to	Total Anganwadi centre enrolment	Total pre primary Enrolmen t
MYSURU	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVERNMENT HIGHER PRIMARY SCHOOL YELWALA	Upper Primary with grades 1 to 8	29260800101	1	8	0	67
RAMANAGARA	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS MODEL HAROHALLI	Upper Primary with grades 1 to 8	29320801801	1	8	0	109
TUMAKURU MADHUGIRI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS IRAKASANDRA COLONY	Upper Primary with grades 1 to 8	29310316102	1	7	0	0
TUMAKURU MADHUGIRI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS KOTAGUDDA	Upper Primary with grades 1 to 8	29310509101	1	7	51	0
TUMAKURU MADHUGIRI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS PATTANAYAKANAHALLI	Upper Primary with grades 1 to 8	29310604019	1	8	33	63
TUMAKURU MADHUGIRI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS THIRUMANI	Upper Primary with grades 1 to 8	29310511501	1	7	45	39
UDUPI	Department of Education	GMHPS HIRIYADKA - BOMMARABETTU	Upper Primary with grades 1 to 8	29160202010	1	8	0	174
UDUPI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS BIDKALKATTE - MOLAHALLI	Upper Primary with grades 1 to 8	29160308904	1	7	0	95
UDUPI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS HOSMARU EEDU - EEDU	Upper Primary with grades 1 to 8	29160104702	1	7	0	63
UDUPI	Department of Education	KARNATAKA PUBLIC SCHOOLS GHPS MUNIYALU - VARANGA	Upper Primary with grades 1 to 8	29160101001	1	7	0	107
VIJAYAPURA	Department of Education	KARNATAKA PUBLIC SCHOOLS GOVT MLA MPS NAGATHAN	Upper Primary with grades 1 to 8	29030508301	1	7	0	101

Annexure IV B

ECCE 262 Schools

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
BAGALKOT	Department of Education	GOVT- GIRLS HIGHER PRIMARY SCHOOL LOKAPUR	Upper Primary with grades 1 to 8	29021104303	1	8	0	0
BAGALKOT	Department of Education	GOVT- HIGHER PRIMARY SCHOOL AND HIGH SCHOOL MUTTALAGERI (RMSA)	Secondary with grades 1 to 10	29020111001	1	10	0	0
BAGALKOT	Department of Education	GOVT- HIGHER PRIMARY SCHOOL KARADIGUDD SN	Upper Primary with grades 1 to 8	29020107602	1	8	0	0
BAGALKOT	Department of Education	GOVT- HIGHER PRIMARY SCHOOL MANNIKERI	Upper Primary with grades 1 to 8	29020604801	1	8	0	0
BAGALKOT	Department of Education	GOVT- KB HIGHER PRIMARY SCHOOL CHOUDAPUR	Upper Primary with grades 1 to 8	29020202501	1	8	0	0
BAGALKOT	Department of Education	GOVT- MODEL KANNADA GIRLS PRIMARY SCHOOL MUDHOL	Upper Primary with grades 1 to 8	29021113803	1	8	0	0
BAGALKOT	Department of Education	GOVT-KANNADA BOYS HIGHER PRIMARY SCHOOL VADAGERI	Upper Primary with grades 1 to 8	29020715201	1	7	0	0
BAGALKOT	Department of Education	GOVT-KANNADA GIRLS HIGHER PRIMARY SCHOOL SULEBHAVI	Upper Primary with grades 1 to 8	29020714202	1	7	0	0
BAGALKOT	Department of Education	GOVT BOYS HPS HIPPARGI	Upper Primary with grades 1 to 8	29020902001	1	8	0	0
BAGALKOT	Department of Education	GOVT HPS SANAL	Upper Primary with grades 1 to 8	29020905701	1	8	31	0
BALLARI	Department of Education	GHPS HOSA DAROJI	Upper Primary with grades 1 to 8	29120707404	1	8	0	0
BALLARI	Department of Education	GHPS BYLOOR	Upper Primary with grades 1 to 8	29120902801	1	8	0	0
BALLARI	Department of Education	GLPS VALMIKI NAGARA KUDITHINI	Primary only with grades 1 to 5	29120105317	1	5	0	0
BALLARI	Department of Education	GMHPS KARUR	Upper Primary with grades 1 to 8	29120804001	1	7	0	0
BELAGAVI	Department of Education	K.H.P.S. BAILUR	Upper Primary with grades 1 to 8	29010201601	1	7	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY BOYS SCHOOL CHACHADI	Upper Primary with grades 1 to 8	29011201301	1	8	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL BIDI	Upper Primary with grades 1 to 8	29010803001	1	8	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL CHILAMUR	Upper Primary with grades 1 to 8	29011101701	1	8	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL HANDUR	Upper Primary with grades 1 to 8	29010808801	1	8	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL HOSAKOTI	Upper Primary with grades 1 to 8	29011104101	1	7	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL KARDIGUDDI	Upper Primary with grades 1 to 8	29010405601	1	8	0	0
BELAGAVI	Department of Education	KANNADA HIGHER PRIMARY SCHOOL NO.24 MAHANTESH NAGAR	Upper Primary with grades 1 to 8	29010305301	1	8	0	0
BELAGAVI	Department of Education	KHPS KUVEMPU NESARGI NESARGI	Upper Primary with grades 1 to 8	29010209807	1	7	0	0
BELAGAVI	Department of Education	MARATHI HIGHER PRIMARY SCHOOL YELLURWADI YELLUR	Upper Primary with grades 1 to 8	29010412204	1	7	0	0
BELAGAVI CHIKKODI	Department of Education	Department of Education Kannada Higher Primary School NO ONE Nippani	Upper Primary with grades 1 to 8	29300905701	1	7	0	0
BELAGAVI CHIKKODI	Department of Education	Govt Kannada Higher Primary and Upgraded RMSA Secondary School BENACHANAMARADI (K)	Secondary with grades 1 to 10	29300618501	1	10	0	0
BELAGAVI CHIKKODI	Department of Education	Govt Kannada Higher Primary School KHADAKALAT	Upper Primary with grades 1 to 8	29300505901	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	Govt Kannada Higher Primary School KHAVATKOPPA	Upper Primary with grades 1 to 8	29300104701	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	Govt Kannada Higher Primary School MOLE	Upper Primary with grades 1 to 8	29301301001	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	Govt Kannada Higher Primary School NO 1 WARD NO 23	Upper Primary with grades 1 to 8	29300518301	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	K.H.P.G.S.MUDALGI	Upper Primary with grades 1 to 8	29301409002	1	7	0	0
BELAGAVI CHIKKODI	Department of Education	KHPS HUNNUR MASTIHOLI	Upper Primary with grades 1 to 8	29300706705	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	KHPS SARAPUR	Upper Primary with grades 1 to 8	29300709501	1	8	0	0
BELAGAVI CHIKKODI	Department of Education	KHPS VIJAYANAGAR	Upper Primary with grades 1 to 8	29300513301	1	8	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
BENGALURU RURAL	Department of Education	G KBMS HOSAKOTE	Upper Primary with grades 1 to 8	29210422011	1	8	0	0
BENGALURU RURAL	Department of Education	GHPS ARISINAKUNTE COLONY	Upper Primary with grades 1 to 8	29210115302	1	7	0	0
BENGALURU RURAL	Department of Education	GHPS BHASHETTIHALLI	Upper Primary with grades 1 to 8	29210215201	1	8	0	0
BENGALURU RURAL	Department of Education	GHPS BOODIGERE	Upper Primary with grades 1 to 8	29210316501	1	8	15	0
BENGALURU RURAL	Department of Education	GHPS KONAGHATTA	Secondary with grades 1 to 10	29210211501	1	10	0	0
BENGALURU RURAL	Department of Education	GHPS MALLASANDRA	Upper Primary with grades 1 to 8	29210417701	1	8	0	0
BENGALURU RURAL	Department of Education	GHPS MODEL NAIGEYARA BEEDI	Upper Primary with grades 1 to 8	29210226702	1	7	0	0
BENGALURU RURAL	Department of Education	GHPS SOMPURA	Secondary with grades 1 to 10	29210103201	1	9	20	0
BENGALURU U NORTH	Department of Education	GHPS GHRUHA LAKSHMI LAYOUT	Upper Primary with grades 1 to 8	29280209209	1	7	30	0
BENGALURU U NORTH	Department of Education	GHPS MADHAVARA	Upper Primary with grades 1 to 8	29280206301	1	8	0	0
BENGALURU U NORTH	Department of Education	GHPS SRIKANTAPURA	Upper Primary with grades 1 to 8	29280206501	1	7	0	0
BENGALURU U NORTH	Department of Education	GKLPS MACHOHALLI COLONY	Primary only with grades 1 to 5	29280203903	1	5	0	0
BENGALURU U SOUTH	Department of Education	GHPS BERATENA AGRAHARA	Upper Primary with grades 1 to 8	29200901735	1	8	0	0
BENGALURU U SOUTH	Department of Education	GHPS CHANDAPURA (CHATRAKHANI)	Upper Primary with grades 1 to 8	29200407401	1	8	0	0
BENGALURU U SOUTH	Department of Education	GHPS GIRLS SARJAPURA	Upper Primary with grades 1 to 8	29200401102	1	7	0	0
BENGALURU U SOUTH	Department of Education	GHPS R K HEGDE NAGARA	Upper Primary with grades 1 to 8	29200319967	1	8	0	0
BENGALURU U SOUTH	Department of Education	GKHPS ALAHALLI	Upper Primary with grades 1 to 8	29200143503	1	8	35	0
BENGALURU U SOUTH	Department of Education	GMPS MALLATHA HALLI	Upper Primary with grades 1 to 8	29200142120	1	8	0	0
BENGALURU U SOUTH	Department of Education	GMPS SEEGEHALLI	Upper Primary with grades 1 to 8	29200321418	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
BENGALURU U SOUTH	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL TAVAREKERE	Upper Primary with grades 1 to 8	29200100122	1	8	0	0
BENGALURU U SOUTH	Department of Education	GOVT MODEL PRIMARY SCHOOL BYATARAYANAPURA	Upper Primary with grades 1 to 8	29200801302	1	8	0	0
BENGALURU U SOUTH	Department of Education	GOVT MODEL PRIMARY SCHOOL KARITHIMMANAHALLI	Upper Primary with grades 1 to 8	29200800330	1	8	0	0
BIDAR	Department of Education	GOVT HPS BASHIRPUR	Upper Primary with grades 1 to 8	29050500701	1	8	0	0
BIDAR	Department of Education	GOVT HPS BHOSAGA	Upper Primary with grades 1 to 8	29050201601	1	8	0	0
BIDAR	Department of Education	GOVT HPS ITGA	Upper Primary with grades 1 to 8	29050503801	1	8	0	5
BIDAR	Department of Education	GOVT HPS JAMBAGI	Upper Primary with grades 1 to 8	29050107101	1	8	0	0
BIDAR	Department of Education	GOVT HPS KAMTHANA	Upper Primary with grades 1 to 8	29050406501	1	8	0	0
BIDAR	Department of Education	GOVT HPS MORKHANDI	Upper Primary with grades 1 to 8	29050210501	1	8	0	0
BIDAR	Department of Education	GOVT HRPS ALIAMBER	Upper Primary with grades 1 to 8	29050400401	1	8	0	0
BIDAR	Department of Education	GOVT HRPS MEDAPALLI	Upper Primary with grades 1 to 8	29050110401	1	7	0	0
BIDAR	Department of Education	GOVT MPS BHATAMBRA	Upper Primary with grades 1 to 8	29050301501	1	8	0	0
BIDAR	Department of Education	GOVT MPS LAKHANGAON	Upper Primary with grades 1 to 8	29050308701	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS BANDALLI	Upper Primary with grades 1 to 8	29271300606	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS BANNITHAL PURA	Upper Primary with grades 1 to 8	29270202701	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS MANGALA	Upper Primary with grades 1 to 8	29270102901	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS MASANAPURA	Upper Primary with grades 1 to 8	29270103701	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS MUDIGUNDA	Upper Primary with grades 1 to 8	29270530201	1	7	0	0
CHAMARAJANA GARA	Department of Education	GHPS NITRE	Upper Primary with grades 1 to 8	29270215001	1	8	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
CHAMARAJANA GARA	Department of Education	GHPS RAMAPURA	Upper Primary with grades 1 to 8	29271303801	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS UDIGALA	Upper Primary with grades 1 to 8	29270107901	1	8	0	0
CHAMARAJANA GARA	Department of Education	GHPS SATHEGAL	Upper Primary with grades 1 to 8	29270527001	1	7	0	0
CHAMARAJANA GARA	Department of Education	GHPS YARIYUR-I	Upper Primary with grades 1 to 8	29271202401	1	8	0	0
CHIKKABALLAP URA	Department of Education	GHPS KUDUVATHI	Upper Primary with grades 1 to 8	29290314501	1	8	0	0
CHIKKABALLAP URA	Department of Education	GHPS KUPPAHALLI	Upper Primary with grades 1 to 8	29290314601	1	8	0	0
CHIKKABALLAP URA	Department of Education	GHPS SOMENAHALLI	Upper Primary with grades 1 to 8	29290608701	1	8	0	0
CHIKKABALLAP URA	Department of Education	GLPS MADABAHALLI	Primary only with grades 1 to 5	29290424001	1	5	0	0
CHIKKABALLAP URA	Department of Education	GMHPS HUDUGURU	Upper Primary with grades 1 to 8	29290509401	1	8	0	0
CHIKKABALLAP URA	Department of Education	GOVERNMENT MODEL BOYS HIGHER PRIMARY SCHOOL BAGEPALLY	Upper Primary with grades 1 to 8	29290123201	1	8	0	0
CHIKKABALLAP URA	Department of Education	GOVERNMENT HIGH SCHOOL RMSA AND HPS SONAGANAHALLI	Secondary with grades 1 to 10	29290520701	1	10	0	0
CHIKKABALLAP URA	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL GANJIGUNTE	Upper Primary with grades 1 to 8	29291108902	1	8	0	0
CHIKKABALLAP URA	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL GOPASANDRA	Upper Primary with grades 1 to 8	29290412201	1	7	0	0
CHIKKABALLAP URA	Department of Education	GOVERNMENT KANNADA MODEL GIRLS HIGHER PRIMARY SCHOOL BAGEPALLI	Upper Primary with grades 1 to 8	29290123604	1	8	0	0
CHIKKAMANGA LURU	Department of Education	GHPS GONIBEEDU	Upper Primary with grades 1 to 8	29170711401	1	8	0	0
CHIKKAMANGA LURU	Department of Education	GHPS VAKKALAGERE	Upper Primary with grades 1 to 8	29170509301	1	7	0	0
CHIKKAMANGA LURU	Department of Education	GHPS GALIHALLI CROSS.TARIKERE .	Upper Primary with grades 1 to 8	29170427204	1	7	27	0
CHIKKAMANGA LURU	Department of Education	GMHPS BILEKALLAHALLI	Upper Primary with grades 1 to 8	29170609801	1	7	0	0
CHIKKAMANGA LURU	Department of Education	GMHPS BALEHONNUR	Upper Primary with grades 1 to 8	29170305403	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
CHITRADURGA	Department of Education	GHPS ALUR	Upper Primary with grades 1 to 8	29130311301	1	8	0	0
CHITRADURGA	Department of Education	GHPS GUTHINADU (KUVEMPU MODEL)	Upper Primary with grades 1 to 8	29130115901	1	8	0	31
CHITRADURGA	Department of Education	GHPS HULLEHAL	Upper Primary with grades 1 to 8	29130102301	1	7	0	0
CHITRADURGA	Department of Education	GHPS KASAVIGONDANAHALLI	Upper Primary with grades 1 to 8	29130222102	1	7	0	0
CHITRADURGA	Department of Education	GHPS RAMPURA	Upper Primary with grades 1 to 8	29130607701	1	8	0	0
CHITRADURGA	Department of Education	GHPS V.V.PURA	Upper Primary with grades 1 to 8	29130310102	1	8	0	0
CHITRADURGA	Department of Education	GMHPS BHARAMASAGARA	Secondary with grades 1 to 10	29130120801	1	10	0	0
CHITRADURGA	Department of Education	GMHPS HIREHALLY	Upper Primary with grades 1 to 8	29130204304	1	8	0	0
CHITRADURGA	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL KONASAGARA	Upper Primary with grades 1 to 8	29130613203	1	8	0	0
CHITRADURGA	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL NAGASAMUDRA	Upper Primary with grades 1 to 8	29130611101	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL ANDINJE	Upper Primary with grades 1 to 8	29240200101	1	8	75	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL DEVACHALLA	Upper Primary with grades 1 to 8	29240501301	1	7	16	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL GURUVAINAKERE	Upper Primary with grades 1 to 8	29240203601	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL IRDE	Upper Primary with grades 1 to 8	29240402501	1	7	22	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL KENJAR	Upper Primary with grades 1 to 8	29240308101	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL NARIKOMBU	Upper Primary with grades 1 to 8	29240105203	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL NEERKERE	Upper Primary with grades 1 to 8	29240702101	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL NETTANIGE MUDNUR	Upper Primary with grades 1 to 8	29240405005	1	7	0	0
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL NEWPADPU	Upper Primary with grades 1 to 8	29240603102	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
DAKSHINA KANNADA	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL SURIBAILU (RMSA UPGRADED)	Secondary with grades 1 to 10	29240103908	1	10	11	0
DAVANAGERE	Department of Education	GHPS - GADIMAKUNTE	Upper Primary with grades 1 to 8	29140603801	1	8	0	0
DAVANAGERE	Department of Education	GHPS - HARONAHALLI	Upper Primary with grades 1 to 8	29140108501	1	8	0	0
DAVANAGERE	Department of Education	GHPS - MUSTOORU	Upper Primary with grades 1 to 8	29140611201	1	7	36	0
DAVANAGERE	Department of Education	GHPS - VINAYAKA NAGAR DVG	Upper Primary with grades 1 to 8	29140309728	1	7	0	0
DAVANAGERE	Department of Education	GHPS(KAN)-S.S MALLIKARJUN NAGARA	Upper Primary with grades 1 to 8	29140208622	1	8	0	0
DAVANAGERE	Department of Education	GHPS(MODEL)-PANDOMATTI	Upper Primary with grades 1 to 8	29140117501	1	7	0	0
DHARWAD	Department of Education	G.H.P.S MODEL CENTRAL TABAKADAHONNIHALLI	Upper Primary with grades 1 to 8	29090308101	1	8	0	0
DHARWAD	Department of Education	GHPS BENACHI	Upper Primary with grades 1 to 8	29090100901	1	7	0	0
DHARWAD	Department of Education	GHPS GUMMAGOL	Upper Primary with grades 1 to 8	29090502101	1	8	0	0
DHARWAD	Department of Education	GHPS HIRENARTI	Upper Primary with grades 1 to 8	29090402501	1	7	0	0
DHARWAD	Department of Education	GHPS IBRAHIMPUR	Upper Primary with grades 1 to 8	29090502601	1	8	0	0
DHARWAD	Department of Education	GHPS MODEL CENTRAL G.HULAKOPPA	Upper Primary with grades 1 to 8	29090302801	1	8	0	0
DHARWAD	Department of Education	GHPS MODEL NO.1 KANNADA BOYS HALEHUBLI	Upper Primary with grades 1 to 8	29090604003	1	8	0	0
DHARWAD	Department of Education	GHPS MODEL TADAKOD	Upper Primary with grades 1 to 8	29090110202	1	8	0	0
DHARWAD	Department of Education	GHPS MODEL TCW DHARWAD	Upper Primary with grades 1 to 8	29090701202	1	8	0	0
DHARWAD	Department of Education	GHPS VARUR	Upper Primary with grades 1 to 8	29090205101	1	7	0	0
GADAG	Department of Education	GHPGS BELAVANAKI	Upper Primary with grades 1 to 8	29080402401	1	7	63	0
GADAG	Department of Education	GHPKBS KURTAKOTI	Upper Primary with grades 1 to 8	29080603902	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
GADAG	Department of Education	GHPKGS NO 2 GADAG	Upper Primary with grades 1 to 8	29080101802	1	7	0	0
GADAG	Department of Education	GHPS HIREHANDIGOL	Upper Primary with grades 1 to 8	29080603201	1	7	0	0
GADAG	Department of Education	GHPS KONNUR (J.C)	Upper Primary with grades 1 to 8	29080301904	1	7	0	0
GADAG	Department of Education	GHPS KORLHALLI	Upper Primary with grades 1 to 8	29080204402	1	7	26	0
GADAG	Department of Education	GHPS NO 6 BETAGERI	Upper Primary with grades 1 to 8	29080100701	1	7	0	0
GADAG	Department of Education	GHPS RAJUR	Upper Primary with grades 1 to 8	29080408701	1	7	0	0
GADAG	Department of Education	GHPS RAMAGIRI	Upper Primary with grades 1 to 8	29080508301	1	7	0	0
GADAG	Department of Education	GHPS WADAVI-HOSUR	Upper Primary with grades 1 to 8	29080506501	1	8	0	0
HASSAN	Department of Education	GHPS HANUMIDI (TGT)	Upper Primary with grades 1 to 8	29230416801	1	8	0	0
HASSAN	Department of Education	GHPS KALENAHALLI	Upper Primary with grades 1 to 8	29230203301	1	7	0	0
HASSAN	Department of Education	GHPS KUDUGARAHALLI	Upper Primary with grades 1 to 8	29230806916	1	7	0	0
HASSAN	Department of Education	GHPS SANTHEMARUR(TGT)	Upper Primary with grades 1 to 8	29230222501	1	8	20	0
HASSAN	Department of Education	GHPS B.H.ROAD ARASIKERE	Upper Primary with grades 1 to 8	29230312408	1	7	0	0
HASSAN	Department of Education	GHPS MODEL SCHOOL ALUR	Upper Primary with grades 1 to 8	29230100105	1	7	0	0
HASSAN	Department of Education	GHPS YEDEGOWDANAHALLY	Upper Primary with grades 1 to 8	29230602001	1	8	0	0
HASSAN	Department of Education	Govt Higher Primary School CHANNAPATTANA	Upper Primary with grades 1 to 8	29230745005	1	7	0	0
HASSAN	Department of Education	GOVT.HIGHER PRIMARY SCHOOL KAREHALLY	Upper Primary with grades 1 to 8	29230521002	1	8	0	0
HASSAN	Department of Education	MHPS HARANA HALLY	Upper Primary with grades 1 to 8	29230309002	1	7	0	0
HAVERI	Department of Education	GHPS HIREBASUR	Upper Primary with grades 1 to 8	29110505701	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
HAVERI	Department of Education	GHPS HIREMUGADUR	Upper Primary with grades 1 to 8	29111602101	1	7	0	0
HAVERI	Department of Education	GHPS KIRAWADI	Upper Primary with grades 1 to 8	29110509001	1	7	0	0
HAVERI	Department of Education	GHPS KAN SCHOOL KACHAVI	Upper Primary with grades 1 to 8	29110706301	1	7	0	0
HAVERI	Department of Education	GOVT MODEL CENTRAL SCH SUNKALBIDARI	Upper Primary with grades 1 to 8	29111411204	1	7	0	0
KALBURGI	Department of Education	GHPS KOTNOOR (D)	Upper Primary with grades 1 to 8	29040508203	1	8	0	0
KALBURGI	Department of Education	GOVT HPS GUNJ BABALAD	Upper Primary with grades 1 to 8	29040103701	1	8	0	0
KALBURGI	Department of Education	GOVT MGPS AFZALPUR	Upper Primary with grades 1 to 8	29040210301	1	8	0	0
KALBURGI	Department of Education	GOVT MPS MOTAKPALLI	Upper Primary with grades 1 to 8	29040907101	1	7	0	0
KALBURGI	Department of Education	GOVT MPS RAVOOR	Upper Primary with grades 1 to 8	29040409701	1	8	0	0
KODAGU	Department of Education	GHPS CHOOL ANKANA HALLI	Upper Primary with grades 1 to 8	29250206901	1	7	29	0
KODAGU	Department of Education	GHPS CHOOL KOYANADA	Upper Primary with grades 1 to 8	29250105702	1	8	18	0
KODAGU	Department of Education	GHPS MODEL KUDIGE	Upper Primary with grades 1 to 8	29250210911	1	7	0	0
KODAGU	Department of Education	GHPS MODEL SHUNTIKOPPA	Upper Primary with grades 1 to 8	29250211201	1	7	0	0
KOLAR	Department of Education	GHPS HOLUR	Upper Primary with grades 1 to 8	29190713901	1	7	0	0
KOLAR	Department of Education	GHPS HULDENAHALLI	Upper Primary with grades 1 to 8	29190913901	1	8	0	0
KOLAR	Department of Education	GHPS KUDIYANUR	Upper Primary with grades 1 to 8	29190920102	1	8	0	0
KOLAR	Department of Education	GHPS SHIVARAPATNA	Upper Primary with grades 1 to 8	29190929501	1	7	0	0
KOLAR	Department of Education	GMHPS BALECHANGAPPA	Upper Primary with grades 1 to 8	29191050202	1	8	0	0
KOLAR	Department of Education	GMHPS LAKKUR	Upper Primary with grades 1 to 8	29190921102	1	8	10	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
KOLAR	Department of Education	GMHPS VEMGAL	Upper Primary with grades 1 to 8	29190734501	1	8	0	0
KOLAR	Department of Education	KMGHPS BANGARPET	Upper Primary with grades 1 to 8	29190243401	1	8	0	0
KOPPAL	Department of Education	GHPS MAINAHALLI	Upper Primary with grades 1 to 8	29070312101	1	8	0	0
KOPPAL	Department of Education	GHPS HIREMYGERI	Upper Primary with grades 1 to 8	29070905501	1	8	0	0
KOPPAL	Department of Education	GHPS MODEL SCHOOL HANUMANHAL	Upper Primary with grades 1 to 8	29070405001	1	8	0	0
KOPPAL	Department of Education	GHPS MODEL SCHOOL SIDDAPUR	Upper Primary with grades 1 to 8	29070213101	1	8	0	0
KOPPAL	Department of Education	GOVT CENTRAL HIGHER PRIMARY SCHOOL GANGAVATHI	Upper Primary with grades 1 to 8	29070219401	1	8	0	0
MANDYA	Department of Education	GHPS EAST EXT.SRIRANGAPATNA	Upper Primary with grades 1 to 8	29220711001	1	7	0	0
MYSURU	Department of Education	GHPS ANTHARASANTHE	Upper Primary with grades 1 to 8	29260309104	1	8	0	0
MYSURU	Department of Education	GHPS ATTIGODU (RMSA UPGRADED)	Secondary with grades 1 to 10	29261000103	1	10	0	0
MYSURU	Department of Education	GHPS BETTADA PURA	Upper Primary with grades 1 to 8	29261015607	1	7	0	0
MYSURU	Department of Education	GHPS HYRIGE	Upper Primary with grades 1 to 8	29260313801	1	8	0	0
MYSURU	Department of Education	GOVERNAMENT HIGH SCHOOL RMSA KANAKAGIRI	Secondary with grades 1 to 10	29261201102	1	10	0	0
MYSURU	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL DHANAGALLI SALUNDI	Upper Primary with grades 1 to 8	29260817001	1	8	0	0
MYSURU	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL HEDIYALA	Upper Primary with grades 1 to 8	29260904101	1	8	0	0
MYSURU	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL HULLAHALLI	Upper Primary with grades 1 to 8	29260901301	1	8	0	0
MYSURU	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL VARUNA	Upper Primary with grades 1 to 8	29260811601	1	7	0	0
MYSURU	Department of Education	GOVT HIGHER PRIMERY SCHOOL TALAKADU	Upper Primary with grades 1 to 8	29261117301	1	8	0	0
RAICHUR	Department of Education	GOVT GIRLS HIGHER PRIMARY SCHOOL LINGASUGUR	Upper Primary with grades 1 to 8	29060522301	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
RAICHUR	Department of Education	GOVT.HIGHER PRIMARY SCHOOL CHINCHODI	Upper Primary with grades 1 to 8	29060103401	1	7	0	0
RAICHUR	Department of Education	GOVT.HIGHER PRIMARY SCHOOL CHIKKASUGUR	Upper Primary with grades 1 to 8	29060702301	1	7	0	0
RAICHUR	Department of Education	GOVT.HIGHER PRIMARY SCHOOL MUSTUR	Upper Primary with grades 1 to 8	29060611001	1	7	0	0
RAMANAGARA	Department of Education	G KBMS	Upper Primary with grades 1 to 8	29320821402	1	7	0	0
RAMANAGARA	Department of Education	G LPS MANNUGUDDEDODDI	Primary only with grades 1 to 5	29320603401	1	5	0	0
RAMANAGARA	Department of Education	G LPS THAMMANAYAKANAHALLI	Primary only with grades 1 to 5	29320608401	1	5	0	0
RAMANAGARA	Department of Education	GHPS LALAGHATTA	Upper Primary with grades 1 to 8	29320706301	1	7	22	0
RAMANAGARA	Department of Education	GHPS MODEL DODDAMARALAVADI	Upper Primary with grades 1 to 8	29320806401	1	8	0	0
RAMANAGARA	Department of Education	GHPS MODEL SATHANURU	Upper Primary with grades 1 to 8	29320813501	1	7	0	0
RAMANAGARA	Department of Education	GHPS MOTAGANAHALLI	Upper Primary with grades 1 to 8	29320513803	1	8	0	0
RAMANAGARA	Department of Education	GHPS SOLURU	Upper Primary with grades 1 to 8	29320511602	1	8	0	0
RAMANAGARA	Department of Education	GHPS THIRUMALE	Upper Primary with grades 1 to 8	29320525402	1	7	0	0
RAMANAGARA	Department of Education	GMPS MANGALAVARAPETE	Upper Primary with grades 1 to 8	29320713401	1	7	23	0
SHIVAMOGGA	Department of Education	GHPGS HOLEHONNURU (GILRLS)	Upper Primary with grades 1 to 8	29150102509	1	7	0	0
SHIVAMOGGA	Department of Education	GHPS DURGIGUDI (ENGLISH)	Upper Primary with grades 1 to 8	29150539004	1	8	0	0
SHIVAMOGGA	Department of Education	GHPS MARUTHIPURA	Upper Primary with grades 1 to 8	29150205201	1	7	0	0
SHIVAMOGGA	Department of Education	GHPS PWD-COLONY SORAB	Upper Primary with grades 1 to 8	29150631204	1	7	0	0
SHIVAMOGGA	Department of Education	GMHPS BELELAMAKKI	Upper Primary with grades 1 to 8	29150328203	1	7	0	0
TUMAKURU	Department of Education	GHPS ARALIMARADAPALYA Ward-3	Upper Primary with grades 1 to 8	29180902107	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
TUMAKURU	Department of Education	GHPS BALLAGERE	Upper Primary with grades 1 to 8	29180927301	1	7	9	0
TUMAKURU	Department of Education	GHPS BOYS GUBBI Ward-10	Upper Primary with grades 1 to 8	29180201003	1	8	0	0
TUMAKURU	Department of Education	GMHPS BOYS Ward-6	Upper Primary with grades 1 to 8	29180722005	1	8	21	0
TUMAKURU	Department of Education	GMHPS C N HALLI Ward-5	Upper Primary with grades 1 to 8	29180117906	1	8	0	0
TUMAKURU	Department of Education	GMHPS URDIGERE	Upper Primary with grades 1 to 8	29180923401	1	7	0	0
TUMAKURU	Department of Education	GOVT. BHAKTHARA HALLI	Upper Primary with grades 1 to 8	29181018601	1	8	0	0
TUMAKURU	Department of Education	GOVT. GHPS MODEL TIPTUR Ward-13	Upper Primary with grades 1 to 8	29180823503	1	8	0	0
TUMAKURU	Department of Education	GOVT. HIGHER PRIMARY SCHOOL BAALIKA RAILWAY ROAD Ward-4	Upper Primary with grades 1 to 8	29180822603	1	7	0	0
TUMAKURU MADHUGIRI	Department of Education	GHPS GULIGENAHALLI	Upper Primary with grades 1 to 8	29310613001	1	8	0	0
TUMAKURU MADHUGIRI	Department of Education	GHPS MODEL SCHOOL KOTE SIRA	Upper Primary with grades 1 to 8	29310621402	1	7	0	0
TUMAKURU MADHUGIRI	Department of Education	GMHPS BUKKAPATTANA	Upper Primary with grades 1 to 8	29310610601	1	7	0	0
TUMAKURU MADHUGIRI	Department of Education	GMHPS SANTHEPETE SIRA	Upper Primary with grades 1 to 8	29310629702	1	8	0	0
TUMAKURU MADHUGIRI	Department of Education	NEW TYPE GHPS MODEL SCHOOL NAYAKARAHATTI SIRA	Upper Primary with grades 1 to 8	29310623404	1	8	0	0
UDUPI	Department of Education	GHPS AJEKARU - MARNE	Upper Primary with grades 1 to 8	29160101508	1	7	0	0
UDUPI	Department of Education	GHPS GUDDEANGADI -BOMMARABETTU	Upper Primary with grades 1 to 8	29160202008	1	7	0	0
UDUPI	Department of Education	GHPS MANIPURA - MANIPURA	Upper Primary with grades 1 to 8	29160201512	1	7	0	0
UDUPI	Department of Education	GHPS MANOORU - MANOOR	Upper Primary with grades 1 to 8	29160503201	1	7	31	0
UDUPI	Department of Education	GHPS MODEL SHANKARANARAYANA 576227	Upper Primary with grades 1 to 8	29160305707	1	7	9	0
UDUPI	Department of Education	GHPS MUDRADI	Upper Primary with grades 1 to 8	29160100805	1	7	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
UDUPI	Department of Education	GHPS VAKWADI	Upper Primary with grades 1 to 8	29160307105	1	7	0	0
UDUPI	Department of Education	GOVERNMENT UPGRADED HIGH SCHOOL CHITTUR 576233 - CHITTUR (rmsa)	Secondary with grades 1 to 10	29160400504	1	10	0	0
UTTARA KANNADA	Department of Education	G M H P S MUDGA	Upper Primary with grades 1 to 8	29100205202	1	8	0	0
UTTARA KANNADA	Department of Education	GHPS CHANDAVAR(URDU)	Upper Primary with grades 1 to 8	29100800207	1	7	16	0
UTTARA KANNADA	Department of Education	GHPS PRABHATNAGAR	Upper Primary with grades 1 to 8	29100809601	1	7	0	0
UTTARA KANNADA	Department of Education	GHPS BAZAR	Upper Primary with grades 1 to 8	29100206301	1	7	0	0
UTTARA KANNADA	Department of Education	GHPS BOYS ANKOLA 1	Upper Primary with grades 1 to 8	29100110701	1	7	0	0
UTTARA KANNADA	Department of Education	GHPS HONNEGADDE	Upper Primary with grades 1 to 8	29100900701	1	7	0	0
UTTARA KANNADA	Department of Education	GHPS KODSUL	Upper Primary with grades 1 to 8	29100900202	1	8	0	0
UTTARA KANNADA	Department of Education	GHPS KONALLI	Upper Primary with grades 1 to 8	29100508001	1	7	9	0
UTTARA KANNADA	Department of Education	GHPS MIRJAN	Upper Primary with grades 1 to 8	29100504701	1	7	0	0
UTTARA KANNADA	Department of Education	GHPS URDU ANKOLA	Upper Primary with grades 1 to 8	29100108805	1	8	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT HIGHER PRIMARY SCHOOL BISGOD	Upper Primary with grades 1 to 8	29340700302	1	7	18	0
UTTARA KANNADA SIRSI	Department of Education	GOVT. HIGHER PRIMARY SCHOOL JOIDA	Upper Primary with grades 1 to 8	29341109201	1	8	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT. HIGHER PRIMARY SCHOOL MANAMANE	Upper Primary with grades 1 to 8	29340614901	1	7	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT. HIGHER PRIMARY SCHOOL VANDANE	Upper Primary with grades 1 to 8	29340609602	1	8	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT. HIGHER PRIMARY SCHOOLRAMNAGAR	Upper Primary with grades 1 to 8	29341102001	1	8	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT.GHPS MODEL KHB COLONY SIRSI	Upper Primary with grades 1 to 8	29340324602	1	8	0	0
UTTARA KANNADA SIRSI	Department of Education	GOVT.HIGHER PRIMARY SCHOOL KANNADA BANGURNAGAR	Upper Primary with grades 1 to 8	29340427003	1	8	0	0

District Name	School Management	School Name	School Category	UDISE Code	Class start from	Class to	Total Anganwadi centre enrolment	Total Pre primary enrolment
UTTARA KANNADA SIRSI	Department of Education	GOVT.HIGHER PRIMARY SCHOOL MANGALAWADA (KANNADA)	Upper Primary with grades 1 to 8	29340412801	1	8	8	0
VIJAYANAGARA	Department of Education	GHPS 4th WARD KAMPLI	Upper Primary with grades 1 to 8	29120511901	1	7	0	0
VIJAYANAGARA	Department of Education	GHPS(MODEL)-ARASIKERE	Upper Primary with grades 1 to 8	29140700801	1	8	0	0
VIJAYANAGARA	Department of Education	GMHPS S.S KAMLAPURA	Upper Primary with grades 1 to 8	29120515401	1	8	0	0
VIJAYANAGARA	Department of Education	GMHPS KANAMADUGU	Upper Primary with grades 1 to 8	29120600203	1	7	0	0
VIJAYANAGARA	Department of Education	GMHPS MAGALA	Upper Primary with grades 1 to 8	29120203201	1	7	0	0
VIJAYANAGARA	Department of Education	GMHPS MORIGERI	Upper Primary with grades 1 to 8	29120303801	1	8	0	0
VIJAYAPURA	Department of Education	GOVT HPS ADVISOMANAL	Upper Primary with grades 1 to 8	29031000301	1	8	0	0
VIJAYAPURA	Department of Education	GOVT HPS ANTARAGANGI	Upper Primary with grades 1 to 8	29031200801	1	8	0	0
VIJAYAPURA	Department of Education	GOVT HPS DEVARNAVADGI	Upper Primary with grades 1 to 8	29031204301	1	7	0	0
VIJAYAPURA	Department of Education	GOVT HPS TAJAPUR [H]	Upper Primary with grades 1 to 8	29030509601	1	8	0	0
VIJAYAPURA	Department of Education	GOVT KBHPS BIDARAKUNDI	Upper Primary with grades 1 to 8	29031002301	1	7	0	0
VIJAYAPURA	Department of Education	GOVT KBS NO 27 VIJAYAPURA	Upper Primary with grades 1 to 8	29031401624	1	7	0	0
VIJAYAPURA	Department of Education	GOVT MPS SHIVANAGI	Upper Primary with grades 1 to 8	29030509301	1	7	0	0
YADAGIRI	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL MADALINGNAL	Upper Primary with grades 1 to 8	29330814301	1	8	0	0
YADAGIRI	Department of Education	GOVT HIGHER PRIMARY SCHOOL HALEPETH SHAHAPUR	Upper Primary with grades 1 to 8	29330719703	1	7	0	0
YADAGIRI	Department of Education	GOVT HPS GEDDALAMARI	Upper Primary with grades 1 to 8	29330806001	1	7	0	0
YADAGIRI	Department of Education	GOVT HPS SAIDAPUR HALLI	Upper Primary with grades 1 to 8	29331011003	1	7	0	0
YADAGIRI	Department of Education	GOVT. MPS GANDHICHOWK SHAHAPUR	Upper Primary with grades 1 to 8	29330719003	1	7	0	0

Innovation (Science)- 54 schools

District Name	Block Name	School Management	School Name	UDISE Code	Class from	Class to	Enrolment Pre Pry to VIII	Enrolment IX to XII
UTTARA KANNADA	ANKOLA	Department of Education	GMHPS KENI	29100108601	1	8	311	0
UTTARA KANNADA	BHATKAL	Department of Education	GMHPS CHITRAPUR	29100900505	1	8	353	0
UTTARA KANNADA	KUMTA	Department of Education	GHPS GOKARNA-II	29100501004	1	7	301	0
CHITRADURGA	CHALLAKERE	Department of Education	GMHPS HIREHALLY	29130204304	1	8	419	0
CHITRADURGA	CHITRADURGA	Department of Education	GMHPS BHARAMASAGARA	29130120801	1	10	481	238
CHITRADURGA	MOLAKALMUR	Department of Education	GOVERNMENT HIGHER PRIMARY SCHOOL NAGASAMUDRA	29130611101	1	7	565	0
DAVANAGERE	DAVANAGERE(N)	Department of Education	GHPS-SPS NGR 2ND STAGE WARD-8	29140209113	1	8	617	0
DAVANAGERE	DAVANAGERE(S)	Department of Education	GHPS UPGRADED H.S- NITTUVALLI(RMSA)	29140309527	1	10	438	110
DAVANAGERE	HARIHARA	Department of Education	GHPS - GUTHTURU	29140402401	1	8	399	0
UDUPI	BRAHAMAVARA	Department of Education	GMHPS BRAHMAVARA 576213	29160505401	1	7	575	0
UDUPI	KUNDAPURA	Department of Education	GHPS THEKKATTE 576231 - THEKKA	29160307202	1	7	775	0
UDUPI	UDUPI	Department of Education	GMHPS VOLAKADU	29160212201	1	7	736	0
CHIKKAMANGALURU	BIRURU	Department of Education	GHPS GIRLS LINGADAHALLI	29170800601	1	8	323	0
CHIKKAMANGALURU	CHIKMAGALUR	Department of Education	GHPS URDHUIG ROAD	29170624006	1	8	317	0
CHIKKAMANGALURU	KADUR	Department of Education	GHPGS KM ROAD	29170533104	1	8	381	0
TUMAKURU	TIPTUR	Department of Education	GOVT. GHPS MODEL HALEPALYA Ward-12	29180823403	1	8	455	0

District Name	Block Name	School Management	School Name	UDISE Code	Class from	Class to	Enrolment Pre Pry to VIII	Enrolment IX to XII
TUMAKURU	TUMKUR	Department of Education	GMHPS NORTH EXTN Ward-2	29180908808	1	8	536	0
TUMAKURU	TURUVEKERE	Department of Education	GMHPS BOYS Ward-6	29180722005	1	8	662	0
KOLAR	BANGARAPETE	Department of Education	KMGHPS BANGARPET	29190243401	1	8	510	0
KOLAR	KGF	Department of Education	GMHPS BEML NAGARA	29191308302	1	10	529	0
KOLAR	KOLAR	Department of Education	GMHPS VEMGAL	29190734501	1	8	565	0
BENGALURU U SOUTH	SOUTH1	Department of Education	GMPS UTTARA HALLI	29200108101	1	8	1296	0
BENGALURU U SOUTH	SOUTH3	Department of Education	GMPS NEKARARA COLONY	29200902934	1	8	1062	0
BENGALURU U SOUTH	SOUTH4	Department of Education	GUMPS R.K.HEGADE NAGARA	29200319974	1	8	1029	0
BENGALURU RURAL	DEVANAHALLI	Department of Education	G MPGS VIJAYAPURA	29210333301	1	8	616	0
BENGALURU RURAL	DODDABALLAPURA	Department of Education	GHPS BHASHETTIHALLI	29210215201	1	8	713	0
BENGALURU RURAL	HOSAKOTE	Department of Education	G KBMS HOSAKOTE	29210422011	1	8	827	0
MANDYA	KRISHNARAJA PET	Department of Education	GHPS SOUTH KR. PET	29220133503	1	7	359	0
MANDYA	NAGAMANGALA	Department of Education	GHP URDU SCHOOL NAGAMANGALA	29220539001	1	7	391	0
MANDYA	PANDAVAPURA	Department of Education	MODEL GHPGS PANDAVAPURA	29220619805	1	7	373	0
HASSAN	ARASIKERE	Department of Education	GHPS BANAVARA	29230314903	1	8	413	0
HASSAN	HASSAN	Department of Education	Govt Higher Primary School VANIVILASA (8-UP)	29230744103	1	8	519	0
HASSAN	HOLENARASIPURA	Department of Education	GHPS KOTE HOLNARASIPURA	29230612110	1	7	589	0
DAKSHINA KANNADA	BANTWAL	Department of Education	DKZP GOVT. HIGH SCHOOL VITTAL - RMSA	29240108107	1	10	1148	172
DAKSHINA KANNADA	MANGALURU NORTH	Department of Education	DKZP GOVT. HIGHER PRIMARY SCHOOL BENGRE KASABA	29240308704	1	7	710	0
DAKSHINA KANNADA	PUTTUR	Department of Education	DKZP GOVT. GHPS MODEL HARADY	29240407901	1	8	672	0

District Name	Block Name	School Management	School Name	UDISE Code	Class from	Class to	Enrolment Pre Pry to VIII	Enrolment IX to XII
KODAGU	MADIKERI	Department of Education	GMP SCHOOL MOORNADU	29250100901	1	8	320	0
KODAGU	SOMAVARPET	Department of Education	GMPS MODEL KUSHALANAGAR	29250218802	1	8	262	0
KODAGU	VIRAJPET	Department of Education	G.M.P.SCHOOL GONIKOPPALU	29250314501	1	8	373	0
BENGALURU U NORTH	NORTH1	Department of Education	GMPS BYADARA HALLI	29280201701	1	8	922	0
BENGALURU U NORTH	NORTH3	Department of Education	GGHPS URDU V, K, O	29280602219	1	7	830	0
BENGALURU U NORTH	NORTH4	Department of Education	GMPS CHIKKABANAVARA	29280707009	1	7	988	0
BELAGAVI CHIKKODI	ATHANI	Department of Education	Govt Kannada Higher Primary School RADDERAHATTI	29300109401	1	8	803	0
BELAGAVI CHIKKODI	GOKAK	Department of Education	Govt Kannada Higher Primary and Upgraded RMSA Secondary School BENACHANAMARADI (K)	29300618501	1	10	1070	328
BELAGAVI CHIKKODI	MUDALGI	Department of Education	K.H.P.S.DURADUNDI	29301401801	1	8	942	0
TUMAKURU MADHUGIRI	KORATAGERE	Department of Education	GHPS THOVINAKERE	29310308101	1	8	305	0
TUMAKURU MADHUGIRI	PAVAGADA	Department of Education	GHPS MODEL BOYS SCHOOL PAVAGADA	29310513702	1	8	332	0
TUMAKURU MADHUGIRI	SIRA	Department of Education	GOVT KANNADA MODEL HIGHER PRIMARY BOYS SCHOOL KALIDASANAGARA SIRA	29310620803	1	8	298	0
RAMANAGARA	CHANNAPATNA	Department of Education	GMPS HONGANURU	29320706801	1	8	391	0
RAMANAGARA	KANAKAPURA	Department of Education	GUMPS KODIHALLI	29320819301	1	8	398	0
RAMANAGARA	RAMANAGARA	Department of Education	G KMPS RAMANAGARA	29320611706	1	8	742	0
UTTARA KANNADA SIRSI	HALIYAL	Department of Education	GOVT M L A I MODEL SCHOOL	29340412004	1	8	917	0
UTTARA KANNADA SIRSI	MUNDAGOD	Department of Education	GOVT.GHPS MODEL MUNDGOD	29341008301	1	8	698	0
UTTARA KANNADA SIRSI	SIRSI	Department of Education	M.L.A GOVERNMENT MODEL SCHOOL SIRSI	29340324802	1	8	663	0

Annexure V B

Innovation Hub School

District Name	Block Name	School Management	School Name	UDISE Code	Class from	Class to	Enrolmen t Pre Pry to VIII	Enrolmen t IX to XII
KALBURGI	CHITTAPUR	Department of Education	KARNATAKA PUBLIC SCHOOLS GHS MADBOOL	29040407205	8	10	0	222
BENGALUR U RURAL	DODDABAL LAPURA	Department of Education	KARNATAKA PUBLIC SCHOOLS KARNATAKA PUBLIC SCHOOL, DOODBELAVANGALA	29210219006	8	12	136	484

Annexure VI

CWSN Toilets (97 schools)

District Name	Block Name	School Name	UDISE Code	CWSN TOILETS
BELAGAVI	BAILHONGAL	GOVT HIGHSCHOOL MARIKATTI	29010208202	1
BELAGAVI	BELGAUM CITY	KARNATAKA PUBLIC SCHOOLS GHS VADGAON	29010300804	1
BELAGAVI	RAMDURG	KANNADA HIGHER PRIMARY SCHOOL NARSAPUR AND GOVERNMENT HIGH SCHOOL RMSA NARASAPUR	29011108001	1
BELAGAVI	RAMDURG	GOVT HIGHSCHOOL RAMDURG	29011114703	1
BELAGAVI	SOUNDATTI	GOVT HIGHSCHOOL MUNAVALLI	29011208014	1
BELAGAVI	SOUNDATTI	GOVT HIGH SCHOOL SANGRESHAKOPPA	29011208702	1
BAGALKOT	BADAMI	GOVT- HIGHER PRIMARY SCHOOL HANSANUR	29020104601	1
BAGALKOT	BADAMI	GOVT- HIGHER PRIMARY SCHOOL HOSUR	29020105501	1
BAGALKOT	BADAMI	GOVT- MODEL PRIMARY SCHOOL NANDIKESHWAR RMSA	29020111301	1
BAGALKOT	BADAMI	GOVT- GIRLS HIGH SCHOOL ANDJR.CO. GULEDGUDD	29020117103	1
BAGALKOT	BADAMI	GOVT- BOYS HIGH SCHOOL ANDJR.COMP GULEDGUDD	29020117107	1
BAGALKOT	BAGALKOT	GOVT- KB MODEL PRIMARY SCHOOL MURANAL RC	29020206201	1
BAGALKOT	BAGALKOT	GOVT-KB HIGHER PRIMARY SCHOOL SORAKOPPA	29020208201	1
BAGALKOT	BAGALKOT	GOVT- KB HIGHER PRIMARY SCHOOL NO 2 BAGALKOT	29020211502	1
BAGALKOT	BILAGI	GOVT- HIGH SCHOOL SIDDAPUR	29020605605	1
BAGALKOT	JAMAKHANDI	GOVT HS ADIHUDI	29020900105	1
BAGALKOT	JAMAKHANDI	GOVT HPS SADASHIV NAGAR BANAHATTI	29020910805	1
BAGALKOT	MUDHOL	GOVT- HIGHER PRIMARY SCHOOL MUGALKHOD	29021105901	1
BAGALKOT	MUDHOL	GOVT- HIGH SCHOOL AND JR.COLLEGE MAHALINGAPUR	29021113202	1
VIJAYAPURA	BASAVAN BAGEWADI	GOVT KBHPS DINDAWAR	29030303001	1
VIJAYAPURA	CHADACHAN	GOVT HPS HATTALLI	29031302401	1
VIJAYAPURA	INDI	GHS TAMBA	29030811632	1
KALBURGI	AFZALPUR	GOVT HS AFZALPUR	29040210106	1
KALBURGI	ALAND	KARNATAKA PUBLIC SCHOOLS GOVT HPS MADANHIPPARGA	29040108101	1

District Name	Block Name	School Name	UDISE Code	CWSN TOILETS
KALBURGI	CHITTAPUR	GOVT HPS BHIMANALLI	29040402001	1
KALBURGI	CHITTAPUR	GHS BHIMANAHALLI	29040402004	1
KALBURGI	CHITTAPUR	GOVT HPS TARANALLI	29040411101	1
KALBURGI	JEWARGI	GHPS Kallurk	29040606901	1
KALBURGI	JEWARGI	GOVT HPS NARABOL	29040611201	1
KALBURGI	JEWARGI	GOVT HPS SUMBAD	29040613201	1
RAICHUR	LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL ANWARI	29060501301	1
RAICHUR	LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL HIREYARADIHAL	29060507501	1
RAICHUR	RAICHUR	GMHIGHER PRIMARY SCHOOL SIYATALAB	29060711107	1
RAICHUR	SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL VENKATESHWARA CAMP . J	29060806705	1
RAICHUR	SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL Upgraded RMSA ROUDAKUNDA	29060810701	1
RAICHUR	SINDHANUR	GMHPS SALAGUNDA	29060810802	1
KOPPAL	KUSTAGI	GHPS MODEL SCHOOL CHALAGERA	29070402201	1
GADAG	GADAG RURAL	GHPS NARASAPUR	29080602102	1
GADAG	MUNDARAGI	GHPS A.D.NAGAR MUNDARAGI (SMB)	29080206203	1
GADAG	NARAGUND	GMPS SHIROL	29080302304	1
GADAG	NARAGUND	GHPS NO 5 NARAGUND	29080303603	1
GADAG	NARAGUND	GOVT GIRL HS NARAGUND	29080304802	1
GADAG	SHIRHATTI	GHPS ADRALLI	29080501601	1
GADAG	SHIRHATTI	GHPS BASTIBAN(LAXMESHWAR)	29080509905	1
DHARWAD	HDMC	GHPS NAVA ANAND NAGAR HUBLI	29090603928	1
DHARWAD	HDMC	GHPS MODEL NO.1 KANNADA BOYS HALEHUBLI	29090604003	1
DHARWAD	HUBLI	KARNATAKA PUBLIC SCHOOLS GHS AND PU COLLEGE RAYNAL	29090204303	1
DHARWAD	KALGHATAGI	GHPS SANGAMESHWAR	29090307001	1
DHARWAD	KALGHATAGI	G.H.P.S MODEL CENTRAL TABAKADAHONNIHALLI	29090308101	1
HAVERI	BYADAGI	GHS BISALAHALLI	29110100110	1
HAVERI	BYADAGI	SJJM GHS BYADAGI	29110109701	1

District Name	Block Name	School Name	UDISE Code	CWSN TOILETS
HAVERI	HANAGAL	KARNATAKA PUBLIC SCHOOLS GHS ADUR	29110500106	1
HAVERI	HANAGAL	GHPS MODEL SCHOOL BAMMANAHALLI	29110502301	1
HAVERI	HANAGAL	GHPS MULATHALLI	29110517301	1
HAVERI	HAVERI	RMSA UPGRADED HS KURGUND	29110602802	1
HAVERI	HIREKERUR	GHPS KAN GIRLS SCHOOL RATTIHALLI	29110709601	1
HAVERI	RANNEBENNUR	KARNATAKA PUBLIC SCHOOLS GOVT HIGH SCH AREMALLAPUR	29111400411	1
HAVERI	RANNEBENNUR	MLA MPS RANNEBENNUR	29111416103	1
HAVERI	SAVANUR	GOVT GHPS URDU KARADAGI	29111604002	1
HAVERI	SAVANUR	GHPS SIDDAPUR	29111605901	1
BALLARI	BELLARY WEST	GHPS KOLAGAL	29120105608	1
BALLARI	SIRUGUPPA	GHPS JANATA COLONY	29120806806	1
CHITRADURGA	CHITRADURGA	GHPS TAMATAKALLU	29130105601	1
CHITRADURGA	CHITRADURGA	GHPS VADDARA SIDDAPPANAHALLI	29130108001	1
CHITRADURGA	CHITRADURGA	GMHPS BHARAMASAGARA	29130120801	1
CHITRADURGA	MOLAKALMUR	GOVERNMENT HIGH SCHOOL THAMMENAHALLY	29130606807	1
DAVANAGERE	DAVANAGERE(N)	GHPS GGMS NEAR SHANTHI TALKIES W16	29140208211	1
DAVANAGERE	HONNALI	GHPS - KUNKOVA	29140510401	1
TUMAKURU	TUMKUR	GHPS BELADHARA	29180930601	1
KOLAR	MALUR	GMHPS LAKKUR	29190921102	1
KOLAR	SRINIVASAPUR	KARNATAKA PUBLIC SCHOOLS GJC SOMAYAJALAHALLI	29191228705	1
BENGALURU U SOUTH	ANEKAL	GHPS BOYS SARJAPURA	29200401101	1
BENGALURU U SOUTH	SOUTH4	GHPS CHANNSANDRA	29200310538	1
DAKSHINA KANNADA	BELTHANGADY	DKZP GOVT. PRE UNIVERSITY COLLEGE KOKKADA	29240202907	1
MYSURU	HUNSUR	GJC BANNIKUPPE	29260420304	1
MYSURU	MYSORE NORTH	GOVERNMENT HIGH SCHOLL NIZAMIA , WARD-44	29260704801	1
BENGALURU U NORTH	NORTH1	GOVERNMENT MODEL PRIMARY SCHOOL. HEROHALLI	29280201203	1
BENGALURU U NORTH	NORTH1	GHS KADABAGERE	29280203703	1

District Name	Block Name	School Name	UDISE Code	CWSN TOILETS
BENGALURU U NORTH	NORTH1	GHPS LAKSHMIPURA	29280205701	1
BENGALURU U NORTH	NORTH3	GGHPS URDU V, K, O	29280602219	1
BELAGAVI CHIKKODI	ATHANI	GOVT PU COLLEGE, KOKATANOOR	29300104535	1
BELAGAVI CHIKKODI	ATHANI	GOVT. HIGH SCHOOL SAVADI	29300106911	1
BELAGAVI CHIKKODI	ATHANI	Govt Kannada Higher Primary School TELSANG	29300108301	1
BELAGAVI CHIKKODI	CHIKODI	Govt Kannada Higher Primary School JAINAPUR	29300505101	1
BELAGAVI CHIKKODI	HUKKERI	KHPS BASTAWAD	29300701401	1
BELAGAVI CHIKKODI	HUKKERI	KHPS BENAKANAHOLI	29300706704	1
BELAGAVI CHIKKODI	KAGWAD	Govt Kannada Higher Primary School KRISHNA KITTUR	29301300701	1
BELAGAVI CHIKKODI	MUDALGI	K.H.P.S. DANDAPUR	29301401501	1
BELAGAVI CHIKKODI	MUDALGI	K.H.P.S.MELAVANKI	29301404401	1
BELAGAVI CHIKKODI	RAIBAG	Govt Kannada Higher Primary Boys School NANDIKURALI	29301004305	1
RAMANAGARA	CHANNAPATNA	KARNATAKA PUBLIC SCHOOLS GJC ARALALUSANDRA	29320708803	1
RAMANAGARA	CHANNAPATNA	G UMPS OLD DAIRA-(RMSA)	29320715802	1
YADAGIRI	SHAHAPUR	GOVT. JC GOGI	29330704025	1
UTTARA KANNADA SIRSI	HALIYAL	GOVT M L A I MODEL SCHOOL	29340412004	1
UTTARA KANNADA SIRSI	MUNDAGOD	JUNIOR COLLEGE MUNDGOD	29341008323	1
UTTARA KANNADA SIRSI	MUNDAGOD	GOVT.GHPS URDU INDIRANAGAR	29341008326	1
VIJAYANAGARA	HAGARIBOMMANAHALLI	GHPS HOSAKERI	29120302601	1

Annexure VII

Elementary: List of Approved Schools for Rain Water Harvesting

District Name	Block Name	School Name	UDISE Code
DHARWAD	HDMC	GOVT SPECIFIC CAT RESIDENTIAL SCHOOL GHANTIKERI	29090605021
SHIVAMOGGA	THIRTHAHALLI	SPECIFIC CATEGORY CHILDREN RES. SCHOOL AGUMBE	29150732803
MYSURU	MYSORE NORTH	GOVERNMENT RESIDENTIAL SCHOOL FOR SPECIAL CATEGRORY	29260706715

KARNATAKA KGBV Type -I (Classes VI -VIII) RECOMMENDED LIST REGARDING INCINERATORS 2023-24

District Name	School Name	UDISE CODE	School with Hostel/ Only Hostel	REMARKS
BAGALKOT	GOVT-KASTURI BALAKIYAR VASATI GRUHA SCHOOL KUDALSANGAM	29020713813	School with Hostel	Eligible
BAGALKOT	KGBV SCHOOL JAMAKHANDI	29020908204	School with Hostel	Eligible
BAGALKOT	GOVT- KASTURBA GANDHI BALAKIYAR VASATI SCHOOL BALLUR R.C	29021114010	School with Hostel	Eligible
BALLARI	KGBV TEKKALAKOTE	29120811603	School with Hostel	Eligible
BIDAR	KASTURBA GANDHI BALIKA VIDYALAYA KITTA	29050218511	School with Hostel	Eligible
BIDAR	KGBV HPS KAPLAPUR (W)	29050406705	School with Hostel	Eligible
CHITRADURGA	KGBV CHALLAKERE	29130220106	School with Hostel	Eligible
HASSAN	KASTURA GANDHI BALIK VIDYALAYA HALLIMYSORE	29230621607	School with Hostel	Eligible
KALBURGI	KGBV CHINAMGERA	29040202904	School with Hostel	Incinerator already available but not functional
KOLAR	KGBV RAMASAGARA	29190231501	School with Hostel	Eligible
KOPPAL	KGBV DASANAL	29070203706	School with Hostel	Incinerator already available but not functional
MANDYA	KGBV SCHOOL	29220620002	School with Hostel	Eligible
RAICHUR	KASTURBA GANDHI GIRLS SCHOOL BAYYAPUR	29060501903	School with Hostel	Eligible
RAICHUR	HIGHER PRIMARY SCHOOL K.G.B.V. MALLAT	29060616604	School with Hostel	Eligible
RAMANAGARA	KASTURABA GANDHI BALIKA VIDYALAYA	29320713102	School with Hostel	Eligible
VIJAYANAGARA	KGBV BYASIGIDERI	29120301207	School with Hostel	Incinerator already available but not functional
VIJAYANAGARA	KGBV BANAVIKALLU	29120600809	School with Hostel	Eligible
VIJAYAPURA	GOVT KGBV SCHOOL B BAGEWADI	29030306105	School with Hostel	Incinerator already available but not functional

Annexure VIII B

KARNATAKA KGBV Type -III (Classes VI -XII) RECOMMENDED LIST REGARDING INCINERATORS 2023-24

DISTRICT NAME	SCHOOL NAME	UDISE CODE	SCHOOL WITH HOSTEL/ONLY HOSTEL	REMARKS
KOPPAL	KGBV URDU(MINORITY) SIDDAPUR	29070213115	School with Hostel	Eligible
VIJAYANAGARA	KGBV KAMLAPUR	29120515503	School with Hostel	Eligible
YADAGIRI	KGBV TYPE 3 WADAGERA	RA 29330714221 School with Hostel		Eligible
YADAGIRI	KGBV TYPE 3 TINTHANI	29330820406	School with Hostel	incinerator already available but not functional
YADAGIRI	KGBV TYPE 3 ABBE TUMKUR	29331012705	School with Hostel	Eligible

Annexure VIII C

KARNATAKA KGBV Type -IV (IX-XII) RECOMMENDED LIST REGARDING INCINERATORS 2023-24

District	U-DISE Code	School with Hostel/ Only Hostel	
Bagalkote	29020204606	Only Hostel	
Bagalkote	29020114402	Only Hostel	
Bagalkote	29020603004	Only Hostel	
Bagalkote	29020713811	Only Hostel	
Bagalkote	29020908203	Only Hostel	
Bagalkote	29021113805	Only Hostel	
Belgum	29011105008	Only Hostel	
Belgum	29011210110	Only Hostel	
Bellary	29120906313	Only Hostel	
Bellary	29120301206	Only Hostel	
Bellary	29120808520	Only Hostel	
Bellary	29120704209	Only Hostel	
Bellary	29120600806	Only Hostel	
Bellary	29140708107	Only Hostel	
Bidar	29050100132	Only Hostel	
Bidar	29050218505	Only Hostel	
Bidar	29050502310	Only Hostel	
Bidar	29050406703	Only Hostel	
Bijapur	29030324901	Only Hostel	
Bijapur	29030500601	Only Hostel	
Bijapur	29030806901	Only Hostel	

District	U-DISE Code	School with Hostel/ Only Hostel	
Bijapur	29031091580	Only Hostel	
Bijapur	29031016202	Only Hostel	
Chikkaballapur	29290105703	Only Hostel	
Chikkaballapur	29290600702	Only Hostel	
Chikkaballapur	29290528104	Only Hostel	
Chikkaballapur	29290600702	Only Hostel	
Chikkodi	29301004943	Only Hostel	
Chikkodi	29301406620	Only Hostel	
Chitradurga	29130219806	Only Hostel	
Chitradurga	29130612408	Only Hostel	
Chamarajanagar	29270126504	only Hostel	
Chamarajanagar	29270529603	only Hostel	
Chamarajanagar	29270219002	only Hostel	
Chamarajanagar	29271204302	only Hostel	
Dharwad	29090111411	Only Hostel	
Dharwad	29090303103	Only Hostel	
Gadag	29080406306	Only Hostel	
Gadag	29080201509	Only Hostel	
Kalaburgi	29040210106	only Hostel	
Kalaburgi	29040115207	only Hostel	
Kalaburgi	29040302226	only Hostel	
Kalaburgi	29040405806	only Hostel	
Kalaburgi	29040611517	only Hostel	
Kalaburgi	29041108805	only Hostel	
Kalaburgi	29040913404	only Hostel	
Hassan	29230621606	only Hostel	

District	U-DISE Code	School with Hostel/ Only Hostel	
Kolar	29190231501	Only Hostel	
Kolar	29191016203	Only Hostel	
Kolar	29191228706	Only Hostel	
Koppal	29070300611	Only Hostel	
Koppal	29070914506	Only Hostel	
Koppal	29070201610	Only Hostel	
Koppal	29070404812	Only Hostel	
Madhugiri	29260622605	Only Hostel	
Mysore	29260623005	Only Hostel	
Mysore	29260334304	Only Hostel	
Mysore	29260429305	Only Hostel	
Mysore	29261121908	Only Hostel	
Mysore	29260928710	Only Hostel	
Mysore	29260807206	Only Hostel	
Mandya	29220607904	Only Hostel	
Mandya	29220303605	Only Hostel	
Raichur	29060501904	Only Hostel	
Raichur	29060609419	Only Hostel	
Raichur	29060800104	Only Hostel	
Raichur	29060703405	Only Hostel	
Raichur	29060105902	Only Hostel	
Ramanagar	29320713101	Only Hostel	
Yadagiri	29330712348	Only Hostel	
Yadagiri	29330819441	Only Hostel	
Yadagiri	29331014275	Only Hostel	

Annexure IX

List of Schools approved for upgradation for Secondary Schools

Sr. No	Name of the District	Name of Govt. Middle School /Upper primary school (UPS) proposed for upgradation into secondary school	UDISE Code of the school
1	BAGALKOTE	HPS KALLAPUR SK	29020107401
2	BALLARI	GHPS YERRANGALI ,WEST	29120109501
3	HAVERI	GHPS SCH RAHUTANAKATTI	29111412801
4	KOPPAL	GHPS GUDADUR .M	29070404001
5	RAICHUR	GHS PAIDODDI	29060514401
6	RAICHUR	GHPS MADASIRAWARA	29060808301
7	RAICHUR	GHPS BUDIVAL	29060802004
8	VIJAYANAGARA	GHPS POTALAKATTE	29120505701

Sr. No	Name of the District	Name of Govt. Secondary school proposed for upgradation into Higher Secondary school	UDISE Code of the school
1	BAGALKOTE	GOVT- HIGH SCHOOL HALIGERI	29020104002
2	CHAMARAJA NAGAR	GHS BACHAHALLI	29270204704
3	CHAMARAJA NAGAR	GHS KUDALUR	29271310105
4	RAICHUR	GOVT HS KOPPAR (29060110001)	29060110001
5	RAICHUR	GHS KURADI	29060609606
6	UTTAR KANNADA	KARNATAKA PUBLIC SCHOOL SANTEGULI	29100509803

List of Schools approved for upgradation for Higher Secondary Schools

Vocational Education

Sl. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
1	BAGALKOT	GOVT- HIGH SCHOOL AND JR.COLLEGE MAHALINGAPUR	29021113202	Agriculture	Solanaceous Crop Cultivator
2	BAGALKOT	GOVT CO.JR COLLEGE HUNNUR	29020902409	Automotive	Four Wheeler Service Assistant 3
3	BAGALKOT	GOVT-JUNIOR COLLEGE (HIGH SCHOOL SECTION) SULEBHAVI	29020714206	Beauty & Wellness	Assistant Beauty Therapist
4	BAGALKOT	GOVT- BOYS HIGH SCHOOL ANDJR.COMP GULEDGUDD	29020117107	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
5	BAGALKOT	GOVT- HIGH SCHOOL AND Jr. COMP BADAMI CITY	29020115502	Retail	Store Operation assistant
6	BAGALKOT	GOVT- HIGH SCHOOL AND JR.COMP HEBBALLI	29020104906	Beauty & Wellness	Assistant Beauty Therapist
7	BAGALKOT	GOVT- HIGH SCHOOL AND JR COLLEGE NAGARAL	29021106108	Beauty & Wellness	Assistant Beauty Therapist
8	BAGALKOT	KARNATAKA PUBLIC SCHOOLS GOVT-GJC COMPOSITE DHANNUR	29020704505	Automotive	Four Wheeler Service Assistant 3
9	BAGALKOT	GOVT-JUNIOR COLLEGE (HIGH SCHOOL SECTION) ILKAL	29020717402	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
10	BELAGAVI CHIKKODI	GHS BELAVI	29300701504	Agriculture	Solanaceous Crop Cultivator
11	BENGALURU RURAL	G J C DEVALAPURA	29210418702	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
12	BENGALURU U SOUTH	KARNATAKA PUBLIC SCHOOLS GHS ADUGODI	29200911608	Automotive	Four Wheeler Service Assistant 3
13	BENGALURU U SOUTH	GHS BYTARAYANAPURA	29200801364	Beauty & Wellness	Assistant Beauty Therapist
14	BENGALURU U SOUTH	KARNATAKA PUBLIC SCHOOLS GHS ATTIGUPPE	29200800236	Retail	Store Operation assistant
15	CHITRADURGA	GOVTJU COLLEGE TURUVANURU	29130113206	Beauty & Wellness	Assistant Beauty Therapist
16	CHITRADURGA	KARNATAKA PUBLIC SCHOOLS GJC (8-12)	29130516611	Agriculture	Solanaceous Crop Cultivator

SI. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
		SRIRAMPURA			
17	CHITRADURGA	GOVT PU COLLEGE UP HALLI	29130419503	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
18	CHITRADURGA	GOVT. P.U. COLLEGE C.G. HALLI	29130104404	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
19	DAKSHINA KANNADA	GOVT. PRE UNIVERSITY COLLEGE KURNAD	29240104405	Automotive	Four Wheeler Service Assistant 3
20	DAKSHINA KANNADA	DKZP GOVT. PRE UNIVERSITY COLLEGE VENOOR	29240207902	Beauty & Wellness	Assistant Beauty Therapist
21	DAKSHINA KANNADA	GPUC VAMADAPADAVU, BANTWAL TQ, DK	29240101703	Retail	Store Operation assistant
22	DAKSHINA KANNADA	DKZP GOVT. PRE UNIVERSITY COLLEGE KANIYURU	29240402903	Automotive	Four Wheeler Service Assistant 3
23	DAKSHINA KANNADA	DKZP GOVT. PRE UNIVERSITY COLLEGE KADABA	29240402706	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
24	DAKSHINA KANNADA	DKZP GOVT. PRE UNIVERSITY COLLEGE ALADANGADY	29240200302	Agriculture	Solanaceous Crop Cultivator
25	DAKSHINA KANNADA	KARNATAKA PUBLIC SCHOOLS KEYYUR - SECONDARY	29240403307	Automotive	Four Wheeler Service Assistant 3
26	DAKSHINA KANNADA	DKZP GOVT. PRE UNIVERSITY COLLEGE GERUKATTE	29240202104	Automotive	Four Wheeler Service Assistant 3
27	DAVANAGERE	GJC - CHANNAGIRI	29140122902	Retail	Store Operation assistant
28	DAVANAGERE	GJC-NALLUR	29140116715	Beauty & Wellness	Assistant Beauty Therapist
29	DAVANAGERE	STJ GJC-HIREKOGALURU	29140109104	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
30	DAVANAGERE	GOVT P.U COLLEGE-SAVALANGA	29140511304	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
31	DAVANAGERE	GJC - MALEBENNURU	29140405625	Agriculture	Solanaceous Crop Cultivator
32	DAVANAGERE	GJC-ARASAPURA	29140200502	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
33	DAVANAGERE	GJC-KAKKARGOLLA	29140204104	Beauty & Wellness	Assistant Beauty Therapist
34	DAVANAGERE	GOVT PU COLLEGE HOSAKERE	29140606104	Agriculture	Solanaceous Crop Cultivator

SI. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
35	DHARWAD	KARNATAKA PUBLIC SCHOOLS F.C.M KARNATAK PUBLIC SCHOOL, GUDGERI	29090401708	Beauty & Wellness	Assistant Beauty Therapist
36	HASSAN	GJC BANAVARA	29230314914	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
37	HASSAN	GPUC HIGH SCHOOL SECTION	29230333207	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
38	HASSAN	GOVT JUNIOR COLLEGE HALLYMYSORE	29230621606	Automotive	Four Wheeler Service Assistant 3
39	KALBURGI	GOVT HIGH SCHOOL MALLI	29040609404	Automotive	Four Wheeler Service Assistant 3
40	KALBURGI	GOVT. P.U.COLLEGE MALKHED	29040906724	Retail	Store Operation assistant
41	KOLAR	GJC GIRLS	29190243601	Beauty & Wellness	Assistant Beauty Therapist
42	KOLAR	NEW GOVT P U COLLEGE	29190738303	Beauty & Wellness	Assistant Beauty Therapist
43	KOLAR	GJC VEMGAL	29190734506	Automotive	Four Wheeler Service Assistant 3
44	KOLAR	GJC TEKAL	29190930904	Beauty & Wellness	Assistant Beauty Therapist
45	KOLAR	GJC GIRLS MULBAGAL	29191048604	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
46	KOLAR	GJC BOYS	29190736206	Retail	Store Operation assistant
47	KOLAR	GJC MALLANAYAKANAHALLI	29191020603	Agriculture	Solanaceous Crop Cultivator
48	MANDYA	KARNATAKA PUBLIC SCHOOLS GPUC KIKKERI	29220118014	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
49	MANDYA	GJC K.R.SAGARA	29220710002	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
50	MANDYA	GJC AKKIHEBBALU	29220100705	Automotive	Four Wheeler Service Assistant 3
51	MANDYA	GHS SARAGOORU	29220314306	Automotive	Four Wheeler Service Assistant 3
52	MYSURU	GJC GIRLS RP ROAD	29260929401	Beauty & Wellness	Assistant Beauty Therapist
53	MYSURU	GOVT BOYS JUNIOR COLLEGE PERIYAPATNA	29261025913	Automotive	Four Wheeler Service Assistant 3

Sl. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
54	MYSURU	GHS ANTHARASANTE	29260309106	Automotive	Four Wheeler Service Assistant 3
55	MYSURU	GOVT P U COLLEGE, BILIKERE	29260407907	Agriculture	Solanaceous Crop Cultivator
56	MYSURU	KARNATAKA PUBLIC SCHOOLS GJC MUGURU	29261113607	Agriculture	Solanaceous Crop Cultivator
57	MYSURU	GPUC HANAGODU	29260401808	Beauty & Wellness	Assistant Beauty Therapist
58	MYSURU	KARNATAKA PUBLIC SCHOOLS GOVERNMENT HIGH SCHOOL SIDDA RAMANA HUNDI	29260810002	Agriculture	Solanaceous Crop Cultivator
59	MYSURU	GJC RATHNAPURI	29260415705	Agriculture	Solanaceous Crop Cultivator
60	MYSURU	GJC KARIMUDDANAHALLI	29260418003	Agriculture	Solanaceous Crop Cultivator
61	MYSURU	KARNATAKA PUBLIC SCHOOLS GOVERNMENT HIGH SCHOOL RAJENDRANAGARA RMSA	29260705106	Retail	Store Operation assistant
62	MYSURU	GJC GIRLS BANNUR	29261121909	Automotive	Four Wheeler Service Assistant 3
63	RAICHUR	GMHIGHER PRIMARY SCHOOL YARAGERA_ Upgraded_ RMSA	29060713901	Automotive	Four Wheeler Service Assistant 3
64	RAICHUR	GOVT PU COLLEGE GABBUR	29060104004	Beauty & Wellness	Assistant Beauty Therapist
65	RAICHUR	GOVT. HS BOYS DEVADURGA	29060120605	Automotive	Four Wheeler Service Assistant 3
66	RAICHUR	GIRLS GOVT P U COLLEGE MASKI	29060512323	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
67	RAICHUR	GOVT HIGH SCHOOL POTHNAHAL	29060612405	Beauty & Wellness	Assistant Beauty Therapist
68	RAICHUR	GOVT P U COLLEGE RODALBANDA UKP	29060515305	Beauty & Wellness	Assistant Beauty Therapist
69	RAICHUR	GOVT PU COLLEGE BOYS JALAHALLI	29060107809	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
70	RAICHUR	GOVT PU COLLEGE GILLESUGUR	29060704111	Beauty & Wellness	Assistant Beauty Therapist
71	RAICHUR	GHS MASARKAL	29060111804	Agriculture	Solanaceous Crop Cultivator
72	RAICHUR	GOVT PU COLLEGE SIRWAR	29060613822	Agriculture	Solanaceous Crop Cultivator
73	RAICHUR	GHS GALAG	29060104107	Automotive	Four Wheeler Service

SI. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
					Assistant 3
74	RAICHUR	GOVT HS AND PU COLLEGE ALABANOOR	29060800104	Beauty & Wellness	Assistant Beauty Therapist
75	RAICHUR	GOVERNMENT HIGH SCHOOL BALLATAGI	29060601207	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
76	RAICHUR	GOVT PU COLLEGE BOYS ARKERA	29060101203	Automotive	Four Wheeler Service Assistant 3
77	RAICHUR	GOVT P U COLLEGE HIGH SSCHOOL SECTION SAJJALAGUDDA	29060515404	Agriculture	Solanaceous Crop Cultivator
78	RAICHUR	GHS GONWAR	29060804003	Beauty & Wellness	Assistant Beauty Therapist
79	RAMANAGARA	G H S CHIKKAMUDUVADI	29320807507	Agriculture	Solanaceous Crop Cultivator
80	SHIVAMOGGA	GPUC-URDU DONABAGATTA	29150110608	Agriculture	Solanaceous Crop Cultivator
81	SHIVAMOGGA	GPUC SHIRAVANTHE	29150304907	Agriculture	Solanaceous Crop Cultivator
82	SHIVAMOGGA	GPUC, HS SECTION, ANAVERI	29150100809	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
83	SHIVAMOGGA	GJC SHIRALAKOPPA	29150428601	Automotive	Four Wheeler Service Assistant 3
84	SHIVAMOGGA	GPUC HIGH SCHOOL SECTION HOSURU	29150414453	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
85	SHIVAMOGGA	GPUC HIGH SCHOOL SECTION ISSUR	29150415004	Retail	Store Operation assistant
86	SHIVAMOGGA	GJC GIRLS THIRTHAHALLI	29150736703	Beauty & Wellness	Assistant Beauty Therapist
87	TUMAKURU	KARNATAKA PUBLIC SCHOOLS GJC BELLAVI	29180913607	Agriculture	Solanaceous Crop Cultivator
88	TUMAKURU	G J C TURUVEKERE	29180721903	Agriculture	Solanaceous Crop Cultivator
89	TUMAKURU	KARNATAKA PUBLIC SCHOOLS GPUC AMRUTHUR	29181002805	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
90	TUMAKURU	GJC BOYS GUBBI Ward-2	29180200209	Automotive	Four Wheeler Service Assistant 3
91	TUMAKURU	GJC MANCHALADORE	29180225102	Agriculture	Solanaceous Crop Cultivator
92	TUMAKURU MADHUGIRI	GOVT JUNIOR COLLEGE SIRA	29310620801	Apparels, Made ups and Home Furnishing	Sewing Machine Operator

Sl. No.	Name of District	Name of Schools	UDISE Code	Sector 1	Job Role
93	UDUPI	GPUC UPPUNDA	29160404807	Automotive	Four Wheeler Service Assistant 3
94	UDUPI	GPUC NAVUNDA	29160404108	Beauty & Wellness	Assistant Beauty Therapist
95	UDUPI	GPUC KAMBADAKONE	29160402605	Agriculture	Solanaceous Crop Cultivator
96	UDUPI	GPUC HALADI	29160309203	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
97	VIJAYANAGARA	GOVT PU COLLEGE LAXMIPURA	29140704902	Apparels, Made ups and Home Furnishing	Sewing Machine Operator
98	VIJAYAPURA	KARNATAKA PUBLIC SCHOOLS GOVT PU COLLEGE KUDAGI HIGH SCHOOL SECTION	29030306906	Automotive	Four Wheeler Service Assistant 3
99	VIJAYAPURA	GOVT. PU COLLEGE KAGGOD	29030505403	Beauty & Wellness	Assistant Beauty Therapist
100	VIJAYAPURA	KARNATAKA PUBLIC SCHOOLS GOVT PU COLLEGE HALAGUNAKI	29030804103	Automotive	Four Wheeler Service Assistant 3

Annexure XII

Incinerator

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
JAMAKHANDI	GOVT PU COLLEGE FOR GIRLS	29020908382	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1700
HUNAGUND	GOVT- GIRLS JUNIOR COLLEGE (HIGH SCHOOL SECTION) ILKAL	29020718402	DoE	Higher Secondary with grades 9 to 12	1430
BAGALKOT	GOVT PU COLLEGE FOR GIRLS	29020211205	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1090
BILAGI	GOVT JR.COLEGE BILAGI	29020601128	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	524
MUDHOL	GOVT- HIGH SCHOOL AND JR.COLLEGE MAHALINGAPUR	29021113202	DoE	Higher Secondary with grades 9 to 12	599
BELLARY WEST	GOVT PU COLLEGE KURUGODU	29120105535	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	382
SANDUR	GOVT PU COLLEGE FOR GIRLS	29120706978	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	348
BELLARY EAST	GOVT EX MUNCIPAL PU COLLEGE BLY	29120901729	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	437
BELGAUM CITY	SARSWATI GIRLS PU COLLEGE SHAHAPUR	29010301905	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	368
RAMDURG	GOVT PU COLLEGE RAMDURG RAMDURG	29011113202	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	386
BELGAUM CITY	GOVERNMENT SARDARS PU COLLEGE KAKTIVES	29010303704	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	703
BELGAUM CITY	GOVERNMENT CHINTAMNARAO PU COLLEGE SHAHAPUR	29010302409	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	186
BAILHONGAL	GOVT PU COLLEGE (RAJGURU SWAMIJI) KITTUR KITTUR	29010206728	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	722
ATHANI	GOVT. PU COLLEGE, ATHANI (PUC)	29300112502	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	313

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
CHIKODI	GOVT COMPOSITE PRE UNIVERSITY COLLEGE MAJALATTI	29300509202	DoE	Higher Secondary with grades 9 to 12	1297
HUKKERI	GOVT PU COLLEGE, PACHAPUR	29300707809	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	112
HUKKERI	GOVT PU COLLEGE, HUKKERI	29300715304	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	301
HOSAKOTE	G PU COLLEGE FOR GIRLS, HOSAKOTE TOWN	29210422041	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1108
NELAMANGALA	GOVT SGM PU COLLEGE	29210120846	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	335
NORTH1	GOVT PUC PEENYA	29280235611	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	504
NORTH2	GHS (BOYS) 18 TH CRO MALLES	29280502011	DoE	Higher Secondary with grades 9 to 12	567
SOUTH1	GOVT PU COLLEGE FOR GIRLS	29200111147	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	777
SOUTH2	VANIVILAS GOVT HS	29200801027	DoE	Higher Secondary with grades 9 to 12	589
SOUTH3	GOVT PRE UNIVERSITY COLLEGE(HIGH SCHOOL SECTION) MADIVALA	29200903837	DoE	Higher Secondary with grades 9 to 12	127
BASAVAKALYAN	GOVT. NEELAMBIKA P.U. COLLEGE GIRLS	29050220503	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	720
CHAMARAJA NAGAR	GOVT PU COLLEAGE GIRLS CH NAGAR (PU SECTION)	29270126510	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	654
CHINTAMANI	GIRLS PU COLLEGE CHINTAMANI	29290440015	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	849
SRINGERI	GOVT PU COLLEGE SRINGERI (PU)	29170103612	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	272
CHIKMAGALUR	GIRLS GJC BASAVANAHALLY (PU)	29170600143	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	500
CHIKMAGALUR	GJC CHIKMAGALUR	29170600140	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	803
KADUR	GIRLS GJC KADUR (PU)	29170501816	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	436

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
KADUR	GJC, KADUR	29170532504	DoE	Higher Secondary with grades 9 to 12	897
CHALLAKERE	GOVT PU COLLEGE	29130219542	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	684
CHITRADURGA	GOVT PU COLLEGE GIRLS	29130126410	DoE	Higher Secondary with grades 9 to 12	410
MOLAKALMUR	GOVT PU COLLEGE	29130600704	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	322
MANGALURU NORTH	DKZP GOVT. PRE UNIVERSITY COLLEGE BALMATTA	29240302807	DoE	Higher Secondary with grades 9 to 12	112
SULLIA	DKZP GOVT. PRE UNIVERSITY COLLEGE SULLIA	29240504606	DoE	Higher Secondary with grades 9 to 12	676
HONNALI	GJC - HONNALI	29140513405	DoE	Higher Secondary with grades 9 to 12	595
JAGALUR	GOVT PU COLLEGE JAGALUR	29140616201	DoE	Higher Secondary with grades 9 to 12	927
DAVANAGERE(N)	GJC-KAKKARGOLLA	29140204104	DoE	Higher Secondary with grades 9 to 12	338
DAVANAGERE(S)	GOVT MOTHI VEERAPPA PUC-P.J.EXTN	29140309206	DoE	Higher Secondary with grades 9 to 12	36
DAVANAGERE(S)	GOVT SEETHAMMA GIRLS PU COLLEGE- K.B EXTN, DAVANGERE	29140308606	DoE	Higher Secondary with grades 9 to 12	1269
KUNDAGOL	GOVT LSBSSM PU COLLEGE KUNDAGOL	29090405818	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	174
DHARWAD CITY	GOVT PU COLLEGE R.N. SHETTI STEDIUM DWD	29090701222	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	326
HUBLI	GOVT PU COLLEGE	29090205909	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	241
RON	GOVT PU COLLEGE GAJENDRAGAD	29080409942	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	372
MUNDARAGI	GOVT PU COLLEGE MUNDARAGI	29080205548	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	617
NARAGUND	GOVT PU COLLEGE FOR BOYS	29080303125	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	574

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
SHIRHATTI	SPMB GOVT IND PU COLLEGE SHIGLI(PUC)	29080502413	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	379
GADAG CITY	GOVT PU COLLEGE SIDDALIN NAGAR GADAG(PUC)	29080103511	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	502
CHANNARAYAPAT NA	GOVT INDP PUC C R P	29230515463	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	702
CHANNARAYAPAT NA	GGPUC INDP CRP(11-12)	29230515464	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	306
HOLENARASIPURA	GOVT GIRLS JUNIOR COLLEGE HOLENARASIPURA	29230612135	DoE	Higher Secondary with grades 9 to 12	889
HASSAN	Govt High School VANIVILAS	29230744101	DoE	Higher Secondary with grades 9 to 12	608
ARAKALAGUDU	GOVT JUNIOR GIRLS COLLEGE ARAKALAGUDU	29230228325	DoE	Higher Secondary with grades 9 to 12	545
SHIGGOAN	GOVT P U COLLEGE TADAS	29111707611	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	378
HIREKERUR	GOVT PU COLLEGE HIREKERUR	29110714604	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	343
HANAGAL	GOVT P U COLLEGE HANAGAL	29110518509	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	350
HAVERI	GOVT INDEPENDENT GIRLS PU COL HAVERI	29110610607	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1180
SHIGGOAN	GOVT P U COLLEGE SHIGGAON	29111712602	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	380
ALAND	GOVT.PU.COLLEGE.(GIRL'S)ALAND	29040115208	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	390
SEDAM	GOVT PU COLLEGE	29040909249	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	451
AFZALPUR	GOVT PU COLLEGE	29040210109	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	393
GULBARGA SOUTH	GOVT PU GIRL COLLEGE S.P OFFICE GULBARGA	29040534304	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	2168
JEWARGI	GOVT PU COLLEGE FOR GIRLS	29040603007	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	542

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
SOMAVARPET	GPUC - Highschool Section, KUSHALNAGAR	29250218601	DoE	Higher Secondary with grades 9 to 12	523
KOLAR	GJC GIRLS KOLAR	29190736207	DoE	Higher Secondary with grades 9 to 12	1033
MALUR	GGPUC MALUR	29190955404	DoE	Higher Secondary with grades 9 to 12	1195
MULBAGAL	GOVT PU COLLEGE FOR GIRLS	29191033440	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	374
BANGARAPETE	GJC GIRLS	29190243601	DoE	Higher Secondary with grades 9 to 12	1590
GANGAVATHI	GOVT PU COLLEGE KARATAGI	29070208747	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	315
GANGAVATHI	KARNATAKA PUBLIC SCHOOLS GOVT JUNIOR COLLEGE KANAKAGIRI	29070208426	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	404
KUSTAGI	GOVT GIRLS JR COLLEGE KUSTAGI	29070409629	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	768
YELBURGA	GHS GIRLS YELBURGA	29070916304	DoE	Secondary/Sr. Sec. only with grades 9 & 10	410
GANGAVATHI	GOVT SMNM GIRLS PU COLLEG	29070200119	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	996
NAGAMANGALA	GJC GIRLS NAGAMANAGALA	29220538501	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	409
MALAVALLY	GPUG COLLEGE MALAVALLI	29220320405	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	304
T.N.PURA	GJC BANNUR	29261123504	DoE	Higher Secondary with grades 9 to 12	770
MYSORE SOUTH	GJC (11-12) MAHARANIES N.S.ROAD	29261200728	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	2201
H.D.KOTE	GOVT PU COLLEGE FOR GIRLS	29260335405	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	591
MYSORE NORTH	Govt PU college, vontikoppal	29260704206	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	396
K.R.NAGARA	GIRLS GOVT JUNIOR COLLEGE, K R NAGARA-WARD-17	29260623004	DoE	Higher Secondary with grades 9 to 12	1146

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
MYSORE SOUTH	DEVARAJA GIRLS GOVT IND P.U.COLLEGE	29261203014	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	521
NANJANAGUD	GJC GIRLS RP ROAD	29260929401	DoE	Higher Secondary with grades 9 to 12	1974
T.N.PURA	GJC GIRLS BANNUR	29261121909	DoE	Higher Secondary with grades 9 to 12	598
LINGASUGUR	GOVT PU COLLEGE HIGH SCHOOL SECTION LINGASUGUR	29060523104	DoE	Higher Secondary with grades 9 to 12	686
SINDHANUR	GHS FOR GIRLS SINDHANUR	29060817502	DoE	Higher Secondary with grades 9 to 12	219
MANVI	GOVT PU COLLEGE SIRWAR	29060613822	DoE	Higher Secondary with grades 9 to 12	346
RAMANAGARA	GOVT PU COLLAGE FOR GIRLS	29320611703	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	650
CHANNAPATNA	GOVT GIRLS PU COMPOSITE COLLEGE	29320714904	DoE	Higher Secondary with grades 9 to 12	1965
SHIKARIPUR	GPUC GIRLS SHIKARIPUR	29150428801	DoE	Higher Secondary with grades 9 to 12	494
SAGAR	GOVT.GIRLS(IND)PUC SAGAR	29150332503	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	758
SHIMOGA	GIRLS GPUC HIGH SCHOOL SECTION BH ROAD SHIMOGA	29150539609	DoE	Higher Secondary with grades 9 to 12	941
SORAB	KARNATAKA PUBLIC SCHOOLS KPS ANAVATTI	29150605810	DoE	Higher Secondary with grades 9 to 12	1441
SHIKARIPUR	KARNATAKA PUBLIC SCHOOLS GPUC GIRLS SHIRALAKOPPA	29150428701	DoE	Higher Secondary with grades 9 to 12	801
THIRTHAHALLI	GPUC THIRTHAHALLI	29150737804	DoE	Higher Secondary with grades 9 to 12	598
BHADRAVATI	GGPUC NEW TOWN BHADRAVATHI	29150117306	DoE	Higher Secondary with grades 9 to 12	265
TURUVEKERE	G J C TURUVEKERE	29180721903	DoE	Higher Secondary with grades 9 to 12	506
TUMKUR	GJC HIGH SCHOOL EXTN BH Road	29180900907	DoE	Higher Secondary with grades 9 to 12	639

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
CHIKNAYAKANHA LLI	GPUC C.N.HALLI W-1 (PU)	29180117504	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	428
KUNIGAL	GGJC KUNIGAL TOWN	29181013703	DoE	Higher Secondary with grades 9 to 12	566
GUBBI	GJC GIRLS GUBBI Ward-2	29180200208	DoE	Higher Secondary with grades 9 to 12	709
BYNDOOR	GPUC BYNDOOR	29160405012	DoE	Higher Secondary with grades 9 to 12	916
HONNAVAR	GOVERNMENT P.U. COLLEGE HONNAVAR	29100800102	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	465
KUMTA	GOVT P U COLLEGE HIREGUTTI	29100501705	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	259
KARWAR	GOVT P U COLLEGE KARWAR	29100206403	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	834
ANKOLA	GOVERNMENT P.U. COLLEGE ANKOLA	29100112013	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	247
HALIYAL	GOVT SHIVAJI P U COLLEGE SHIVAJI C. HALIYAL	29340427205	DoE	Higher Secondary with grades 9 to 12	697
MUNDAGOD	JUNIOR COLLEGE MUNDGOD	29341008323	DoE	Higher Secondary with grades 9 to 12	267
YELLAPUR	GOVT PU COLLEGE YELLAPUR	29340715302	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	428
HADAGALI	GOVT GIRLS PU COLLEGE HADAGALI	29120206610	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	263
HADAGALI	GOVT PU COLLEGE FOR BOYS	29120205346	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	266
KUDLIGI	GOVT PU COLLEGE, KOTTUR	29120611013	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	60
HOSPET	GOVT GIRLS PU COLLEGE HOSPET	29120509605	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1298
HOSPET	GOVT GIRLS PU COLLEGE KAMPLI	29120513507	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	658
KUDLIGI	GOVT PU COLLEGE	29120605258	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	300
HAGARIBOMMANA	GB GOVT PU COLLEGE HB HALLI	29120302130	DoE	Hr. Sec. /Jr. College only	846

Block Name	Schools Name	UDISE Code	Schools Management	School Category	Girls Enrolment
HALLI				with grades 11 & 12	
MUDDEBIHAL	GOVT PU COLLEGE MUDDEBIHAL	29031015808	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	711
BASAVAN BAGEWADI	GOVT GIRLS PU COLLEGE BAGEWADI	29030323812	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	505
BIJAPUR CITY	KARNATAKA PUBLIC SCHOOLS GOVT PU COLLEGE FOR GIRLS VIJAYAPURA	29031400919	DoE	Higher Secondary with grades 9 to 12	2265
SHAHAPUR	GOVT PU COLLEGE FOR GIRLS	29330712339	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1403
SHORAPUR	GOVT GIRLS PU COLLEGE SHORAPUR	29330831212	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	652
YADGIR	GOVT GIRLS PU COLLEGE GURUMITAKAL	29331014141	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	444
SHORAPUR	GOVT PU COLLEGE KEMBHAVI	29330811732	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	226
YADGIR	GOVT PU COLLEGE GIRLS YADGIRI	29331027701	DoE	Hr. Sec. /Jr. College only with grades 11 & 12	1136

Virtual Classroom

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
DEVADURGA	GOVT. HS BOYS DEVADURGA	29060120605	DoE	Higher Secondary with grades 9 to 12	929
RAICHUR	GHS GUNJALLI	29060704603	DoE	Secondary/Sr. Sec. only with grades 9 & 10	592
RAICHUR	GHS JEGARKAL	29060706202	DoE	Secondary/Sr. Sec. only with grades 9 & 10	443
DEVADURGA	GHS RMSA BUNKALADODDI	29060102601	DoE	Secondary/Sr. Sec. with grades 1 to 10	397
LINGASUGUR	GOVERNMENT HIGH SCHOOL FOR GIRLS MUDUGAL	29060525104	DoE	Secondary/Sr. Sec. only with grades 9 & 10	366
RAICHUR	GHS BAIDODDI	29060712004	DoE	Secondary/Sr. Sec. only with grades 9 & 10	355
RAICHUR	GHS UDUMGAL KHANAPUR	29060712805	DoE	Secondary/Sr. Sec. only with grades 9 & 10	344
RAICHUR	KARNATAKA PUBLIC SCHOOLS GOVT HIGH AND PU COLLEGE MUNNARWADI,RAICHUR	29060717808	DoE	Higher Secondary with grades 9 to 12	320
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL AYANOOR _Upgraded_RMSA	29060800601	DoE	Secondary/Sr. Sec. with grades 1 to 10	301
MANVI	GOVERNMENT HIGH SCHOOL RMSA MACHANUR	29060609901	DoE	Secondary/Sr. Sec. with grades 1 to 10	299
DEVADURGA	GHS SOMANAMARDI	29060115702	DoE	Secondary/Sr. Sec. only with grades 9 & 10	298
SINDHANUR	GHS DHADESUGUR	29060803101	DoE	Secondary/Sr. Sec. only with grades 9 & 10	288
SINDHANUR	GHS WALABALLARY	29060812802	DoE	Secondary/Sr. Sec. only with grades 9 & 10	286
MANVI	GHS NAVALKAL	29060611704	DoE	Secondary/Sr. Sec. only with grades 9 & 10	242
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL VEERAPUR UPGRADED RMSA	29060812701	DoE	Secondary/Sr. Sec. with grades 1 to 10	230
SINDHANUR	GHS SUKALPET SINDHANUR	29060818002	DoE	Secondary/Sr. Sec. only with grades 9 & 10	223

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
LINGASUGUR	GHPS CHIKKAHESARUR-UPGRADED-RMSA	29060503701	DoE	Secondary/Sr. Sec. with grades 1 to 10	223
MANVI	GOVT.HIGHER PRIMARY SCHOOL CHIKALAPARAVI	29060602701	DoE	Secondary/Sr. Sec. with grades 1 to 10	209
DEVADURGA	GHS HIRERAYAKUMPI	29060106502	DoE	Secondary/Sr. Sec. only with grades 9 & 10	196
LINGASUGUR	GHPS HIRENAGANUR-UPGRADED-RMSA	29060507401	DoE	Secondary/Sr. Sec. with grades 1 to 10	182
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL UPGRADED RMSA ARALIHALLI	29060800401	DoE	Secondary/Sr. Sec. with grades 1 to 10	181
MANVI	GOVT.HIGHER PRIMARY SCHOOL THADAKAL	29060614101	DoE	Secondary/Sr. Sec. with grades 1 to 10	180
MANVI	GOVT HIGHER PRIMARY SCHOOL MALLAT	29060616601	DoE	Secondary/Sr. Sec. with grades 1 to 10	179
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL R H COLONY1 _Upgraded_RMSA	29060807103	DoE	Secondary/Sr. Sec. with grades 1 to 10	179
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL WALKAMDINNI	29060812901	DoE	Secondary/Sr. Sec. with grades 1 to 10	179
SINDHANUR	GHPS UPGRADED RMSA	29060811203	DoE	Secondary/Sr. Sec. with grades 1 to 10	174
LINGASUGUR	UPGRADED GOVERNMENT HIGHER PRIMARY SCHOOL MAKAPUR RMSA	29060511701	DoE	Secondary/Sr. Sec. with grades 1 to 10	164
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL KHANAPUR	29060109601	DoE	Secondary/Sr. Sec. with grades 1 to 10	134
MANVI	UPGRADED GOVT.HIGHER PRIMARY SCHOOL URDU KAVITHAL	29060609409	DoE	Secondary/Sr. Sec. with grades 1 to 10	128
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL CHIKKALEKKIHAL	29060503901	DoE	Secondary/Sr. Sec. with grades 1 to 10	122
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL HEDAGINAL UPGRADED RMSA	29060805801	DoE	Secondary/Sr. Sec. with grades 1 to 10	109
MANVI	GOVT UPGRADED HIGHER PRIMARY SCHOOL GIRLS MANVI	29060618409	DoE	Upper Primary with grades 1 to 8	235
SINDHANUR	KARNATAKA PUBLIC SCHOOLS GMHPS JAWALAGERA	29060807104	DoE	Upper Primary with grades 1 to 8	203
MANVI	GOVT.HIGHER PRIMARY SCHOOL KAPAGAL	29060608601	DoE	Upper Primary with grades 1 to 8	177

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
RAICHUR	GMHIGHER PRIMARY SCHOOL KALMALA	29060706701	DoE	Upper Primary with grades 1 to 8	175
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL HADAGALI	29060506501	DoE	Upper Primary with grades 1 to 8	169
DEVADURGA	KARNATAKA PUBLIC SCHOOLS GOVT CENTRAL HIGHER PRIMARY SCHOOL DEODURGA	29060120604	DoE	Upper Primary with grades 1 to 8	161
SINDHANUR	GMHPS TBP CAMP SINDHANUR	29060818101	DoE	Upper Primary with grades 1 to 8	156
DEVADURGA	GMHIGHER PRIMARY SCHOOL GABBUR	29060104001	DoE	Upper Primary with grades 1 to 8	156
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL HIREBUDUR	29060106201	DoE	Upper Primary with grades 1 to 8	155
RAICHUR	KARNATAKA PUBLIC SCHOOL MUNNURWADI RAICHUR	29060719203	DoE	Upper Primary with grades 1 to 8	153
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL SUKALPET SINDHANUR	29060818001	DoE	Upper Primary with grades 1 to 8	148
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL CENTER MASKI	29060512312	DoE	Upper Primary with grades 1 to 8	146
MANVI	GOVT.HIGHER PRIMARY SCHOOL UTAKANUR	29060614801	DoE	Upper Primary with grades 1 to 8	144
RAICHUR	GOVT.HIGHER PRIMARY SCHOOLGADHAR	29060703201	DoE	Upper Primary with grades 1 to 8	139
DEVADURGA	GMHIGHER PRIMARY SCHOOL BOYS JALAHALLI	29060107801	DoE	Upper Primary with grades 1 to 8	138
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL R H COLONY-2	29060811204	DoE	Upper Primary with grades 1 to 8	136
RAICHUR	GOVT.HIGHER PRIMARY SCHOOL AYAZAPUR	29060701101	DoE	Upper Primary with grades 1 to 8	133
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL YARAGODI	29060519301	DoE	Upper Primary with grades 1 to 8	131
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL BUDDINNI.S	29060503502	DoE	Upper Primary with grades 1 to 8	131
MANVI	GULOWER PRIMARY SCHOOL KARADIGUDDA	29060608701	DoE	Upper Primary with grades 1 to 8	128
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL HEMANUR	29060105901	DoE	Upper Primary with grades 1 to 8	125

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL KANNAL	29060510001	DoE	Upper Primary with grades 1 to 8	125
RAICHUR	GMHIGHER PRIMARY SCHOOL MANGALAWARPET	29060717802	DoE	Upper Primary with grades 1 to 8	125
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL MARALADINNI	29060512001	DoE	Upper Primary with grades 1 to 8	124
DEVADURGA	GOVT MODEL HIGHER PRIMARY SCHOOL RAMADURGA	29060114801	DoE	Upper Primary with grades 1 to 8	123
RAICHUR	GOVT.HIGHER PRIMARY SCHOOL HOSAPET	29060705501	DoE	Upper Primary with grades 1 to 8	120
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL DPEP,MARIGAMDIBBI TANDA	29060122303	DoE	Upper Primary with grades 1 to 8	119
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL PULADINNI	29060810001	DoE	Upper Primary with grades 1 to 8	119
LINGASUGUR	KARNATAKA PUBLIC SCHOOLS GOVT.HIGHER PRIMARY SCHOOL PWD.MASKI	29060512303	DoE	Upper Primary with grades 1 to 8	119
MANVI	GOVT.HIGHER PRIMARY SCHOOL ATHANUR	29060600801	DoE	Upper Primary with grades 1 to 8	119
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL DONDAMBALI	29060103901	DoE	Upper Primary with grades 1 to 8	118
MANVI	GOVT.HIGHER PRIMARY SCHOOL WATAGAL	29060615301	DoE	Upper Primary with grades 1 to 8	117
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL MUKKANAL	29060112601	DoE	Upper Primary with grades 1 to 8	116
MANVI	GOVT.HIGHER PRIMARY SCHOOL KURAKUNDA	29060609701	DoE	Upper Primary with grades 1 to 8	116
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL CHIKKABUDUR	29060102901	DoE	Upper Primary with grades 1 to 8	115
RAICHUR	GOVT.HIGHER PRIMARY SCHOOL KADLOOR	29060706601	DoE	Upper Primary with grades 1 to 8	115
MANVI	GOVT.HIGHER PRIMARY SCHOOL RAJALABANDA	29060612701	DoE	Upper Primary with grades 1 to 8	115
MANVI	GOVT.HIGHER PRIMARY SCHOOL BASSAPUR	29060601501	DoE	Upper Primary with grades 1 to 8	115
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL KOTE THURVIHAL	29060812001	DoE	Upper Primary with grades 1 to 8	115

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
RAICHUR	GOVT.HIGHER PRIMARY SCHOOL PURTHIPPALI	29060710901	DoE	Upper Primary with grades 1 to 8	114
MANVI	GOVT.HIGHER PRIMARY SCHOOL KASANADODDI	29060608901	DoE	Upper Primary with grades 1 to 8	111
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL YARAJANTI	29060519501	DoE	Upper Primary with grades 1 to 8	111
RAICHUR	GOVT.HIGHER PRIMARY SCHOOL KUDALUR	29060706602	DoE	Upper Primary with grades 1 to 8	111
DEVADURGA	GOVT.HIGHER PRIMARY SCHOOL BHOMANAGUNDA	29060102301	DoE	Upper Primary with grades 1 to 8	110
LINGASUGUR	GOVT.HIGHER PRIMARY SCHOOL GUDDADANHAL	29060506001	DoE	Upper Primary with grades 1 to 8	110
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL ALABANUR	29060810201	DoE	Upper Primary with grades 1 to 8	109
MANVI	GOVT.HIGHER PRIMARY SCHOOL POTHANHAL	29060612401	DoE	Upper Primary with grades 1 to 8	108
SINDHANUR	GOVT.HIGHER PRIMARY SCHOOL AMARAPUR	29060800201	DoE	Upper Primary with grades 1 to 8	108
SHAHAPUR	GOVT. JC GIRLS HIGH SCHOOL SECTION SHAHAPUR	29330718506	DoE	Secondary/Sr. Sec. only with grades 9 & 10	872
YADGIR	GHS STN BAZAR YADAGIRI	29331028408	DoE	Secondary/Sr. Sec. only with grades 9 & 10	572
YADGIR	GHS CHAPETLA	29331002802	DoE	Secondary/Sr. Sec. only with grades 9 & 10	291
SHORAPUR	ADARSH VIDYALAYA (RMSA) VAJJAL	29330820908	DoE	Secondary/Sr. Sec. with grades 6 to 10	281
SHORAPUR	GOVT HS HAGARATGI	29330807202	DoE	Secondary/Sr. Sec. only with grades 9 & 10	254
SHORAPUR	GOVT HPS BANADODDI	29330802202	DoE	Upper Primary with grades 1 to 8	166
SHORAPUR	GHPS MANJALAPUR	29330815501	DoE	Upper Primary with grades 1 to 8	151
YADGIR	GOVT HPS GIRLS GURUMITKAL	29331014137	DoE	Upper Primary with grades 1 to 8	139
SHAHAPUR	GOVT. HPS MADARKAL	29330709501	DoE	Upper Primary with grades 1 to 8	134

Block Name	School Name	UDISE Code	School Management	School Category	Enrolment
SHAHAPUR	GOVT. HPS KADAMGERA (K)	29330707102	DoE	Upper Primary with grades 1 to 8	132
SHORAPUR	KARNATAKA PUBLIC SCHOOLS GOVT MPS THIMMAPURA	29330832302	DoE	Upper Primary with grades 1 to 8	130
SHORAPUR	GOVT HPS SATYAMPETH	29330833102	DoE	Upper Primary with grades 1 to 8	128
SHORAPUR	GOVERNMENT MODEL PRIMARY SCHOOL KEMBHAVI	29330811702	DoE	Upper Primary with grades 1 to 8	125
SHORAPUR	GHPS GIRLS KEMBHAVI	29330811701	DoE	Upper Primary with grades 1 to 8	123
YADGIR	GOVT MPS STATION SAIDAPUR	29331011001	DoE	Upper Primary with grades 1 to 8	120
SHAHAPUR	GOVT. HPS GANGANAL	29330703801	DoE	Upper Primary with grades 1 to 8	120
SHAHAPUR	GOVT HIGHER PRIMARY SCHOOL BEVINAHALLI	29330702001	DoE	Upper Primary with grades 1 to 8	114
YADGIR	GOVT HPS KILLANKERA	29331006601	DoE	Upper Primary with grades 1 to 8	114
YADGIR	GOVT HPS KARANAGI	29331006001	DoE	Upper Primary with grades 1 to 8	114
SHAHAPUR	GHPS HULKAL K	29330715501	DoE	Upper Primary with grades 1 to 8	112
YADGIR	GOVT HIGHER PRIMARY SCHOOL SUTAR HOSAHALLI	29331012101	DoE	Upper Primary with grades 1 to 8	110

Annexure XIV

Surrender List

12.B.	Secondary Surrend	ler of Infrastructu	ireproposed ii	n AWP&B 2023-24 if any (Rs	s. in lakh)										
										Original	PAB Sanct	ion			
					UDISE Code						Physica	1			
Sl. No.	Components	District	School Category	School Name	as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
1	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL SATTI	29300106814	29300106814	2016-17	6	1		1	1	1	1	
2	Strengthening	CHIKKODI	Secondary	GOVT, HS MUSAGUPPI.	29301404704	29301404704	2016-17	0	1		1	1	1	1	
3	Strengthening	MYSORE	Secondary	GHS(8-10) BENGAL (CHANKAL)	29261004703	29261004703	2016-17	1	1	1	1	1	1	1	1
4	Strengthening	MYSORE	Secondary	S.T.S.K GHS KITTUR (PERIYAPATNA)	29261025902	29261025902	2016-17	1	1		1	1			
5	Strengthening	MYSORE	Secondary	K.R.MILLS COLONY GHS(8- 10)SIDLINGAPURA	29260806005	29260806005	2016-17	0	1		1	1			
6	Strengthening	TUMKUR	Secondary	GHS PH,COLONY TUMKUR W-10	29180900412	29180900412	2016-17	6	1		1	1	1	1	
7	Strengthening	TUMKUR	Secondary	GCHS ALBUR	29180803503	29180803503	2016-17	0	1		1	1			
8	Strengthening	MADHUGIRI	Secondary	GCHS DODDAHALLY	29310503906	29310503906	2016-17	2	1	1	1	1	1	1	1
9	Strengthening	BAGALKOT	Secondary	GHS KITTALI	29020108901	29020108901	2016-17	2	1	1	1	1	1	1	1
10	Strengthening	BAGALKOT	Secondary	GHS KERAKALMATTI	29020108402	29020108402	2016-17	2	1	1	1	1			
11	Strengthening	BAGALKOT	Secondary	GHS BADAMI CITY	29020115502	29020115502	2016-17	2	1	1	1	1			
12	Strengthening	BAGALKOT	Secondary	GOVT BOYS COMPOSIT JR.COLLEGE.(HIGH SCHOOL -SECTION) GULEDGUDD	29020117303	29020117303	2016-17	2	1	0	1	1	2	2	2
13	Strengthening	BAGALKOT	Secondary	GHS ANAWAL	29020100703	29020100703	2016-17	1	1	1	1	1			
14	Strengthening	BAGALKOT	Secondary	GHS HALIGERI	29020104002	29020104002	2016-17	1	1	1	1	1			

										Original	PAB Sanct	ion			
								[Physica	1			
Sl. No.	Components	District	School Category	School Name	UDISE Code as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
15	Strengthening	BAGALKOT	Secondary	GOVT COMPOSITE JR.COLEGE(HS- SECTION) HEBBALLI	29020104906	29020104906	2016-17	1	1	1	0	1	1	1	1
16	Strengthening	BAGALKOT	Secondary	GHS CHIKADAPUR	29020703402	29020703402	2016-17	1	1	1	0	1	1	1	1
17	Strengthening	BAGALKOT	Secondary	GOVT (HS) COMPOSITE JR.COLLEGE DHANNUR	29020704505	29020704505	2016-17	1	1		1	1	1	1	
18	Strengthening	BAGALKOT	Secondary	GHS GOVINKOPPA	29020103302	29020103302	2016-17	1	1	0	1	1			
19	Strengthening	BAGALKOT	Secondary	GUHS KERUR	29020119904	29020119904	2016-17	1	1	0	1	1			
20	Strengthening	BAGALKOT	Secondary	GHS SRI.J.D.RADDER MUSTAGERI	29020110904	29020110904	2016-17	0	1	1	1	1			
21	Strengthening	BAGALKOT	Secondary	GOVT COMPOSIT JR.COLLEGE HS - SECTION NEERABUDIHAL	29020112103	29020112103	2016-17	1	1	0	0	1	1	1	1
22	Strengthening	BAGALKOT	Secondary	GHS KAINAKATTI	29020106902	29020106902	2016-17	0	1		1	1	1	1	1
23	Strengthening	BAGALKOT	Secondary	GHS MAROL	29020712103	29020712103	2016-17	0	1		1	1			1
24	Strengthening	BAGALKOT	Secondary	GHS MURADI	29020712503	29020712503	2016-17	0	1		1	1			
25	Strengthening	BAGALKOT	Secondary	GHS GANJIHAL	29020704903	29020704903	2016-17	1			1		1	1	1
26	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL BALLIGERI	29300101317	29300101317	2016-17	3	1		1	1			-
27	Strengthening	CHIKKODI	Secondary	GOVT COMP P.U.COL,BAAD	29300702403	29300702403	2016-17	3	1		1	1			
28	Strengthening	CHIKKODI	Secondary	GOVT., HS DIGGEWADI	29301001607	29301001607	2016-17	2	1		1	1	1	1	1
29	Strengthening	CHIKKODI	Secondary	GOVT.COMP.H.S,KOHA LLI	29300104208	29300104208	2016-17	2	1		1	1	1	1	
30	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL KOTTALAGI	29300104308	29300104308	2016-17	2	1		1	1			1

12.8.8	econdary Surrend	er of Infrastruct	ureproposed ii	n AWP&B 2023-24 if any (R	s. in lakn)					Oniginal	PAB Sanct	ion			
								T		Original	PAD Sanci Physica				
SI. No.	Components	District	School Category	School Name	UDISE Code as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
31	Strengthening	CHIKKODI	Secondary	GOVT. HS, Alagawadi	29301000209	29301000209	2016-17	2	1		1	1			-
32	Strengthening	CHIKKODI	Secondary	GOVT. PU COLLEGE, NADI INGALGAON (PUC)	29300106006	29300106006	2016-17	3	1		1				
33	Strengthening	CHIKKODI	Secondary	GHS HATTARWAT	29300504206	29300504206	2016-17	1	1		1	1	1	1	1
34	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL.DHONEWADI	29300904701	29300904701	2016-17	1	1		1	1	1	1	1
35	Strengthening	CHIKKODI	Secondary	GOVT., UHS KUDACHI (RURAL)	29301005902	29301005902	2016-17	1	1		1	1	1	1	1
36	Strengthening	CHIKKODI	Secondary	G.H.S.CHIKODI	29300502440	29300502440	2016-17	0	1		1	1	1	1	1
37	Strengthening	CHIKKODI	Secondary	GOVT H.S MARATHI MED,MANAKAPUR	29300902507	29300902507	2016-17	3			1				
38	Strengthening	CHIKKODI	Secondary	GOVT. HS HALSHIRAGUR	29301005309	29301005309	2016-17	0	1		1	1	1	1	
39	Strengthening	CHIKKODI	Secondary	GOVT, HS SHIRAGUR	29301005308	29301005308	2016-17	0	1		1	1	1	1	
40	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL ARTAL BADAGI	29300101603	29300101603	2016-17	0	1		1	1			
41	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL DARUR	29300102206	29300102206	2016-17	0	1		1	1			
42	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL KESTI	29300705904	29300705904	2016-17	0	1		1	1			
43	Strengthening	CHIKKODI	Secondary	GOVT HIGH SCHOOL HUNSHYAL P Y	29301402904	29301402904	2016-17	1			1				
44	Strengthening	MYSORE	Secondary	GHS(8-10) KUVEMPUNAGAR	29261202401	29261202401	2016-17	5			1	1			
45	Strengthening	MYSORE	Secondary	GHS(8-10) HORALAVADI	29260916404	29260916404	2016-17	1	1	1	1	1	1	1	1
46	Strengthening	MYSORE	Secondary	GHS(8- 10)HANDITHAVALLI	29261016902	29261016902	2016-17	1	1	1	1	1	1	1	1
47	Strengthening	MYSORE	Secondary	GHS KALAMMANAKOPPAL U	29260601202	29260601202	2016-17	1	1		1	1	1	1	1

12.B.S	Secondary Surrend	ler of Infrastruct	ureproposed in	n AWP&B 2023-24 if any (Rs	s. in lakh)										
										Original	PAB Sanct	ion			
											Physica	1			
Sl. No.	Components	District	School Category	School Name	UDISE Code as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
48	Strengthening	MYSORE	Secondary	METAGALLI GHS(8-10)	29260805206	29260805206	2016-17	1	1		1	1	1	1	1
49	Strengthening	MYSORE	Secondary	GHS MELUR	29260602002	29260602002	2016-17	1	1		1	1			
50	Strengthening	MYSORE	Secondary	GOVT HIGH SCHOOL MEDAR'S BLOCK(8-10)	29260703911	29260703911	2016-17	1	1		1	1			
51	Strengthening	MYSORE	Secondary	GHS(8- 10)HUNASAVADI	29261006302	29261006302	2016-17	1	1		1	1			
52	Strengthening	MYSORE	Secondary	GHS(8-10)MAKODU	29261011503	29261011503	2016-17	0	1		1	1	1	1	1
53	Strengthening	MYSORE	Secondary	NAGANA HALLI GHS(8- 10)	29260821203	29260821203	2016-17	0	1		1	1	1	1	
54	Strengthening	MYSORE	Secondary	GHS(8-10) DODDAKAMARAVALLI	29261005603	29261005603	2016-17	0	1		1	1	1	1	
55	Strengthening	MYSORE	Secondary	GHS NERALAKUPPE	29260403204	29260403204	2016-17	0	1		1	1			
56	Strengthening	MYSORE	Secondary	GHS HARAVE	29260407603	29260407603	2016-17	0	1		1	1			
57	Strengthening	MYSORE	Secondary	GHS HARANAHALLI	29261002102	29261002102	2016-17	0	1		1				
58	Strengthening	MANDYA	Secondary	GOVERNMENT HIGH SCHOOL DODDAPALYA	29220707606	29220707606	2016-17	1	1	1	1	1	1	1	1
59	Strengthening	KODAGU	Secondary	GHS GALIBEEDU	29250101704	29250101704	2016-17	0	1		1				
60	Strengthening	HASSAN	Secondary	GHS, TARIMARA	29230426202	29230426202	2016-17	2	1	1	1	1	1	1	1
61	Strengthening	HASSAN	Secondary	GGHS SRAVANABELAGOLA	29230535720	29230535720	2016-17	2	1	1	1	1	1	1	1
62	Strengthening	HASSAN	Secondary	GJC BOYS R.C. ROAD HASSAN	29230742303	29230742303	2016-17	2	1	1	1	1	0	0	0
63	Strengthening	HASSAN	Secondary	GOVT HIGH SCHOOL, CHANNAPATANA, HASSAN	29230745007	29230745007	2016-17	2	1	1	1	1	0	0	0
64	Strengthening	HASSAN	Secondary	GOVT. HIGH SCHOOL, BEDIGANAHALLI	29230603802	29230603802	2016-17	2	1	1	1	1	1	1	1

12.B.S	Secondary Surren	der of Infrastructu	ireproposed ii	n AWP&B 2023-24 if any (R	s. in lakh)										
										Original	PAB Sanct	ion			
					UDISE Code						Physica	1			
Sl. No.	Components	District	School Category	School Name	as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
65	Strengthening	HASSAN	Secondary	GGHS SKLESHPUR (8- 10)	29230806939	29230806939	2016-17	2	1	1	1	1	1	1	1
66	Strengthening	HASSAN	Secondary	GHS NIDUVANI	29230623503	29230623503	2016-17	2			1	1	1	1	
67	Strengthening	HASSAN	Secondary	GHS KATHIMALLENAHALL Y	29230227802	29230227802	2016-17	0	1		1	1	1	1	1
68	Strengthening	HASSAN	Secondary	GHS KUNDUR MATTA	29230525302	29230525302	2016-17	0	1		1	1	1	1	1
69	Strengthening	HASSAN	Secondary	GHS MUTIGE HIREHALLY	29230706502	29230706502	2016-17	0	1		1	1	0	0	0
70	Strengthening	HASSAN	Secondary	GHS ALAGOWDANAHALLI	29230620702	29230620702	2016-17	0	1		1	1	1	1	1
71	Strengthening	HASSAN	Secondary	GHS,HURUDI	29230804602	29230804602	2016-17	0	1		1	1			1
72	Strengthening	HASSAN	Secondary	GHS HARADANAHALLI	29230607902	29230607902	2016-17	0	1		1		1	1	
73	Strengthening	HASSAN	Secondary	GHS HIREHALLIKOPPALU	29230613204	29230613204	2016-17	0	1		1		1	1	
74	Strengthening	HASSAN	Secondary	GHS OBALAPURA	29230511502	29230511502	2016-17	0			1	1			
75	Strengthening	HASSAN	Secondary	GHS HONGADAHALLA	29230813402	29230813402	2016-17	0			1	1			
76	Strengthening	CHIKKAMAN GALORE	Secondary	GOVT PU COLLEGE BELUR ROAD CHIKKAAMGALUR (8- 10)	29170623703	29170623703	2016-17	14			1				
77	Strengthening	CHIKKAMAN GALORE	Secondary	GOVT.HIGH SCHOOL , ANOOR	29170616103	29170616103	2016-17	0	1		1	1	0	0	0
78	Strengthening	CHIKKAMAN GALORE	Secondary	L B S GOVT PU COLLEGE(8-10)	29170607002	29170607002	2016-17	0	1		1	1	1	1	
79	Strengthening	DHARWAD	Secondary	GHS YARAGUPPI	29090405506	29090405506	2016-17	2	1		1	1			
80	Strengthening	DHARWAD	Secondary	GHS HARLAPUR	29090402104	29090402104	2016-17	1	1		1	1	0	0	0

12.B.S	econdary Surrend	ler of Infrastruct	ureproposed in	n AWP&B 2023-24 if any (R	s. in lakh)					0.1.1	DID G				
										Original	PAB Sanct				
					UDISE Code						Physica	1			
Sl. No.	Components	District	School Category	School Name	as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
81	Strengthening	GADAG	Secondary	GOVT URDU HIGH SCHOOL GADAG	29080102602	29080102602	2016-17	4	1	1	1	1	1	1	1
82	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL HIREKOPPA	29080300404	29080300404	2016-17	3	1	1	1	1	1	1	1
83	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL KANAKIKOPPA	29080300702	29080300702	2016-17	3	1	1	1	1	1	1	1
84	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL RADDER NAGANUR	29080302402	29080302402	2016-17	3	1	1	1	1	1	1	1
85	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL HADLI	29080302903	29080302903	2016-17	2	1	1	1	1	1	1	1
86	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL BENAHAL	29080401202	29080401202	2016-17	2	1	1	1	1	1	1	1
87	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL SHANTAGIRI	29080403503	29080403503	2016-17	2	1	1	1	1	1	1	1
88	Strengthening	GADAG	Secondary	GOVT HIGH SCHOOL SHIRUNJA	29080605303	29080605303	2016-17	0	1		1	1	1	1	
89	Strengthening	BIDAR	Secondary	GOVT HIGH SCHOOL KANAJI	29050307802	29050307802	2016-17	2	1	1	1	1	2	2	2
90	Strengthening	BIDAR	Secondary	GOVT HIGH SCHOOL NITTUR	29050310907	29050310907	2016-17	4			1	1	1	1	
91	Strengthening	BIDAR	Secondary	GOVT HIGH SCHOOL HALBARGA	29050304502	29050304502	2016-17	2	1	0	1	1	2	2	2
92	Strengthening	BIDAR	Secondary	GOVT. HIGH SCHOOL JANTHI	29050305402	29050305402	2016-17	2	1	0	1	1	2	2	2
93	Strengthening	BIDAR	Secondary	GOVT HIGH SCHOOL WARWATTI (B)	29050313607	29050313607	2016-17	1	1	1	1	1	2	2	2
94	Strengthening	BIDAR	Secondary	GOVT HIGH SCHOOL DHANURA (S)	29050302810	29050302810	2016-17	2	0	0	1	1	2	2	2
95	Strengthening	BELGAUM	Secondary	NSCB GOVT PU COLLEGE, RAMDURG	29011110623	29011110623	2016-17	9			1				
96	Strengthening	BELGAUM	Secondary	GOVT. PU COLLEGE, HIREBAGEWADI	29010404511	29010404511	2016-17	3	1		1	1	1	1	
97	Strengthening	BELGAUM	Secondary	GOVT. COMP PU COLLEGE, KK KOPPA	29010407206	29010407206	2016-17	3	1		1	1			
98	Strengthening	BELGAUM	Secondary	GOVT. COMP. HIGH SCHOOL, SANGAL	29011109502	29011109502	2016-17	2	1		1	1			

										Original	PAB Sanct	ion			
											Physica	1			
Sl. No.	Components	District	School Category	School Name	UDISE Code as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
99	Strengthening	BELGAUM	Secondary	GOVT. HS, MASTAMARADI	29010408102	29010408102	2016-17	1	1		1	1	1	1	
100	Strengthening	BELGAUM	Secondary	GVT,COMPOSIT HS SULEBHAVI	29010410705	29010410705	2016-17	1	1		1	1	1	1	
101	Strengthening	BELGAUM	Secondary	GOVT HIGH SCHOOL BADAL ANKALGI	29010400703	29010400703	2016-17	1	1		1	1			
102	Strengthening	BELGAUM	Secondary	GOVT. HIGH SCHOOL, HIREBUDANUR	29011203802	29011203802	2016-17	3	0	0	0	1	1	1	1
103	Strengthening	BELGAUM	Secondary	GOVT. HIGH SCHOOL, MUTNAL	29010408502	29010408502	2016-17	0	1		1	1	1	1	
104	Strengthening	BELGAUM	Secondary	GOVT. COMP. HIGH SCHOO, MADLUR	29011207304	29011207304	2016-17	0	1		1	1			1
105	Strengthening	BELGAUM	Secondary	GOVT. HIGH SCHOOL, MASTMARDI	29010212206	29010212206	2016-17	0	1		1	1			
106	Strengthening	BELGAUM	Secondary	GOVT. COMP. HIGH SCHOOL, TURAKARSHIGIHALLI	29010211713	29010211713	2016-17	1			1	1	1	1	1
107	Strengthening	BELGAUM	Secondary	GOVT. MARATHI HS, KALLEHOL	29010405303	29010405303	2016-17	0			1	1	1	1	
108	Strengthening	BELGAUM	Secondary	GOVT. COMP. PU COLLEGE, CHIKKOPPA	29011201602	29011201602	2016-17	0			1				
109	Strengthening	BIJAPUR	Secondary	GOVT MATOSHRI. M.T.S PUC SINDAGI(8- 10)	29031215802	29031215802	2016-17	8	1	0	1	1	2	2	2
110	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL HINGANI	29031302206	29031302206	2016-17	4	1	1	1	1	1	1	1
111	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL GUBBEWAD	29031205104	29031205104	2016-17	3	1	1	1	1			
112	Strengthening	BIJAPUR	Secondary	GOVT PU COLLEGE KANNUR (8-10)	29030506215	29030506215	2016-17	3	1		1	1	1	1	1
113	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL OTIHAL	29031211306	29031211306	2016-17	2	1	1	1	1	1	1	1
114	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL NAGAVI BK	29031210705	29031210705	2016-17	2	1	1	1	1			
115	Strengthening	BIJAPUR	Secondary	GOVT PU COLLEGE NAGATHAN(8-10)	29030508310	29030508310	2016-17	2	1		1	1	1	1	

12.B.S	econdary Surrend	ler of Infrastruct	ureproposed ii	n AWP&B 2023-24 if any (Rs	s. in lakh)										
										Original	PAB Sanct	ion			
							-				Physica	1			
SI. No.	Components	District	School Category	School Name	UDISE Code as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
116	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL JUMANAL	29030505309	29030505309	2016-17	2	1		1	1			
117	Strengthening	BIJAPUR	Secondary	GOVT PU COLLEGE GOLASAR(8-10)	29030803503	29030803503	2016-17	1	1	1	1	1			
118	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL BURANAPUR	29030501706	29030501706	2016-17	1	1		1	1	1	1	1
119	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL KARAJOL	29030506303	29030506303	2016-17	1	1		1	1	1	1	1
120	Strengthening	BIJAPUR	Secondary	GOVT PU COLLEGE KUDAGI(8-10)	29030306906	29030306906	2016-17	1	1		1	1	1	1	
121	Strengthening	BIJAPUR	Secondary	GOVT URDU HIGH SCHOOL BIJAPUR	29031402509	29031402509	2016-17	2			1	1	1	1	
122	Strengthening	BIJAPUR	Secondary	GOVT URDU HIGH SCHOOL NIDAGUNDI	29030309722	29030309722	2016-17	0	1		1	1	1	1	1
123	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL DYABERI	29030502704	29030502704	2016-17	0	1		1	1	1	1	1
124	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL ANKALAGI	29030500506	29030500506	2016-17	0	1		1	1	1	1	
125	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL KANAMUCHANAL	29030506002	29030506002	2016-17	0	1		1	1	1	1	
126	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL REMAND HOME BIJAPUR	29031402620	29031402620	2016-17	0	1		1	1			1
127	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL MULASAVALAGI	29031210407	29031210407	2016-17	1	0	0	1	1	1	1	1
128	Strengthening	BIJAPUR	Secondary	GOVT HIGH SCHOOL BABANAGAR	29030501016	29030501016	2016-17	0	1		1		1	1	
129	Strengthening	KOLAR	Secondary	GOVT.P.U.COLLEGE FOR BOYS MULABAGILU	29191033437	29191033437	2016-17	1	1		1	1	3	3	3
130	Strengthening	KOLAR	Secondary	NEW GOVT HIGH SCHOOL RANGA ROAD	29191233527	29191233527	2016-17	1	1		1	1	3	3	3
131	Strengthening	KOLAR	Secondary	GOVT. COLLEGE (8 TO 10) VEMAGAL	29190734506	29190734506	2016-17	0	1		1	1	3	3	3
132	Strengthening	SHIMOGA	Secondary	G(PUC) HOLEHONNUR	29150102516	29150102516	2016-17	8	1		1	1	1	1	

12.B.S	Secondary Surrend	ler of Infrastruct	ureproposed ir	AWP&B 2023-24 if any (R	s. in lakh)										
										Original	PAB Sanct	ion			
					UDISE Code						Physica	1			
Sl. No.	Components	District	School Category	School Name	as in 2016-17 proceedings		Year of Sanction	ACR	Scie nce Lab	Comput er Room	Art / Craft / Culture Room	Libr ary	Boys Toilet	Girls Toilet	D W
133	Strengthening	SHIMOGA	Secondary	GHS SANYASIKODAMAGGI	29150102203	29150102203	2016-17	2	1	1	1	1	1	1	1
134	Strengthening	SHIMOGA	Secondary	GHS PURADAL	29150510704	29150510704	2016-17	1	1	1	1	1	1	1	1
135	Strengthening	SHIMOGA	Secondary	GHS ABBALAGERE	29150513702	29150513702	2016-17	1	1	1	1	1	1	1	1
136	Strengthening	SHIMOGA	Secondary	GHS NIDHIGE	29150519907	29150519907	2016-17	1	1	1	1	1	1	1	1
137	Strengthening	SHIMOGA	Secondary	GPUC AYANUR	29150537606	29150537606	2016-17	2	1		1	1			
138	Strengthening	SHIMOGA	Secondary	GHS KACHINAKATTE	29150528703	29150528703	2016-17	1	1		1	1			
139	Strengthening	SHIMOGA	Secondary	GHS GADIKOPPA	29150521604	29150521604	2016-17	1	1		1	1			
140	Strengthening	SHIMOGA	Secondary	GHS SHETTIHALLI	29150527205	29150527205	2016-17	0	1		1	1			
								209	123	37	136	128	97	97	74

Annexure -XV

Shristi ATL Lab

District Name	Block Name	School Name	UDISE Code	School Management	School Category	
BAGALKOT	BAGALKOT	KARNATAKA PUBLIC SCHOOLS GOVT- GJC COMPOSITE MUGALOLLI	29020206105	DoE	Higher Secondary with grades 9 to 12	
BAGALKOT	JAMAKHANDI	KARNATAKA PUBLIC SCHOOLS KARNATAKA PUBLIC SCHOOL MAIGUR	29020905004	DoE	Higher Secondary with grades 9 to 12	
BAGALKOT	BADAMI	KARNATAKA PUBLIC SCHOOLS GOVT- HIGH SCHOOL SRI G.D.RADDER AND PATIL JR. COLLEGE MUSTIGERI	29020110904	DoE	Higher Secondary with grades 9 to 12	
BAGALKOT	BADAMI	KARNATAKA PUBLIC SCHOOLS GOVT- HIGH SCHOOL AND JR.COMP NEERABUDIHAL	29020112103	DoE	Higher Secondary with grades 9 to 12	
BALLARI	BELLARY EAST	KARNATAKA PUBLIC SCHOOLS GHS HOSA MOKA	29120906313	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BELAGAVI	BELGAUM CITY	KARNATAKA PUBLIC SCHOOLS GHS VADGAON	29010300804	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BELAGAVI	BELGAUM RURAL.	KARNATAKA PUBLIC SCHOOLS GOVT HIGHSCHOOL K.K.KOPP	29010407206	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BELAGAVI	KHANAPUR	KARNATAKA PUBLIC SCHOOLS GHS MUGALIHAL	29010822201	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BELAGAVI	RAMDURG	KARNATAKA PUBLIC SCHOOLS GOVT HIGHSCHOOL KATKOL	29011105008	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BELAGAVI CHIKKODI	ATHANI	KARNATAKA PUBLIC SCHOOLS GOVT H.S. AND PU COLLEGE N.INGALGAON	29300106006	DoE	Higher Secondary with grades 9 to 12	
BELAGAVI CHIKKODI	MUDALGI	KARNATAKA PUBLIC SCHOOLS G.H.S. KOUJALGI	29301403808	DoE	Higher Secondary with grades 9 to 12	
BELAGAVI CHIKKODI	HUKKERI	KARNATAKA PUBLIC SCHOOLS DBH PU and HS U-KHANAPUR	29300709806	DoE	Higher Secondary with grades 9 to 12	
BELAGAVI CHIKKODI	HUKKERI	KARNATAKA PUBLIC SCHOOLS Govt High School and PU College YARAGATTI	29300710002	DoE	Higher Secondary with grades 9 to 12	
BENGALURU RURAL	NELAMANGALA	KARNATAKA PUBLIC SCHOOLS GJC THYAMAGONDLU	29210110311	DoE	Higher Secondary with grades 9 to 12	
BENGALURU RURAL	DODDABALLAPURA	KARNATAKA PUBLIC SCHOOLS KARNATAKA PUBLIC SCHOOL, DOODBELAVANGALA	29210219006	DoE	Higher Secondary with grades 9 to 12	
BENGALURU RURAL	DEVANAHALLI	KARNATAKA PUBLIC SCHOOLS G J C VISHWANATHAPURA	29210302205	DoE	Higher Secondary with grades 9 to 12	
BENGALURU RURAL	HOSAKOTE	KARNATAKA PUBLIC SCHOOLS GHS COMPOSITE NANDAGUDI	29210405807	DoE	Secondary/Sr. Sec. only with grades 9 & 10	

District Name Block Name		School Name	UDISE Code School Manageme		School Category	
BENGALURU U NORTH			29280710012	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BENGALURU U NORTH	NORTH2	KARNATAKA PUBLIC SCHOOLS GHS (GIRLS) 13TH CR, MALLESHWARAM	29280503819	DoE	Higher Secondary with grades 9 to 12	
BENGALURU U NORTH	NORTH1	KARNATAKA PUBLIC SCHOOLS GHS HEGGANAHALLI	29280208619	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
BENGALURU U SOUTH	SOUTH4	KARNATAKA PUBLIC SCHOOLS KPS VARTHUR	29200301953	DoE	Higher Secondary with grades 9 to 12	
BENGALURU U SOUTH	SOUTH1	KARNATAKA PUBLIC SCHOOLS GHS GIRLS BASAVAGUDI	29200139514	DoE	Higher Secondary with grades 9 to 12	
BENGALURU U SOUTH	SOUTH4	KARNATAKA PUBLIC SCHOOLS GJC K R PURA	29200300130	DoE	Higher Secondary with grades 9 to 12	
BENGALURU U SOUTH	SOUTH3	KARNATAKA PUBLIC SCHOOLS GHS SARJAPURA ROAD AGARA	29200910425	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
CHAMARAJANAGARA	HANUR	KARNATAKA PUBLIC SCHOOLS GHS, LOKKANAHALLI	29271303105	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
CHIKKABALLAPURA	GUDIBANDA	KARNATAKA PUBLIC SCHOOLS GGHS GUDIBANDA	29290610901	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
CHIKKABALLAPURA	CHINTAMANI	KARNATAKA PUBLIC SCHOOLS GJC KAIWARA	29290418015	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
CHIKKABALLAPURA	CHIKKABALLAPUR	KARNATAKA PUBLIC SCHOOLS GJC MANDIKAL	29290315518	DoE	Higher Secondary with grades 9 to 12	
CHIKKAMANGALURU	TARIKERE	KARNATAKA PUBLIC SCHOOLS GHS. SHIVANI	29170414905	DoE	Higher Secondary with grades 9 to 12	
CHIKKAMANGALURU	NARASIMHARAJAPURA	KARNATAKA PUBLIC SCHOOLS GJC,NRPURA	29170350301	DoE	Higher Secondary with grades 9 to 12	
CHITRADURGA	HIRIYUR	G J.C. HARIYABBE KARNATAKA PUBLIC SCHOOLS KPS	29130306505	DoE	Higher Secondary with grades 9 to 12	
CHITRADURGA	HIRIYUR	HOSAYALANADU	29130319003	DoE	Higher Secondary with grades 9 to 12	
CHITRADURGA	HOSADURGA	KARNATAKA PUBLIC SCHOOLS GJC (8-12) SRIRAMPURA	29130516611	DoE	Higher Secondary with grades 9 to 12	
CHITRADURGA	CHALLAKERE	KARNATAKA PUBLIC SCHOOLS GPUCOLLEGE PARASHURAMPURA291302		DoE	Higher Secondary with grades 9 to 12	
CHITRADURGA	MOLAKALMUR	ADARSHA VIDYALAYA RMSA MOLAKALMURU	29130612408	DoE	Secondary/Sr. Sec. with grades 6 to 10	
DAKSHINA KANNADA	BELTHANGADY	KARNATAKA PUBLIC SCHOOLS KARNAKA PUBLIC SCHOOL PUNJALKATTE SECONDARY	29240203303	DoE	Higher Secondary with grades 9 to 12	
DAKSHINA KANNADA	BANTWAL	KARNATAKA PUBLIC SCHOOL MONTEPADAVU - SECONDARY	29240105306	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
DAKSHINA KANNADA	PUTTUR	KARNATAKA PUBLIC SCHOOLS KEYYUR - SECONDARY	29240403307	DoE	Higher Secondary with grades 9 to 12	

District Name Block Name		School Name	UDISE Code	School Management	School Category	
DAKSHINA KANNADA	SULLIA	KARNATAKA PUBLIC SCHOOL BELLARE - SECONDARY	29240501206	DoE	Higher Secondary with grades 9 to 12	
DAVANAGERE	CHANNAGIRI	KARNATAKA PUBLIC SCHOOLS GSSJVP SANTHEBENNURU	29140118811	DoE	Higher Secondary with grades 9 to 12	
DAVANAGERE	HARIHARA	KARNATAKA PUBLIC SCHOOLS GJC - BHANUVALLI	29140400407	DoE	Higher Secondary with grades 9 to 12	
DAVANAGERE	HONNALI	KARNATAKA PUBLIC SCHOOLS GOVT PRE- UNIVERSITY COLLEGE HIGH SCHOOL SECTION NYAMATHI	29140514709	DoE	Higher Secondary with grades 9 to 12	
DHARWAD	HUBLI	KARNATAKA PUBLIC SCHOOLS GHS NAVANAGAR HUBLI	29090210112	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
DHARWAD	HUBLI	KARNATAKA PUBLIC SCHOOLS GHS AND PU COLLEGE GOPANAKOPPA	29090205911	DoE	Higher Secondary with grades 9 to 12	
DHARWAD	HDMC	KARNATAKA PUBLIC SCHOOLS R.K PATIL GHS BIDNAL HUBLI	29090606705	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
DHARWAD	HUBLI	KARNATAKA PUBLIC SCHOOLS GHS AND PU COLLEGE RAYNAL	29090204303	DoE	Higher Secondary with grades 9 to 12	
HASSAN	ALUR	KARNATAKA PUBLIC SCHOOLS GOVT JUNIOR COLLEGE RAYARAKOPPALU	29230114202	DoE	Higher Secondary with grades 9 to 12	
HASSAN	BELUR	KARNATAKA PUBLIC SCHOOLS GOVT PU COLLEGE HALEBEEDU	29230422305	DoE	Higher Secondary with grades 9 to 12	
HASSAN	HOLENARASIPURA	ADARSHA VIDYALAYA RMSA, TATTEKERE	29230612146	DoE	Secondary/Sr. Sec. with grades 6 to 10	
HASSAN	CHANNARAYAPATNA	GJC UDAYAPURA	29230502506	DoE	Higher Secondary with grades 9 to 12	
HASSAN	HASSAN	KARNATAKA PUBLIC SCHOOLS GOVT JUNIOR COLLEGE MOSALE HOSAHALLY KARNATAKA PUBLIC SCHOOLS GOVT HIGH	29230700105	DoE	Higher Secondary with grades 9 to 12	
HAVERI	RANNEBENNUR	SCH AREMALLAPUR	29111400411	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
HAVERI	BYADAGI	SJJM GHS BYADAGI	29110109701	DoE	Higher Secondary with grades 9 to 12	
KALBURGI	GULBARGA NORTH	KARNATAKA PUBLIC SCHOOLS GOVT HPS MADINA COLONY MSKMILL GLB	29041110012	DoE	Secondary/Sr. Sec. with grades 1 to 10	
KODAGU	MADIKERI	KARNATAKA PUBLIC SCHOOLS HIGH SCHOOL, NAPOKLU	29250102306	DoE	Higher Secondary with grades 9 to 12	
KODAGU	SOMAVARPET	KARNATAKA PUBLIC SCHOOLS KARNATAKA PUBLIC SCHOOL NELLIAHUDIKERI KARNATAKA PUBLIC SCHOOLS GOV	29250209607	DoE	Higher Secondary with grades 9 to 12	
KODAGU	VIRAJPET	JUNIOR COLLEGE PONNAMPET	29250304713	DoE	Higher Secondary with grades 9 to 12	
KOLAR	MULBAGAL	ADARSHA SCHOOL(RMSA SCHOOL)	29191048103	DoE	Secondary/Sr. Sec. with grades 6 to 10	
KOLAR	BANGARAPETE	KARNATAKA PUBLIC SCHOOLS GJC BUDIKOTE	29190205004	DoE	Higher Secondary with grades 9 to 12	

District Name	Block Name	School Name	UDISE Code	School Management	School Category	
KOLAR	MALUR	KARNATAKA PUBLIC SCHOOLS GJC MASTHI	29190923209	DoE	Higher Secondary with grades 9 to 12	
KOLAR	SRINIVASAPUR	KARNATAKA PUBLIC SCHOOLS GJC SOMAYAJALAHALLI KARNATAKA PUBLIC SCHOOLS GGHS	29191228705	DoE	Higher Secondary with grades 9 to 12	
MANDYA	KRISHNARAJA PET	KIKKERI	29220118013	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
MANDYA	SRIRANGA PATNA	KARNATAKA PUBLIC SCHOOLS GJC ARKERE	29220700910	DoE	Higher Secondary with grades 9 to 12	
MANDYA	MANDYA NORTH	KARNATAKA PUBLIC SCHOOLS G.P.U.C. COLLEGE BASARALU	29220801705	DoE	Higher Secondary with grades 9 to 12	
MYSURU	PERIYA PATNA	KARNATAKA PUBLIC SCHOOLS GOVT JUNIOR COLLEGE RAVANDUR	29261016109	DoE	Higher Secondary with grades 9 to 12	
MYSURU	MYSORE RURAL	KARNATAKA PUBLIC SCHOOLS GOVERNMENT HIGH SCHOOL YELWALA	29260800108	DoE	Higher Secondary with grades 9 to 12	
MYSURU	T.N.PURA	KARNATAKA PUBLIC SCHOOLS GJC MUGURU	29261113607	DoE	Higher Secondary with grades 1 to 12	
RAMANAGARA	KANAKAPURA	KARNATAKA PUBLIC SCHOOLS GJC DODDA ALAHALLI	29320815906	DoE	Higher Secondary with grades 9 to 12	
RAMANAGARA	KANAKAPURA	ADARSHA MODEL SCHOOL	29320819310	DoE	Secondary/Sr. Sec. with grades 6 to 10	
RAMANAGARA	CHANNAPATNA	GHS HONGANUR	29320706807	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
RAMANAGARA	MAGADI	KARNATAKA PUBLIC SCHOOLS GJC HS THIPPASANDRA	29320502306	DoE	Higher Secondary with grades 9 to 12	
SHIVAMOGGA	HOSANAGAR	KARNATAKA PUBLIC SCHOOLS GJC AMRUTHA	29150215502	DoE	Higher Secondary with grades 9 to 12	
SHIVAMOGGA	SAGAR	KARNATAKA PUBLIC SCHOOLS GPUC ANADAPURAM	29150316308	DoE	Higher Secondary with grades 9 to 12	
SHIVAMOGGA	SHIMOGA	KARNATAKA PUBLIC SCHOOLS GPUC B H ROAD SHIMOGA	29150539608	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU	TUMKUR	KARNATAKA PUBLIC SCHOOLS GJC EMPRESS GIRLS TUM Ward-16	29180902507	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU	TIPTUR	KARNATAKA PUBLIC SCHOOLS GOVT. JUNIOR COLLEGE NONAVINAKERE	29180803410	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU	TUMKUR	KARNATAKA PUBLIC SCHOOLS GJC BELLAVI	29180913607	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU MADHUGIRI	KORATAGERE	KARNATAKA PUBLIC SCHOOLS GHS HOLAVANAHALLI	29310300108	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
TUMAKURU MADHUGIRI	KORATAGERE	KARNATAKA PUBLIC SCHOOLS GOVT JUNIOR COLLEGE IRAKASANDRA COLONY	29310316105	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU MADHUGIRI	SIRA	KARNATAKA PUBLIC SCHOOLS GHS CHIKKANAHALLI	29310612707	DoE	Higher Secondary with grades 9 to 12	
TUMAKURU	PAVAGADA	GOVERNMENT ADARSHA VIDYALAYA	29310513511	DoE	Secondary/Sr. Sec. with grades 6 to 10	

District Name	Block Name	School Name	UDISE Code	School Management	School Category	
MADHUGIRI						
UDUPI	KARKALA	KARNATAKA PUBLIC SCHOOLS GHS HOSMAR	29160104706	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
UDUPI	KARKALA	KARNATAKA PUBLIC SCHOOLS GPUC MUNIYALU KARNATAKA PUBLIC SCHOOLS GOVT	29160101003	DoE	Higher Secondary with grades 9 to 12	
UTTARA KANNADA	KUMTA	HIGHSCHOOL SANTEGULI KARNATAKA PUBLIC SCHOOLS GMHPS	29100509803	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
UTTARA KANNADA	BHATKAL	TERNAMAKKI AND UPGRADED RMSA SCHOOL	29100900309	DoE	Secondary/Sr. Sec. with grades 1 to 10	
UTTARA KANNADA	KUMTA	KARNATAKA PUBLIC SCHOOLS GOVT HIGH SCHOOL NELLIKERI	29100512105	DoE	Secondary/Sr. Sec. only with grades 9 & 10	
UTTARA KANNADA SIRSI	YELLAPUR	KARNATAKA PUBLIC SCHOOLS GOVT HIGH SCHOOL KIRAWATTI TQ-YELLAPUR DIST- UTTARA KANNADA	29340707009	DoE	Higher Secondary with grades 9 to 12	
UTTARA KANNADA SIRSI	MUNDAGOD	KARNATAKA PUBLIC SCHOOLS GOVT.P.U.C.HIGH SCHOOL SECTION MALAGI	29341007304	DoE	Higher Secondary with grades 9 to 12	
UTTARA KANNADA SIRSI	HALIYAL	KARNATAKA PUBLIC SCHOOLS GOVT.PU COLLEGE MURKAWAD	29340416407	DoE	Higher Secondary with grades 9 to 12	
VIJAYAPURA	BIJAPUR RURAL	KARNATAKA PUBLIC SCHOOLS GOVT HIGH SCHOOL MAMADAPUR KARNATAKA PUBLIC SCHOOLS GOVT PU	29030507907	DoE	Higher Secondary with grades 9 to 12	
VIJAYAPURA	BIJAPUR RURAL	COLLEGE NAGATHAN	29030508310	DoE	Higher Secondary with grades 9 to 12	
KALBURGI	CHITTAPUR	KARNATAKA PUBLIC SCHOOLS GHS MADBOOL	29040407205	DoE	Secondary/Sr. Sec. with grades 6 to 10	
SHIVAMOGGA	SORAB	KARNATAKA PUBLIC SCHOOLS KPS ANAVATTI	29150605810	DoE	Higher Secondary with grades 9 to 12	
BELAGAVI CHIKKODI	GOKAK	KHPS GOVT PU COLLEGE GOKAK	29300615302	DoE	Higher Secondary with grades 6 to 12	
BELAGAVI CHIKKODI	CHIKODI	GOVT COMPOSITE PRE UNIVERSITY COLLEGE MAJALATTI	29300509202	DoE	Higher Secondary with grades 9 to 12	
MYSURU	T.N.PURA	GJC BANNUR	29261123504	DoE	Higher Secondary with grades 9 to 12	
BENGALURU RURAL	DODDABALLAPURA	G.J.C HS D.B.PURA	29210225402	DoE	Higher Secondary with grades 9 to 12	
DAVANAGERE	HARIHARA	GJC D.R.M-HALLADAKERE	29140410102	DoE	Higher Secondary with grades 9 to 12	
DAKSHINA KANNADA TUMAKURU	PUTTUR	DKZP GOVT. PRE UNIVERSITY COLLEGE UPPINANGADY	29240406609	DoE	Higher Secondary with grades 9 to 12	
MADHUGIRI	KORATAGERE	GOVT JUNIOR COLLEGE KORATAGERE	29310328003	DoE	Higher Secondary with grades 9 to 12	
SHIVAMOGGA	THIRTHAHALLI	GPUC THIRTHAHALLI	29150737804	DoE	Higher Secondary with grades 9 to 12	

District Name			UDISE Code	School Management	School Category
		DKZP GOVT. PRE UNIVERSITY COLLEGE			
DAKSHINA KANNADA	SULLIA	SULLIA	29240504606	DoE	Higher Secondary with grades 9 to 12
DAVANAGERE	HONNALI	GJC - HONNALI	29140513405	DoE	Higher Secondary with grades 9 to 12
SHIVAMOGGA	SHIKARIPUR	GPUC SHIKARIPUR	29150426705	DoE	Higher Secondary with grades 9 to 12
VIJAYANAGARA	HARAPANAHALLI	GJC-HARAPANAHALLI	29140709703	DoE	Higher Secondary with grades 9 to 12
MANDYA	KRISHNARAJA PET	Gpu college K R PET	29220133402	DoE	Higher Secondary with grades 9 to 12

Annexure XVI

Netaji Subhash Chandra Bose Avasiya Vidyalaya

Districts	Block	UDISE CODE	SCHOOL NAME	No. of Students	NR- Approval	Financial Approval	
Bengaluru South (new school) (U)	South 2	29200802827	Netaji Subhash Chandra Bose AvasiyaVidyalaya	100	Furniture/ Equipment (including kitchen)	2	
					Bedding (new)	1	
	Total						